Bid #TRN2122277B1 - Information Technology (IT) Temporary Personnel Services

Creation Date Jan 14, 2021

End Date Feb 17, 2021 2:00:00 PM EST

Awarded Date Not Yet Awarded

TRN2122277B101-01 Network Technician						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	Firs	t Offer - \$0.00	5048 / hour	\$0.00	Y	Y
Product Code: Agency Notes:			Supplier Product of Supplier Notes: Pricing included in			
Prelude systems pvt. ltd.		A l t 1 - \$0.00	5048 / hour	\$0.00	Y	Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes: Pricing included in	the proposal.		
ADAMS ENTERPRISE USA, INC		A l t 1 - \$3.00	5048 / hour	\$15,144.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Al	ternate Offer Amoun	t	
ADAMS ENTERPRISE USA, INC	Firs	t Offer - \$4.00	5048 / hour	\$20,192.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Cynet Systems	First	Offer - \$17.50	5048 / hour	\$88,340.00	Y	Y
Product Code:				Code: TRN2122277B	101-01	
Agency Notes:			Supplier Notes:	1		
Sensatech LLC	First	Offer - \$19.00	5048 / hour	\$95,912.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing	First	Offer - \$19.24	5048 / hour	\$97,123.52		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Flysoft Inc	First	Offer - \$20.00	5048 / hour	\$100,960.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Moten Tate, INc.	First	Offer - \$20.74	5048 / hour	\$104,695.52		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Beryllus Consulting & Staffing	First	Offer - \$22.00	5048 / hour	\$111,056.00	Y	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

		Page 2 of 131
	ward County Board of unty Commissioners	TRN212
Action Group MGMT	First Offer - \$22.00	5048 / hour \$111,056.00 Y
Product Code:	 	Supplier Product Code:
Agency Notes: Next Generation Recruitment and Staffing Agency	First Offer - \$24.99	Supplier Notes: 5048 / hour \$126.149.52 Y
Product Code:	First Offer - \$24.99	Supplier Product Code:
Agency Notes:		Supplier Notes:
IT Mantra	First Offer - \$25.00	5048 / hour \$126,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Alrek Business Solutions Inc.	First Offer - \$25.00	5048 / hour \$126,200.00 Y
Product Code:		Supplier Product Code:
Agency Notes:	 	Supplier Notes:
Krasan Consulting Services, Inc.	First Offer - \$25.00	5048 / hour \$126,200.00 Y
Product Code:		Supplier Product Code: Supplier Notes:
Agency Notes: CambayCS	First Offer - \$26.61	5048 / hour \$134,327.28 Y
Product Code:	- IISCOILEI - \$20.01	Supplier Product Code:
Agency Notes:		Supplier Notes:
BuzzClan	First Offer - \$27.85	5048 / hour \$140,586.80 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
DVTECK	First Offer - \$28.00	5048 / hour \$141,344.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
COGENT InfoTech Corporation	First Offer - \$28.60	5048 / hour \$144,372.80 Y Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
PeopleNTech LLC	First Offer - \$30.00	5048 / hour \$151,440.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Bleu Stream Corp	First Offer - \$30.00	5048 / hour \$151,440.00 Y Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
4BBCorp [Ad]	First Offer - \$32.96	5048 / hour \$166,382.08 Y Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale- West Palm Beach, FL Median Hourly Wage (50%)
Information Consultants Inc	First Offer - \$33.00	5048 / hour \$166,584.00 Y
Product Code:		Supplier Product Code:
Agency Notes:	First Offer - \$33.00	Supplier Notes: 5048 / hour \$166,584.00 Y
Product Code:	- IISCOTEL - \$35.00	Supplier Product Code:
Agency Notes:		Supplier Notes:
Oready	First Offer - \$34.00	5048 / hour \$171,632.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Connvertex Technologies Inc	First Offer - \$34.00	5048 / hour \$171,632.00 Y Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Please find attached Price List for details of our offers.

DatamanUSA, LLC First Offer - \$35.00 5048 / hour \$176,680.00 Υ Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: SRS CONSULTING INC First Offer - \$35.00 5048 / hour \$176,680.00 γ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Cloud Consulting Services Inc First Offer - \$35.50 5048 / hour \$179,204.00 Υ γ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: First Offer - \$36.40 5048 / hour \$183,747.20 Υ Tech Army, LLC Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Crown Services First Offer - \$36.45 5048 / hour \$183,999.60 Υ Product Code: Supplier Product Code: Supplier Notes: Crown Services provides Temp to Perm Agency Notes: placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates. Ascension Global Staffing & Executive Search First Offer - \$36.98 5048 / hour \$186,675.04 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Changing Technologies Inc. First Offer - \$36.99 5048 / hour \$186,725.52 Y Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: First Offer - \$37.00 \$186,776.00 Lumen Solutions Inc 5048 / hour Υ Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Aptuity Solutions Inc First Offer - \$38.00 5048 / hour \$191,824.00 Y Y Product Code: Supplier Product Code: Supplier Notes: Agency Notes: First Offer - \$39.00 5048 / hour Y Y US Tech Solutions, Inc. \$196,872.00 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Global Solutions Group, Inc. First Offer - \$39.20 5048 / hour \$197,881.60 Υ Supplier Product Code: Product Code: Agency Notes: Supplier Notes: First Offer - \$39.22 RADgov, Inc. 5048 / hour \$197,982.56 Υ Product Code: Supplier Product Code: Agency Notes: Supplier Notes: COCHHBHA ENTERPRISES, INC First Offer - \$39.39 \$198,840.72 5048 / hour Y Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Darwin Recruitment First Offer - \$40.00 5048 / hour \$201,920.00 Υ Υ

Broward County Board of

County Commissioners

Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
ManpowerGroup Sales Support	First Offer -	\$40.00	5048 / hour	\$201,920.00			Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Kellton Tech	First Offer -	\$40.00	5048 / hour	\$201,920.00	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
TECKpert	First Offer -	\$40.00	5048 / hour	\$201,920.00			Y
Product Code: Agency Notes:	 		Supplier Product C Supplier Notes:				
Hire Hero	First Offer -	\$40.00	5048 / hour	\$201,920.00	Y		Y
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
ResourceX	First Offer -	\$40.00	5048 / hour	\$201,920.00			Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Infojini, Inc.	First Offer -	\$40.00	5048 / hour	\$201,920.00			Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Tri-Force Consulting Services, Inc.	First Offer -	\$40.00	5048 / hour	\$201,920.00	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code: MT0008			
22nd Century Technologies, Inc.	First Offer -	\$40.10	5048 / hour	\$202,424.80	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Abacus Service Corporation	First Offer -	\$40.64	5048 / hour	\$205,150.72	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
TRYFACTA, INC.	First Offer -	\$40.97	5048 / hour	\$206,816.56	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Digital Intelligence Systems, LLC	First Offer -	\$41.00	5048 / hour	\$206,968.00	Y		Y
Product Code: Agency Notes:			experience page so if DISYS is chosen as focus on Quality an	I have attached a co you know the type o s a supplier. Please k d screen our candida ending to a client. We	of qua l ity to eep in mir ates a mini	o e> nd v imu	kpect ve Im of
COMPUNNEL SOFTWARE GROUP, INC	First Offer -	\$42.40	5048 / hour	\$214,035.20	Y		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:			
Beacon Systems, Inc.	First Offer -	\$42.71	5048 / hour	\$215,600.08	Y		Y
Product Code: Agency Notes:				Code: Network Techr Iow listed document		d	

	County Commissioners				
		Item Response For Exhibits Certifications & Ins Supplier Resposne	urance		
		Network Techniciar	n Rate		
	E + 0% + 1202	5040 (1		ž	
VGreen Enterprises	First Offer - \$43.03	5048 / hour	\$217,215.44	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Arch	First Offer - \$43.20	5048 / hour	\$218,073.60	Y	Y
Product Code: Agency Notes:		possible the rate m at a lower rate.	of the bill rate with fu	ll costs. li e find a ca	andidate
Innovative Systems Group of Florida Product Code:	First Offer - \$43.76	5048 / hour Supplier Product (\$220,900.48	Y	Y
Agency Notes:		Supplier Notes:			
LanceSoft	First Offer - \$44.86	5048 / hour	\$226,453.28	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
TAD PGS	First Offer - \$45.00	5048 / hour	\$227,160.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:			
IT Data Solutions	First Offer - \$45.00	5048 / hour	\$227,160.00	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:			
PriceSenz LLC	First Offer - \$46.00	5048 / hour	\$232,208.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	1	-	Y
SoftHQ, Inc	First Offer - \$48.00	5048 / hour			Y
			\$242,304,00	v	
Product Code:		Supplier Product	\$242,304.00	Y	Y
Product Code: Agency Notes: TRG, Inc	First Offer - \$52.00			Y	

Agency Notes:		Supplier Notes:			
Elegant Enterprise Wide Solutions	First Offer - \$55.00	5048 / hour	\$277,640.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Sullivan and Cogliano	First Offer - \$55.00		\$277,640.00		Y
Product Code: Agency Notes:		and developing har telecommunication infrastructure and s develops, debugs a software and system and architectures to requirements. Revi- implementation of	network requirement dware, software and s solutions to provide services. With directior nd implements netwo ms solutions across m o support the organiza ews installation of har layered software solut that they meet the co	required n, plans, c rk hardw ultiple pla ation's IT dware an cions and	netwo designs, vare, atforms
	First Offer - \$56.24		\$283,899.52		Y
Product Code:	First Offer - \$56.24	Supplier Product (· · · · · · · · · · · · · · · · · · ·		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		Y
Product Code: Agency Notes: Fanim Consulting	First Offer - \$56.24 First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour	Sode: \$292,784.00	cian l	
Product Code: Agency Notes: Fanim Consulting Product Code:		Supplier Product (Supplier Notes: 5048 / hour	Code:	cian I	
Product Code: Agency Notes: Fanim Consulting Product Code: Agency Notes:		Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes:	Sode: \$292,784.00	cian I	
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad]	First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00	cian I	Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code:	First Offer - \$58.00 First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Product (Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code:	cian I	Y
Product Code: Agency Notes: Fanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: nterscripts,Inc.	First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: Supplier Notes: 5048 / hour	\$292,784.00 Code: \$292,784.00 \$292,784.00 \$292,784.00 \$292,784.00 \$302,880.00	cian I	Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code:	First Offer - \$58.00 First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour	\$292,784.00 Code: \$292,784.00 \$292,784.00 \$292,784.00 \$292,784.00 \$302,880.00	cian I	Y
Product Code: Agency Notes: Fanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Product (Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code:	cian l	Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech	First Offer - \$58.00 First Offer - \$58.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60	cian I	Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: S048 / hour Supplier Product (Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60	cian I	Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code:	cian I	Y Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour	\$292,784.00 Code: \$292,784.00 \$292,784.00 \$292,784.00 \$302,880.00 Code: \$308,937.60 \$328,120.00	cian I	Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: MAX consulting Product Code:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20	Supplier Product (Supplier Notes: 5048 / hour	\$292,784.00 Code: \$292,784.00 \$292,784.00 \$292,784.00 \$302,880.00 Code: \$308,937.60 \$328,120.00	cian I	Y Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: MAX consulting Product Code: Agency Notes:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: Supplier Notes: Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$328,120.00 Code:	cian I	Y Y Y Y
Product Code: Agency Notes: Fanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: FAAZ consulting Product Code: Agency Notes: FAAZ consulting Product Code: Agency Notes: FAAZ consulting Product Code: Agency Notes: FAAZ consulting Product Code: Agency Notes: FAAZ consulting	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$308,937.60 Code: \$328,120.00 Code: \$331,754.56		Y Y Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Agency Notes: AZ consulting Product Code: Agency Notes: Blue Chip Talent Product Code:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: Supplier Notes: Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$308,937.60 Code: \$328,120.00 Code: \$331,754.56		Y Y Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: TAZ consulting Product Code: Agency Notes: Slue Chip Talent Product Code: Agency Notes: Slue Chip Talent Product Code: Agency Notes:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00	Supplier Product (Supplier Notes: 5048 / hour	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$308,937.60 Code: \$328,120.00 Code: \$331,754.56		Y Y Y Y Y
Product Code: Agency Notes: Fanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: EAAZ consulting Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Blue Chip Talent	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00 First Offer - \$65.72	Supplier Product (Supplier Notes: 5048 / hour	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$328,120.00 Code: \$328,120.00 Code: \$331,754.56 Code: \$378,600.00	Y	Y Y Y Y Y Y
Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: State Consulting Product Code: Agency Notes: Slue Chip Talent Product Code: Product Code:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00 First Offer - \$65.72	Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$328,120.00 Code: \$328,120.00 Code: \$331,754.56 Code: \$378,600.00	Y	Y Y Y Y Y Y
/Tech Solution Inc. Product Code: Agency Notes: Tanim Consulting Product Code: Agency Notes: MSys Inc [Ad] Product Code: Agency Notes: Interscripts,Inc. Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: FAAZ consulting Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Agency Notes: Product Code: Agency Notes: Product Code: Product Code: Product Code: Product Code: Product Code: Product Code: Product Code: Product Code: Product Code:	First Offer - \$58.00 First Offer - \$58.00 First Offer - \$60.00 First Offer - \$61.20 First Offer - \$65.00 First Offer - \$65.72	Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Product (Supplier Product (Supplier Notes: 5048 / hour Supplier Product (Supplier Product (Supplier Notes: 5048 / hour Supplier Notes: 5048 / hour Supplier Notes: Supplier Notes: Supplier Notes:	Code: \$292,784.00 Code: Network Technic \$292,784.00 Code: \$302,880.00 Code: \$308,937.60 Code: \$328,120.00 Code: \$328,120.00 Code: \$331,754.56 Code: \$378,600.00	Y	Y Y Y Y Y

Agency Notes:		Supplier Notes: FT	A Documents Attache	ements	
CDW-Government LLC	First Offer - \$130.00	5048 / hour	\$656,240.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

TRN2122277B1-01-02 Network Technician II (Advanced)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	7072 / hour	\$0.00	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Pricing included in t			
Connvertex Technologies Inc	First Offer - \$0.00	7072 / hour	\$0.00	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Ple of our offers.	Code: ease find attached Pr	rice List for	^r detai l s
ADAMS ENTERPRISE USA, INC	Alt 1 - \$3.00	7072 / hour	\$21,216.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Alt	ternate Offer Amour	ıt	
ADAMS ENTERPRISE USA, INC	First Offer - \$4.00	7072 / hour	\$28,288.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Cynet Systems	First Offer - \$20.00	7072 / hour	\$141,440.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Sensatech LLC	First Offer - \$20.00	7072 / hour	\$141,440.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$21.84	7072 / hour	\$154,452.48		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Flysoft Inc	First Offer - \$22.00	7072 / hour	\$155,584.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Action Group MGMT	First Offer - \$23.00	7072 / hour	\$162,656.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Moten Tate, INc.	First Offer - \$25.56	7072 / hour	\$180,760.32		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			-
Beryllus Consulting & Staffing	First Offer - \$26.00	7072 / hour	\$183,872.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Lode:		

	 unity Commissioners			
Next Generation Recruitment and Staffing Agency	First Offer - \$28.9	9 7072 / hour	\$205,017.28	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	First Offer #20.0	Supplier Notes:	¢2121C0.00	V
IT Mantra Product Code:	First Offer - \$30.0) 7072 / hour Supplier Product (\$212,160.00	Y
Agency Notes:		Supplier Notes:	Loue.	
Alrek Business Solutions Inc.	First Offer - \$32.0		\$226,304.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	 	Supplier Notes:		
Krasan Consulting Services, Inc.	First Offer - \$32.0		\$226,304.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Bleu Stream Corp	First Offer - \$33.0) 7072 / hour	\$233,376.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	First Offer 422 F	Supplier Notes:	¢227.124.10	V
4BBCorp [Ad] Product Code:	First Offer - \$33.5	3 7072 / hour Supplier Product (\$237,124.16	Y
Agency Notes:		Supplier Notes: Pay Rate: BLS - Mia FL Median Hourly V	mi-Fort Lauderdale-We: Vage (50%)	st Palm Beach,
COGENT InfoTech Corporation	First Offer - \$33.8) 7072 / hour	\$239,033.60	Y
Product Code:		Supplier Product	Code:	
Agency Notes:	 	Supplier Notes:		
Oready	First Offer - \$34.0		\$240,448.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
CambayCS	First Offer - \$34.8		\$246,247.04	Y
Product Code:		Supplier Product (Code:	
Agency Notes: Information Consultants Inc	First Offer - \$35.0	Supplier Notes: 7072 / hour	\$247,520.00	Y
Product Code:		Supplier Product (•
Agency Notes:		Supplier Notes:		
InstantServe	First Offer - \$37.0) 7072 / hour	\$261,664.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	First 055	Supplier Notes:	t2(7,221,00	N N
Crown Services	First Offer - \$37.8		\$267,321.60	Y
Product Code: Agency Notes:		our pool of candida PTO, Holiday Pay a	vides Temp to Perm pla ates to clients while offe nd benefits to our assoc (s) well motivated and c	ring full benefits, iates thereby
PeopleNTech LLC	First Offer - \$38.0		\$268,736.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Cloud Consulting Services Inc	First Offer - \$39.0		\$275,808.00	Y

Product Code: Agency Notes:	00		Supplier Product C Supplier Notes:	ode:		
COCHHBHA ENTERPRISES, INC		First Offer - \$39.39	7072 / hour	\$278,566.08		Y
Product Code:			Supplier Product C			•
Agency Notes:			Supplier Notes:	oue.		
TECKpert		First Offer - \$40.00	7072 / hour	\$282,880.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
DatamanUSA, LLC		First Offer - \$40.00	7072 / hour	\$282,880.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Changing Technologies Inc.		First Offer - \$40.24	7072 / hour	\$284,577.28		Y
Product Code:			Supplier Product C	ode:	I	
Agency Notes:			Supplier Notes:			
Abacus Service Corporation		First Offer - \$40.64	7072 / hour	\$287,406.08		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Tech Army, LLC		First Offer - \$41.84	7072 / hour	\$295,892.48		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:		Fi + 0.55 + 10.10	Supplier Notes:			
BuzzClan		First Offer - \$42.12	7072 / hour	\$297,872.64		Y
Product Code:			Supplier Product C Supplier Notes:	ode:		
Agency Notes: Beacon Systems, Inc.		First Offer - \$42.71	7072 / hour	\$302,045.12		Y
Product Code:		First Oner - \$42.71		ode: Network Techn	ical II	1
Agency Notes:			Supplier Notes:	oue. Network rechin		
Aptuity Solutions Inc		First Offer - \$43.00	7072 / hour	\$304,096.00	Y	Y
Product Code:		111300111- \$43.00	Supplier Product C		•	
Agency Notes:			Supplier Notes:	oue.		
US Tech Solutions, Inc.		First Offer - \$43.00	7072 / hour	\$304,096.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:			
VGreen Enterprises	TT	First Offer - \$43.03	7072 / hour	\$304,308.16		Y
Product Code:			Supplier Product C			
Agency Notes:			Supplier Notes:			
ManpowerGroup Sales Support		First Offer - \$45.00	7072 / hour	\$318,240.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
SRS CONSULTING INC		First Offer - \$45.00	7072 / hour	\$318,240.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
DVTECK		First Offer - \$45.00	7072 / hour	\$318,240.00		
Product Code:			Supplier Product C	ode:		Y
Agency Notes:	1.1		Supplier Notes:			Y
Lumen Solutions Inc			i . 1			
		First Offer - \$46.00	7072 / hour	\$325,312.00		Y Y
Product Code: Agency Notes:		First Offer - \$46.00	7072 / hour Supplier Product C Supplier Notes:			
		First Offer - \$46.00 First Offer - \$46.23	Supplier Product C			

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
LanceSoft	First Offer - \$47.36	7072 / hour \$334,929.92	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Hire Hero	First Offer - \$47.50	7072 / hour \$335,920.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$48.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
22nd Century Technologies, Inc.	First Offer - \$48.05		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
RADgov, Inc.	First Offer - \$48.11	7072 / hour \$340,233.92	Υ
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$50.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer \$50.00	Supplier Notes: 7072 / hour \$353,600.00	v
Tri-Force Consulting Services, Inc. Product Code:	First Offer - \$50.00	7072 / hour \$353,600.00 Supplier Product Code:	Y
Agency Notes:		Supplier Notes:	
Arch	First Offer - \$50.40		Y
Product Code: Agency Notes:	East Office 451.00	Supplier Product Code: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candid at a lower rate.	
PriceSenz LLC	First Offer - \$51.00	7072 / hour \$360,672.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer dF1 75	Supplier Notes:	Y
Global Solutions Group, Inc.	First Offer - \$51.75		T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
SoftHQ, Inc	First Offer - \$52.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TRYFACTA, INC.	First Offer - \$53.76	7072 / hour \$380,190.72	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Kellton Tech	First Offer - \$55.00	7072 / hour \$388,960.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TAD PGS	First Offer - \$55.00		Y
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes:	

		•	11 of 131
	Broward County Board o County Commissioners		TRN2122
ResourceX	First Offer - \$55.00		Y
Product Code:	First Offer - \$55.00		T
Agency Notes:		Supplier Product Code: Supplier Notes:	
IT Data Solutions	First Offer - \$55.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Infojini, Inc.	First Offer - \$55.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$55.27		Y
Product Code:	<u>·</u>	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Innovative Systems Group of Florida	First Offer - \$56.00) 7072 / hour \$396,032.00	Y
Product Code:	<u>_</u>	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TRG, Inc	First Offer - \$60.00) 7072 / hour \$424,320.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Sullivan and Cogliano	First Offer - \$67.00) 7072 / hour \$473,824.00	Y
Product Code:		Supplier Product Code:	
		solutions to provide required network infrastru services. Plans, designs, develops, debugs and i network hardware, software and systems solut multiple platforms and architectures to suppor organization's IT requirements. Reviews and tro installation of hardware and implementation of software solutions and products to ensure that the company or customer/client requirements. bandwidth requirements to ensure network ca processing speed.	mplement ions across t the oubleshoot f layered they meet Assesses
Interscripts,Inc.	First Offer - \$68.00		Y
Product Code:		Supplier Product Code:	
CONTRACTOR MANY DEC			
		Supplier Notes:	
MNK Infotech	First Offer - \$68.00	7072 / hour \$480,896.00	Y
MNK Infotech Product Code:	First Offer - \$68.00	7072 / hour \$480,896.00 Supplier Product Code: \$480,896.00	Y
MNK Infotech Product Code: Agency Notes:		7072 / hour \$480,896.00 Supplier Product Code: Supplier Notes:	
MNK Infotech Product Code: Agency Notes: vTech Solution Inc.	First Offer - \$68.00	7072 / hour \$480,896.00 Supplier Product Code: Supplier Notes: 7072 / hour \$492,635.52	Y
Agency Notes: MNK Infotech Product Code: Agency Notes: vTech Solution Inc. Product Code:		0 7072 / hour \$480,896.00 Supplier Product Code: Supplier Notes: 5 7072 / hour \$492,635.52 Supplier Product Code:	
MNK Infotech Product Code: Agency Notes: vTech Solution Inc. Product Code: Agency Notes:	First Offer - \$69.66	0 7072 / hour \$480,896.00 Supplier Product Code: Supplier Notes: 5 7072 / hour \$492,635.52 Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes:	Y
MNK Infotech Product Code: Agency Notes: vTech Solution Inc.		0 7072 / hour \$480,896.00 Supplier Product Code: Supplier Notes: 5 7072 / hour \$492,635.52 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes:	

Agency Notes:		Supplier Notes:			
Tanim Consulting	First Offer - \$75.00	7072 / hour	\$530,400.00		Y
Product Code:		Supplier Product (Code: Network Techr	nician II (Ad	dvanced)
Agency Notes:		Supplier Notes:			
Elegant Enterprise Wide Solutions	First Offer - \$75.00	7072 / hour	\$530,400.00		Y
Product Code:	Supplier Product (Code:			
Agency Notes:		Supplier Notes:			
MSys Inc [Ad]	First Offer - \$78.00	7072 / hour	\$551,616.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:	 	Supplier Notes:			
NewCom C3 Planners	First Offer - \$80.00	7072 / hour	\$565,760.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:	 	Supplier Notes:			
etech-360,Inc	First Offer - \$80.00	7072 / hour	\$565,760.00	Y	Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
FAAZ consulting	First Offer - \$85.00	7072 / hour	\$601,120.00	Y	Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
CDW-Government LLC	First Offer - \$160.00	7072 / hour	\$1,131,520.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

TRN2122277B1–01-03 Network Analyst					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	5048 / hour	\$0.00	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Pricing included in t			
Connvertex Technologies Inc	First Offer - \$0.00	5048 / hour	\$0.00	Y	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Ple of our offers.	Code: ease find attached Pr	rice List for	⁻ detai l s
ADAMS ENTERPRISE USA, INC	Alt 1 - \$3.00	5048 / hour	\$15,144.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Alt	Code: cernate Offer Amour	ıt	
ADAMS ENTERPRISE USA, INC	First Offer - \$4.00	5048 / hour	\$20,192.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Sensatech LLC	First Offer - \$19.00	5048 / hour	\$95,912.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$23.92	5048 / hour	\$120,748.16		Y

	Co	unty Commiss	loners	
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Flysoft Inc		First Offer -	\$24.00	5048 / hour \$121,152.00 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Bleu Stream Corp		First Offer -	\$30.00	5048 / hour \$151,440.00 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Cynet Systems		First Offer -	\$30.00	5048 / hour \$151,440.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Moten Tate, INc.		First Offer -	\$30.74	5048 / hour \$155,175.52 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
BuzzClan		First Offer -	\$31.92	5048 / hour \$161,132.16 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Action Group MGMT		First Offer -	\$32.00	5048 / hour \$161,536.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Beryllus Consulting & Staffing		First Offer -	\$33.00	5048 / hour \$166,584.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Next Generation Recruitment and Staffing Agency		First Offer -	\$33.50	5048 / hour \$169,108.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Oready		First Offer -	\$34.00	5048 / hour \$171,632.00 Y
Product Code:				Supplier Product Code:
Agency Notes:		First Offer -	¢ 20 00	Supplier Notes: 5048 / hour \$191,824.00 Y Y
Aptuity Solutions Inc Product Code:		First Offer -	\$38.00	
Agency Notes:				Supplier Product Code: Supplier Notes:
IT Mantra		First Offer -	\$40.00	5048 / hour \$201,920.00 Y
Product Code:			¥ 10.00	Supplier Product Code:
Agency Notes:				Supplier Notes:
DatamanUSA, LLC		First Offer -	\$40.00	5048 / hour \$201,920.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Alrek Business Solutions Inc.		First Offer -	\$40.00	5048 / hour \$201,920.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Cloud Consulting Services Inc		First Offer -	\$40.00	5048 / hour \$201,920.00 Y
Product Code:				Supplier Product Code:
Agency Notes: Krasan Consulting Services, Inc.		First Offer -	\$40.00	Supplier Notes: 5048 / hour \$201,920.00 Y
Product Code:		nisconer -	φ -0.00	Supplier Product Code:
Agency Notes:				Supplier Notes:
PeopleNTech LLC		First Offer -	\$42.00	5048 / hour \$212,016.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Information Consultants Inc		First Offer -	\$42.00	5048 / hour \$212,016.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
InstantServe		First Offer -	\$43.00	5048 / hour \$217,064.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:

Broward County Board of County Commissioners

	C	ounty Commissioners			
Changing Technologies Inc.		First Offer - \$44.40	5048 / hour	\$224,131.20	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Crown Services		First Offer - \$44.55	5048 / hour	\$224,888.40	Y
Product Code: Agency Notes:			placements from o offering full benefit	own Services provides Ter ur pool of candidates to cl s, PTO, Holiday Pay and be affording our client(s) well	ients while enefits to our
4BBCorp [Ad]		First Offer - \$44.85	5048 / hour	\$226,402.80	Y
Product Code:			Supplier Product (<u> </u>	
			West Palm Beach, F	FL Median Hourly Wage (54	0%)
DVTECK		First Offer - \$45.00		\$227,160.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:	taga co (ao	
COGENT InfoTech Corporation		First Offer - \$45.50	5048 / hour	\$229,684.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes: Ascension Global Staffing & Executive Search		First Offer - \$48.66	Supplier Notes: 5048 / hour	\$245,635.68	Y
Product Code:		Thist Offer - \$40.00	Supplier Product (-
Agency Notes:			Supplier Notes:	coue.	
TECKpert		First Offer - \$49.00	5048 / hour	\$247,352.00	Y
Product Code:			Supplier Product (· · · · · · · · · · · · · · · · · · ·	
Agency Notes:			Supplier Notes:		
US Tech Solutions, Inc.		First Offer - \$49.00	5048 / hour	\$247,352.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
COCHHBHA ENTERPRISES, INC		First Offer - \$49.42	5048 / hour	\$249,472.16	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
CambayCS		First Offer - \$49.62	5048 / hour	\$250,481.76	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
ManpowerGroup Sales Support		First Offer - \$50.00	5048 / hour	\$252,400.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Global Solutions Group, Inc.		First Offer - \$51.67	5048 / hour	\$260,830.16	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Hire Hero		First Offer - \$52.50	5048 / hour	\$265,020.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
Abacus Service Corporation		First Offer - \$52.65	5048 / hour	\$265,777.20	Y
Product Code:			Supplier Product (Code:	
			1		

Agency Notes:			Supplier Notes:			
TRYFACTA, INC.	Π	First Offer - \$53.76	5048 / hour	\$271,380.48		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			1
Darwin Recruitment		First Offer - \$54.00	5048 / hour	\$272,592.00		Y
Product Code:			Supplier Product (Supplier Notes:	Code:		
Agency Notes: Digital Intelligence Systems, LLC	Т	First Offer - \$55.00	5048 / hour	\$277,640.00		Y
Product Code:		113001121 - \$55.00	Supplier Product (· ·
Agency Notes:			Supplier Notes:			
ResourceX	Π	First Offer - \$55.00	5048 / hour	\$277,640.00		Y
Product Code:	-		Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
22nd Century Technologies, Inc.		First Offer - \$55.06	5048 / hour	\$277,942.88		Y
Product Code:			Supplier Product	Code:		
Agency Notes:	ТТ		Supplier Notes:	¢270.052.40		v
VGreen Enterprises Product Code:	Ш	First Offer - \$55.26	5048 / hour	\$278,952.48		Y
Agency Notes:			Supplier Product (Supplier Notes:	Lode:		
Sullivan and Cogliano	Π	First Offer - \$56.00	5048 / hour	\$282,688.00		Y
Product Code:			Supplier Product			
COMPUNNEL SOFTWARE GROUP, INC		First Offer - \$56.09	handheld compute systems, networkin Analyzes business a networking solution and services end to configurations for r technical and opera	siges such as: deskto rs and other such de ghardware and soft and technical require ns that integrate all to end. Can troublesho oot cause analysis, ra ational solutions, per rk systems, and perfo	evices, disk ware syste ents to echnical proport pot comple ecommen form capa	s storage ems. design roducts ex ex ad
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:			
Beacon Systems, Inc.	Π	First Offer - \$56.21	5048 / hour	\$283,748.08		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: No	Code: Network Analy etwork Analyst rate	rst	

	Co	ounty Commissioners			
Arch		First Offer - \$57.6	0 5048 / hour	\$290,764.80	Y
Product Code: Agency Notes:				Code: of the bill rate with full cos ay come in lower if we find	
SoftHQ, Inc		First Offer - \$58.0	0 5048 / hour	\$292,784.00	Y
Product Code:		Histoner - \$50.0	Supplier Product (
Agency Notes:			Supplier Notes:		
IT Data Solutions		First Offer - \$60.0		\$302,880.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:		First Offer - \$60.2	Supplier Notes: 5048 / hour	\$303,889.60	Y
Innovative Systems Group of Florida Product Code:		First Offer - \$60.2			T
Agency Notes:			Supplier Product (Supplier Notes:	Loue.	
Tech Army, LLC		First Offer - \$60.2		\$303,889.60	Y
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:		
LanceSoft		First Offer - \$60.9	0 5048 / hour	\$307,423.20	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
Tanim Consulting		First Offer - \$65.0		\$328,120.00	Y
Product Code:			Supplier Product (Code: Network Analyst	
Agency Notes:			Supplier Notes:		
Kellton Tech		First Offer - \$65.0	0 5048 / hour	\$328,120.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
TRG, Inc		First Offer - \$65.0		\$328,120.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Lode:	
SRS CONSULTING INC		First Offer - \$65.0		\$328,120.00	Y
Product Code:			Supplier Product (· · · · · · · · · · · · · · · · · · ·	
Agency Notes:			Supplier Notes:		
Infojini, Inc.		First Offer - \$65.0	0 5048 / hour	\$328,120.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Tri-Force Consulting Services, Inc.		First Offer - \$65.0		\$328,120.00	Y
Dura durant Cardan			Supplier Product (Code:	
			Cuppling Mater		
Product Code: Agency Notes: PriceSenz LLC		First Offer \$670	Supplier Notes:	\$229 216 00	v
Agency Notes: PriceSenz LLC		First Offer - \$67.0	0 5048 / hour	\$338,216.00	Y
Agency Notes: PriceSenz LLC Product Code:		First Offer - \$67.0	5048 / hour Supplier Product (1	Y
Agency Notes: PriceSenz LLC Product Code: Agency Notes:		First Offer - \$67.0 First Offer - \$68.0	0 5048 / hour Supplier Product (Supplier Notes:	1	Y
Agency Notes: PriceSenz LLC Product Code:			0 5048 / hour Supplier Product (Supplier Notes:	Sode: \$343,264.00	

		1	
	Broward County Board of County Commissioners		TRN21222
RADgov, Inc.	First Offer - \$69.84 5048 /	hour \$352,552.32	Y
Product Code:	Supplie	er Product Code:	
Agency Notes:	Supplie	er Notes:	
TAD PGS	First Offer - \$75.00 5048 /	hour \$378,600.00	Y
Product Code:	Supplie	er Product Code:	
Agency Notes:	Supplie	er Notes:	
Blue Chip Talent	First Offer - \$76.32 5048 /	hour \$385,263.36	Y
Product Code:	Supplie	er Product Code:	
Agency Notes:	Supplie	er Notes:	
MNK Infotech	First Offer - \$77.52 5048 /	hour \$391,320.96	Y
Product Code:	Supplie	er Product Code:	
Agency Notes:	Supplie	er Notes:	
Lumen Solutions Inc	First Offer - \$79.00 5048 /	hour \$398,792.00	Y
Product Code:	Supplie	er Product Code:	
Agency Notes:	Supplie	er Notes:	
Elegant Enterprise Wide Solutions	First Offer - \$80.00 5048 /	hour \$403,840.00	Y
Product Code:		er Product Code:	
Agency Notes:		er Notes:	
etech-360,Inc	First Offer - \$85.00 5048 /	hour \$429,080.00	Y Y
Product Code:	· ·	er Product Code:	
Agency Notes:	Supplie	er Notes:	
vTech Solution Inc.	First Offer - \$85.45 5048 /	hour \$431,351.60	Y
Product Code:		er Product Code:	
Agency Notes:		er Notes:	
FAAZ consulting	First Offer - \$88.00 5048 /	hour \$444,224.00	Y
Product Code:	· · ·	er Product Code:	
Agency Notes:		er Notes:	
MSys Inc [Ad]	First Offer - \$98.00 5048 /	hour \$494,704.00	Y
Product Code:		er Product Code:	
Agency Notes:		er Notes:	
CDW-Government LLC	First Offer - \$130.00 5048 /	hour \$656,240.00	Y
Product Code:		er Product Code:	
Agency Notes:	Supplie	er Notes:	

Product Code: Agency Notes: Supplier Product Code: Agency Notes: Pricing included in the proposal. Connvertex Technologies Inc Image: Strate of the proposal included in the proposal. Product Code: Supplier Product Code: Agency Notes: First Offer - \$0.00 5048 / hour \$0.00 Y Y Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Image: Alt 1 - \$3.00 5048 / hour \$15,144.00 Y	TRN2122277B101-04 Communications Specialist	_					
Product Code: Agency Notes: Supplier Product Code: Agency Notes: Pricing included in the proposal. Connvertex Technologies Inc Image: Strate of the proposal included in the proposal. Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Image: Alt 1 - \$3.00 Sup \$15,144.00 Y	Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Agency Notes: Supplier Notes: Pricing included in the proposal. Connvertex Technologies Inc First Offer - \$0.0 Y Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: V Y Agency Notes: V V A V Y Y ADAMS ENTERPRISE USA, INC Image: Notes: Notes: Supplier Notes: Supplier Notes: V Y	Prelude systems pvt. ltd.		First Offer - \$0.00	5048 / hour	\$0.00	Y	Y
Connvertex Technologies Inc First Offer - \$0.00 5048 / hour \$0.00 Y Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Please find attached Price List for details of our offers. Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Image: Alt 1 - \$3.00 5048 / hour \$15,144.00 Y	Product Code:			Supplier Product (Code:		
Connvertex Technologies Inc First Offer - \$0.00 5048 / hour \$0.00 Y Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Place find attached Price List for details of our offers. Supplier Notes: Place find attached Price List for details ADAMS ENTERPRISE USA, INC Alt 1 - \$3.00 5048 / hour \$15,144.00 Y	Agency Notes:						
Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Image: Alt 1 - \$3.00 5048 / hour \$15,144.00 Y				Pricing included in 1	he proposa l .		
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Alt 1 - \$3.00 5048 / hour \$15,144.00 Y							
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Alt 1 - \$3.00 5048 / hour \$15,144.00 Y							
Agency Notes: Supplier Notes: Please find attached Price List for details of our offers. ADAMS ENTERPRISE USA, INC Image: Alt 1 - \$3.00 5048 / hour \$15,144.00 Y	Connvertex Technologies Inc		First Offer - \$0.00	5048 / hour	\$0.00	Y	Y
ADAMS ENTERPRISE USA, INC Image: Market and Market an	Product Code:			Supplier Product (Code:		
ADAMS ENTERPRISE USA, INC 1 Alt 1 - \$3.00 5048 / hour \$15,144.00 Y	Agency Notes:			1	ease find attached P	rice List for	' detai l s
				of our offers.			
Product Code: Supplier Product Code:	ADAMS ENTERPRISE USA, INC		Alt 1 - \$3.00	5048 / hour	\$15,144.00		Y
	Product Code:			Supplier Product (Code:		

Agency Notes:		Supplier Notes: Alt	ernate Offer Amoun	t		
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	5048 / hour	\$20,192.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Cynet Systems		First Offer - \$17.50	5048 / hour	\$88,340.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Oready		First Offer - \$18.33	5048 / hour	\$92,529.84		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$19.24	5048 / hour	\$97,123.52		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
4BBCorp [Ad]		First Offer - \$19.80	5048 / hour	\$99,950.40		Y
Product Code: Agency Notes:				ode: y Rate: BLS - Miami-F L Median Hourly Wa _i		dale-
Information Consultants Inc		First Offer - \$20.00	5048 / hour	\$100,960.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Sensatech LLC		First Offer - \$20.00	5048 / hour	\$100,960.00		Y
Product Code:			Supplier Product C	ode:	I	
Agency Notes:			Supplier Notes:			
Flysoft Inc		First Offer - \$21.00	5048 / hour	\$106,008.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Ascension Global Staffing & Executive Search		First Offer - \$21.90	5048 / hour	\$110,551.20		Y
Product Code:			Supplier Product C	ode:	i	
Agency Notes:			Supplier Notes:			
Beryllus Consulting & Staffing		First Offer - \$22.00	5048 / hour	\$111,056.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Action Group MGMT		First Offer - \$22.00	5048 / hour	\$111,056.00		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
COCHHBHA ENTERPRISES, INC		First Offer - \$23.09	5048 / hour	\$116,558.32		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Moten Tate, INc.		First Offer - \$24.70	5048 / hour	\$124,685.60		Y
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes: 5048 / hour	¢126.200.00		Y
Alrek Business Solutions Inc.		First Offer - \$25.00		\$126,200.00		T
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	oue:		
Krasan Consulting Services, Inc.		First Offer - \$25.00	5048 / hour	\$126,200.00		Y
Product Code:			Supplier Product C	1	1	-
Agency Notes:			Supplier Notes:			

	ward County ounty Commis					TRN	212227
US Tech Solutions, Inc.	First Offer		5048 / hour	\$126,200.00			Y
Product Code:			Supplier Product Code	:			
Agency Notes:	 		Supplier Notes:			_	
CambayCS	First Offer	- \$25.25	5048 / hour	\$127,462.00			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:				
Beacon Systems, Inc.	First Offer	- \$25.30	5048 / hour	\$127,714.40			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: Comm				
VGreen Enterprises	First Offer -	\$25.65	5048 / hour	\$129,481.20			Y
Product Code:			Supplier Product Code	::			
Agency Notes: TECKpert	First Offer -	\$26.00	Supplier Notes: 5048 / hour	\$131,248.00			Y
Product Code:	First Offer -	- \$20.00	Supplier Product Code				-
Agency Notes:			Supplier Notes:	•			
Crown Services	First Offer	\$27.00	5048 / hour	\$136,296.00			Y
Agency Notes:			Supplier Notes: Crown placements from our po offering full benefits, PT associates thereby affor and qualified candidate	ool of candidates O, Holiday Pay a ding our client(s	s to client and benef	s wh fits to	ile o our
Hire Hero	First Offer -	- \$27.50	5048 / hour	\$138,820.00			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	::			
BuzzClan	First Offer -	- \$27.87	5048 / hour	\$140,687.76			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	::			
Bleu Stream Corp	First Offer -	- \$28.00	5048 / hour	\$141,344.00			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:			
Innovative Systems Group of Florida	First Offer -	\$28.08	5048 / hour	\$141,747.84			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	::			
Arch	First Offer	- \$28.80	5048 / hour	\$145,382.40			Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: This is the estimate of th possible the rate may co at a lower rate.	ne bill rate with f			idate

	Co	ounty Commissioners		
				_
Darwin Recruitment		First Offer - \$29.00	5048 / hour \$146,392.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Agency Notes:		First Offer - \$29.90	Supplier Notes: 5048 / hour \$150.935.20	Y
Abacus Service Corporation Product Code:			5048 / hour \$150,935.20 Supplier Product Code: \$150,935.20	T
Agency Notes:			Supplier Notes:	
PriceSenz LLC		First Offer - \$30.00	5048 / hour \$151,440.00	Y
Product Code:	L		Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Global Solutions Group, Inc.		First Offer - \$30.92	5048 / hour \$156,084.16	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
COGENT InfoTech Corporation		First Offer - \$32.50	5048 / hour \$164,060.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
LanceSoft		First Offer - \$34.06	5048 / hour \$171,934.88	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
IT Mantra		First Offer - \$35.00	5048 / hour \$176,680.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
SRS CONSULTING INC		First Offer - \$35.00	5048 / hour \$176,680.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
ResourceX		First Offer - \$35.00	5048 / hour \$176,680.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
22nd Century Technologies, Inc.		First Offer - \$35.00	5048 / hour \$176,680.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
ManpowerGroup Sales Support		First Offer - \$37.00	5048 / hour \$186,776.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Next Generation Recruitment and Staffing Agency		First Offer - \$37.50	5048 / hour \$189,300.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Changing Technologies Inc.		First Offer - \$37.50	5048 / hour \$189,300.00	Y
Product Code:			Supplier Product Code:	•
Agency Notes:			Supplier Notes:	
TRG, Inc		First Offer - \$40.00	5048 / hour \$201,920.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Digital Intelligence Systems, LLC		First Offer - \$41.00	5048 / hour \$206,968.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Aptuity Solutions Inc		First Offer - \$42.00	5048 / hour \$212,016.00 Y	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Blue Chip Talent		First Offer - \$43.46	5048 / hour \$219,386.08	Y
Product Code:			Supplier Product Code:	
Agency Notes:		First Offer \$4450	Supplier Notes: 5048 / hour \$224,636.00	v
Cloud Consulting Services Inc		First Offer - \$44.50	5048 / hour \$224,636.00	<u> </u>

	0	ounty comme	531011613	1			
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Code:		
PeopleNTech LLC	П	First Offer -	- \$45.00	5048 / hour	\$227,160.00	Y	(
Product Code:			443.00	Supplier Product (
Agency Notes:				Supplier Notes:			
Kellton Tech	Π	First Offer	- \$45.00	5048 / hour	\$227,160.00	Y	(
Product Code:				Supplier Product C	Code:		
Agency Notes:				Supplier Notes:			
DatamanUSA, LLC		First Offer	- \$45.00	5048 / hour	\$227,160.00	Y	(
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Code:		
DVTECK		First Offer	- \$45.00	5048 / hour	\$227,160.00	Y	(
Product Code:				Supplier Product C	Code:		
Agency Notes:				Supplier Notes:			
InstantServe		First Offer	- \$47.00	5048 / hour	\$237,256.00	Y	(
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Code:		
IT Data Solutions		First Offer	- \$50.00	5048 / hour	\$252,400.00	Y	(
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Code:		
Tri-Force Consulting Services, Inc.	Π	First Offer ·	- \$50.00	5048 / hour	\$252,400.00	Y	(
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Code:		
Tech Army, LLC	Π	First Offer ·	- \$53.20	5048 / hour	\$268,553.60	Y	(
Product Code:				Supplier Product C			
Agency Notes:		First Offer	¢5400	Supplier Notes:	¢272.502.00		
Sullivan and Cogliano Product Code:		First Offer	- \$54.00	5048 / hour Supplier Product C	\$272,592.00	Y	(
Agency Notes:				network oriented p and trunk analysis, in developing stand	al technical and anal rojects. These duties network traffic studi lards and procedure oblems as they are ic	include hardwa es and assistance s, Analyzes mine	are ce
TRYFACTA, INC.		First Offer	- \$54.16	5048 / hour	\$273,399.68	Y	(
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	Lode:		
SoftHQ, Inc	TT	First Offer	\$55.00	5048 / hour	\$277,640.00	Y	(
Product Code:		insconer.	455.00	Supplier Product (
Agency Notes:				Supplier Notes:			
COMPUNNEL SOFTWARE GROUP, INC		First Offer	- \$58.37	5048 / hour	\$294,651.76	Y	
Product Code:					1		1
Agency Notes:				Supplier Product C Supplier Notes:			r

			1			
Product Code:			1	Code: Communication	ns Special	ist
Agency Notes:			Supplier Notes:			
RADgov, Inc.	Firs	t Offer - \$64.22	5048 / hour	\$324,182.56		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:	1		
FAAZ consulting	Firs	t Offer - \$65.00	5048 / hour	\$328,120.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Lumen Solutions Inc	Firs	t Offer - \$66.00	5048 / hour	\$333,168.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Infojini, Inc.	Firs	t Offer - \$66.00	5048 / hour	\$333,168.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
MNK Infotech	Firs	t Offer - \$68.00	5048 / hour	\$343,264.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
vTech Solution Inc.	Firs	t Offer - \$68.24	5048 / hour	\$344,475.52		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Elegant Enterprise Wide Solutions	Firs	t Offer - \$85.00	5048 / hour	\$429,080.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
etech-360,Inc	Firs	t Offer - \$85.00	5048 / hour	\$429,080.00	Y	Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
TAD PGS	Firs	t Offer - \$90.00	5048 / hour	\$454,320.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Interscripts,Inc.	Firs	t Offer - \$95.00	5048 / hour	\$479,560.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
MSys Inc [Ad]	Firs	t Offer - \$98.00	5048 / hour	\$494,704.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
CDW-Government LLC	First	Offer - \$125.00	5048 / hour	\$631,000.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			

TRN2122277B101-05 Systems Analyst					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	3024 / hour	\$0.00	Y	Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
		Pricing included in t	he proposa l .		
Connvertex Technologies Inc	First Offer - \$0.00	3024 / hour	\$0.00	Y	Y
Product Code:		Supplier Product (•	•
Agency Notes:			ease find attached Pi	rice List for	details
		of our offers.			

ADAMS ENTERPRISE USA, INC		A l t 1 - \$3.00	3024 / hour	\$9,072.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Al	Code: ternate Offer Amount	
ADAMS ENTERPRISE USA, INC	Fir	st Offer - \$4.00	3024 / hour	\$12,096.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Sensatech LLC	Firs	: Offer - \$20.00	3024 / hour	\$60,480.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:		0.00	Supplier Notes:	#CC 520.00	Y
Flysoft Inc	Firs	: Offer - \$22.00	3024 / hour	\$66,528.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Lode:	
BuzzClan	Firs	: Offer - \$24.98	3024 / hour	\$75,539.52	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
Cynet Systems	Firs	: Offer - \$26.00	3024 / hour	\$78,624.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Zenith Talent Corporation, dba Crowdstaffing	Firs	: Offer - \$28.08	3024 / hour	\$84,913.92	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
Moten Tate, INc.	Firs	Offer - \$28.60	3024 / hour	\$86,486.40	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Action Group MGMT	Firs	: Offer - \$32.00	3024 / hour	\$96,768.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
Beryllus Consulting & Staffing	Firs	: Offer - \$33.00	3024 / hour	\$99,792.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes: ResourceX	Firm	: Offer - \$40.00	Supplier Notes: 3024 / hour	¢120.000.00	Y
		Uner - \$40.00	Supplier Product (\$120,960.00	1
Product Code: Agency Notes:			Supplier Notes:		
DVTECK	Firs	: Offer - \$40.00	3024 / hour	\$120,960.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:	Fire	: Offer - \$43.74	Supplier Notes: 3024 / hour	\$132,269.76	Y
CambayCS Product Code:	FIIS	Uner - \$45.74	Supplier Product (T
Agency Notes:			Supplier Notes:	coue.	
Next Generation Recruitment and Staffing Agency	Firs	: Offer - \$43.99	3024 / hour	\$133,025.76	Y
Product Code:			Supplier Product	· · · · ·	
Agency Notes:			Supplier Notes:		
Alrek Business Solutions Inc.	Firs	Offer - \$45.00	3024 / hour	\$136,080.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
Krasan Consulting Services, Inc.	Firs	: Offer - \$45.00	3024 / hour	\$136,080.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Bleu Stream Corp	Firs	: Offer - \$45.00	3024 / hour	\$136,080.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	

	County Commissioners		
4BBCorp [Ad]	First Offer - \$45.64	3024 / hour \$138,015.36	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale-West FL Median Hourly Wage (50%)	Palm Beach,
Information Consultants Inc	First Offer - \$46.00) 3024 / hour \$139,104.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Oready	First Offer - \$49.00	3024 / hour \$148,176.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Crown Services Product Code:	First Offer - \$49.95	5 3024 / hour \$151,048.80 Supplier Product Code: \$151,048.80	Y
Agency Notes:		Supplier Notes: Crown Services provides Teplacements from our pool of candidates to coffering full benefits, PTO, Holiday Pay and bassociates thereby affording our client(s) well and qualified candidates.	lients while enefits to our
US Tech Solutions, Inc.	First Offer - \$51.50	0 3024 / hour \$155,736.00	Y
Product Code:		Supplier Product Code:	!
Agency Notes:		Supplier Notes:	
TECKpert	First Offer - \$52.00	3024 / hour \$157,248.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$52.07	/ 3024 / hour \$157,459.68	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	<u> </u>
Ascension Global Staffing & Executive Search	First Offer - \$52.98	3 3024 / hour \$160,211.52	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
IT Mantra	First Offer - \$55.00	3024 / hour \$166,320.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Tanim Consulting	First Offer - \$55.00	3024 / hour \$166,320.00	Y
Product Code: Agency Notes:		Supplier Product Code: Systems Analyst Supplier Notes:	
SoftHQ, Inc	First Offer - \$55.00) 3024 / hour \$166,320.00	Y
Product Code: Agency Notes:	```	Supplier Product Code: Supplier Notes:	-
IT Data Solutions	First Offer - \$55.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tri-Force Consulting Services, Inc.	First Offer - \$55.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	v
Hire Hero	First Offer - \$56.25		Y
Product Code: Agency Notes:	11 .	Supplier Product Code: Supplier Notes:	
Abacus Service Corporation	First Offer - \$57.20) 3024 / hour \$172,972.80	Y

Broward County Board of

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Arch		First Offer - \$57.60	3024 / hour	\$174,182.40		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: This is the estimate	I		is
COGENT InfoTech Corporation	Π	First Offer - \$58.50	3024 / hour	\$176,904.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Changing Technologies Inc.		First Offer - \$58.92	3024 / hour	\$178,174.08		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Darwin Recruitment	Π	First Offer - \$59.00	3024 / hour	\$178,416.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cloud Consulting Services Inc		First Offer - \$59.00	3024 / hour	\$178,416.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
PeopleNTech LLC		First Offer - \$60.00	3024 / hour	\$181,440.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
DatamanUSA, LLC		First Offer - \$60.00	3024 / hour	\$181,440.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
InstantServe		First Offer - \$60.00	3024 / hour	\$181,440.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
VGreen Enterprises		First Offer - \$60.10	3024 / hour	\$181,742.40		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Beacon Systems, Inc.		First Offer - \$60.76	3024 / hour	\$183,738.24		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Sy	Code: Systems Analyst /stems Analyst Rate		
Global Solutions Group, Inc.		First Offer - \$60.89	3024 / hour	\$184,131.36		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	<u> </u>		
LanceSoft		First Offer - \$62.28	3024 / hour	\$188,334.72		Y
I						

Product Code:				Supplier Product Code:
		First Offer	¢62 E0	Supplier Notes: 3024 / hour \$189,272.16 Y
TRYFACTA, INC.		First Offer	- \$02.59	
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Innovative Systems Group of Florida		First Offer ·	- \$63.00	
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
TRG, Inc		First Offer	- \$65.00	3024 / hour \$196,560.00 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Sullivan and Cogliano		First Offer	- \$65.00	3024 / hour \$196,560.00 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes: Assists in the implementation, design and analysis of software/systems technical support and operating system capabilities. Assists in coding and maintaining utilities job control language, compiler and system software of a routine nature. Modifies existing software of a standard nature. Tests revised systems software.
SRS CONSULTING INC		First Offer	- \$65.00	3024 / hour \$196,560.00 Y
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
COMPUNNEL SOFTWARE GROUP, INC		First Offer	- \$65.10	3024 / hour \$196,862.40 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Digital Intelligence Systems, LLC		First Offer	- \$66.00	3024 / hour \$199,584.00 Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
ManpowerGroup Sales Support		First Offer	- \$67.00	
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
PriceSenz LLC		First Offer	- \$67.00	
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
22nd Century Technologies, Inc.	Π	First Offer	- \$67.50	
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Aptuity Solutions Inc		First Offer	\$68.00	3024 / hour \$205,632.00 Y Y
Product Code:		First Offer	- 400.00	Supplier Product Code:
Agency Notes: Kellton Tech		First Offer ·	\$70.00	Supplier Notes: 3024 / hour \$211,680.00 Y
Product Code:		FIISE OTTEL	- \$70.00	Supplier Product Code:
Agency Notes:				Supplier Product Code: Supplier Notes:
etech-360,Inc		First Offer	- \$70.00	3024 / hour \$211,680.00 Y Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:
Lumen Solutions Inc		First Offer	- \$73.00	
Product Code:				Supplier Product Code:
Agency Notes:				Supplier Notes:
Infojini, Inc.		First Offer	- \$75.00	3024 / hour \$226,800.00 Y

	•	
Product Code:		Supplier Product Code: Supplier Notes:
Agency Notes:	Fine Offen (†75.00)	
MNK Infotech	First Offer - \$75.00	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tech Army, LLC	First Offer - \$76.37	3024 / hour \$230,942.88 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
RADgov, Inc.	First Offer - \$78.26	3024 / hour \$236,658.24 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Blue Chip Talent	First Offer - \$79.50	3024 / hour \$240,408.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Interscripts,Inc.	First Offer - \$80.00	3024 / hour \$241,920.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
TAD PGS	First Offer - \$85.00	3024 / hour \$257,040.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
FAAZ consulting	First Offer - \$85.00	3024 / hour \$257,040.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Elegant Enterprise Wide Solutions	First Offer - \$90.00	3024 / hour \$272,160.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
MSys Inc [Ad]	First Offer - \$90.00	3024 / hour \$272,160.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
vTech Solution Inc.	First Offer - \$98.26	3024 / hour \$297,138.24 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
CDW-Government LLC	First Offer - \$155.00	3024 / hour \$468,720.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:

TRN2122277B1–01-06 Programmer Analyst						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	Π	First Offer - \$0.00	7072 / hour	\$0.00	Y	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Pricing included in t			
ADAMS ENTERPRISE USA, INC		Alt 1 - \$3.00	7072 / hour	\$21,216.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Alt	C ode: ternate Offer Amour	ıt	
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	7072 / hour	\$28,288.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cynet Systems		First Offer - \$20.00	7072 / hour	\$141,440.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Sensatech LLC		First Offer - \$20.00	7072 / hour	\$141,440.00		Y

Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
		First Offer	¢21.00		5148,512.00	Y
Flysoft Inc		First Offer	- \$21.00		148,512.00	T
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
Moten Tate, INc.		First Offer	- \$28.42	· · ·	200,986.24	Y
Product Code:				Supplier Product Code:		
Agency Notes:				Supplier Notes:		
BuzzClan	Π	First Offer	- \$31.11	7072 / hour \$	220,009.92	Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
Zenith Talent Corporation, dba Crowdstaffing		First Offer	- \$31.20	- · ·	220,646.40	Y
Product Code:				Supplier Product Code:		
Agency Notes:				Supplier Notes:		
Action Group MGMT	Π	First Offer	- \$34.00	7072 / hour \$	240,448.00	Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:	· · ·	
Beryllus Consulting & Staffing		First Offer	- \$35.00		247,520.00	Y
Product Code: Agency Notes:			,	Supplier Product Code: Supplier Notes:		
4BBCorp [Ad]		First Offer	- \$42.39		299,782.08	Y
Product Code:			- 442.35	Supplier Product Code:	,782.08	
Agency Notes:				Supplier Notes: Pay Rate: BLS - Miami-Fort FL Median Hourly Wage (50		lm Beach,
Next Generation Recruitment and Staffing Agency		First Offer	- \$42.80	7072 / hour \$	302,681.60	Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
Oready		First Offer	- \$44.00	7072 / hour \$	311,168.00	Y
Product Code:				Supplier Product Code:		
Agency Notes:				Supplier Notes:		
Information Consultants Inc		First Offer	- \$45.00		318,240.00	Y
Product Code:				Supplier Product Code: Supplier Notes:		
Agency Notes: Alrek Business Solutions Inc.		First Offer	¢ 45.00		318,240.00	Y
Product Code:		First Offer	- \$45.00	Supplier Product Code:	518,240.00	
Agency Notes:				Supplier Notes:		
Krasan Consulting Services, Inc.		First Offer	- \$45.00		318,240.00	Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
DVTECK	П	First Offer	- \$45.00		318,240.00	Y
Product Code:			445.00	Supplier Product Code:	510,240.00	
Agency Notes:				Supplier Notes:		
TECKpert		First Offer	- \$48.00	7072 / hour \$	339,456.00	Y
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:		
US Tech Solutions, Inc.	Π	First Offer	- \$48.00		339,456.00	Y
Product Code:				Supplier Product Code:	- I	
Agency Notes:				Supplier Notes:		
COCHHBHA ENTERPRISES, INC	1.1					
		First Offer	- \$48.69	7072 / hour \$	344,335.68	Y

Agency Notes:		Supplier Notes:
Bleu Stream Corp	First Offer - \$50.00	7072 / hour \$353,600.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
ResourceX	First Offer - \$50.00	7072 / hour \$353,600.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Ascension Global Staffing & Executive Search	First Offer - \$50.43	7072 / hour \$356,640.96 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Hire Hero	First Offer - \$53.13	7072 / hour \$375,735.36 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Global Solutions Group, Inc.	First Offer - \$53.53	7072 / hour \$378,564.16 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Crown Services	First Offer - \$54.00	7072 / hour \$381,888.00 Y Supplier Product Code:
		placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates.
Abacus Service Corporation	First Offer - \$54.09	7072 / hour \$382,524.48 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
IT Mantra	First Offer - \$55.00	7072 / hour \$388,960.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Darwin Recruitment	First Offer - \$57.00	7072 / hour \$403,104.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Beacon Systems, Inc.	First Offer - \$57.42	7072 / hour \$406,074.24 Y
Product Code: Agency Notes:		Supplier Product Code: Programmer Analyst Supplier Notes: Programmer Analyst Rate
VGreen Enterprises	First Offer - \$57.89	7072 / hour \$409,398.08 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
PeopleNTech LLC	First Offer - \$60.00	7072 / hour \$424,320.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
SRS CONSULTING INC	First Offer - \$60.00	7072 / hour \$424,320.00 Y
Product Code:		Supplier Product Code:

anecsont Product Code: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Agency Motes: Code	gency Notes:				Supplier Notes:			
Agency Notes: Supplier Notes: Supplier Product Code: Changing Technologies Inc. First Offer - 563.00 7072 / hour \$445,536.00 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Regncy Notes: Supplier Product Code: Supplier Notes: Y CambayCS First Offer - 563.10 7072 / hour \$446,384.64 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Regncy Notes: Supplier Notes: Supplier Notes: Y Regncy Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Y Supplier Notes: Product Code: Su	anceSoft		First Offer	- \$61.09	7072 / hour	\$432,028.48		Y
Changing Technologies Inc. First Offer - \$63.00 7072 / hour \$445,536.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y InstantServe First Offer - \$63.00 7072 / hour \$445,536.00 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Y Supplier Product Code: Supplier Product Code: Supplier Notes: Y Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Supplier Notes: First Offer - \$65.00 7072 / hour \$455,65.0						Code:		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: StantServe First Offer - \$63.00 7072 / hour \$445,536.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Cambay(CS First Offer - \$63.00 7072 / hour \$446,384.64 Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Agency Notes: First Offer - \$64.00 7072 / hour \$452,608.00 Y Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Agency Notes: First Offer - \$64.80 7072 / hour \$453,60.0 Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: First Offer - \$64.80 7072 / hour \$453,60.0 Y Supplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Y			First Offer	¢62.00		¢445 526 00		v
Agency Notes: Supplier Notes: Supplier Notes: Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y CambayCS First Offer - \$63.12 7072 / hour \$445,536.00 Y Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Y Agency Notes: Supplier Notes: Supplier Notes: Y Y Y Agency Notes: Supplier Notes: Supplier Notes: Y Y Y Agency Notes: Supplier Notes: Supplier Notes: Y Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Y Refrect Notes: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Y Y Y Supplier Notes: Supplier Notes: Y Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Supplier Notes: Supplier Notes: Y Y <td></td> <td></td> <td>First Onei</td> <td>- \$05.00</td> <td></td> <td></td> <th></th> <td>T</td>			First Onei	- \$05.00				T
nstantServe First Offer - \$63.00 7072 / hour \$445,536.00 Y Product Code: Agency Notes: Supplier Product Code: Sup						Loue.		
Product Code: Agency Notes: CambayCS Product Code: Agency Notes: CambayCS Product Code: Agency Notes: Agency Notes: Agency Notes: Agency Notes: TRYFACTA, INC. Product Code: Agency Notes: TRYFACTA, INC. Product Code: Agency Notes: TRYFACTA, INC. Product Code: Agency Notes: TRYFACTA, INC. Product Code: Agency Notes: TRYFACTA, INC. Product Code: Supplier Product Code: Supplier Notes: TryFACTA, INC. Product Code: Supplier Notes: Supplier Notes: Performs application systems analysis and programming dutes. Dute: include: confer with ser community to conduct research and analysis to formulate and define System requirements, scope and objectives; establish priorities and onalysis to formulate and define Systems requirements, scope and objectives; establish priorities and onalysis to formulate and define Systems requirements, scope and objectives; establish priorities and onalysis to formulate and define Systems requirements, scope and objectives; establish priorities and onalysis to formulate and define Systems requirements, scope and objectives; establish priorities and monitor progress of complex information Systems analysis and programming dutes. Dutes of complex of complex of complex documentation for new or modified information Systems and/or application software programs, including			First Offer	- \$63.00		\$445 536 00		Y
Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes: RyrEACTA, INC. First Offer - \$64.00 7072 / hour \$452,608.00 Y Product Code: Supplier Notes: Supplier Notes: Y RyrEACTA, INC. First Offer - \$64.00 7072 / hour \$458,265.00 Y Product Code: Supplier Product Code: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.00 Y Product Code: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Y Y Suplier Notes: Tiss to ffer - \$64.80 7072 / hour \$458,265.00 Y Product Code: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072				+05.00				
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Aptuity Solutions Inc First Offer - \$64.00 7072 / hour \$452,608.00 Y Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y TRYFACTA, INC. First Offer - \$64.00 7072 / hour \$452,608.00 Y Product Code: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Perdouct Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Y <								
Agency Notes:Supplier Note:Supplier Note: </td <td>ambayCS</td> <td>Π</td> <td>First Offer</td> <td>- \$63.12</td> <td>7072 / hour</td> <td>\$446,384.64</td> <th></th> <td>Y</td>	ambayCS	Π	First Offer	- \$63.12	7072 / hour	\$446,384.64		Y
Aptuity Solutions Inc First Offer - \$64.00 7072 / hour \$452,608.00 Y Y Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Suplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Notes: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system: sprepare feasibility studies; prepare detailed specifications from which application software will be written; test and debige	roduct Code:				Supplier Product (Code:		<u>.</u>
Product Code: Supplier Product Code: Agency Notes: First Offer - \$64.00 7072 / hour \$452,608.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Agency Notes: First Offer - \$65.00 7072 / hour \$459,680.00 Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Supplier Notes: Thour supplication systems analysis and programming duties. Duties indude: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems from which application software will be written; test and debug new and existing application software will be written; test and debug new and existing application software	gency Notes:				Supplier Notes:			
Agency Notes: Supplier Notes: TRYFACTA, INC. First Offer - \$64.00 7072 / hour \$452,608.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Y Y </td <td>ptuity Solutions Inc</td> <td></td> <td>First Offer</td> <td>- \$64.00</td> <td>7072 / hour</td> <td>\$452,608.00</td> <th>Y</th> <td>Y</td>	ptuity Solutions Inc		First Offer	- \$64.00	7072 / hour	\$452,608.00	Y	Y
TRYFACTA, INC. First Offer - \$64.00 7072 / hour \$452,608.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate. Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Agency Notes: First Offer - \$65.00 7072 / hour \$459,680.00 Y Supplier Notes: Supplier Notes: Product Code: Supplier Notes: Supplier Notes: Agency Notes: First Offer - \$65.00 7072 / hour \$459,680.00 Y Supplier Notes: Supplier Notes: Supplier Notes:	roduct Code:				Supplier Product (Code:		
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software will be written; test and debug new and existing application software will be written; test and debug new and existing application software voide complete documentation for new or modified information systems and/or application software programs, including	gency Notes:							
Agency Notes:Supplier Notes:Supplier Notes:VArchFirst Offer - \$64.807072 / hour\$458,265.60YProduct Code: Agency Notes:Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate.Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate.Sullivan and CoglianoFirst Offer - \$65.007072 / hour\$459,680.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YProduct Code: Agency Notes:Supplier Notes:Supplier Notes:YPerforms application systems analysis and programming duties. Dutties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop performance testing plans; provide complete documentation for new or modified information systems; and/or application software programs, including	RYFACTA, INC.		First Offer	- \$64.00		1		Y
Arch First Offer - \$64.80 7072 / hour \$458,265.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate. Sullivan and Cogliano Y Product Code: Agency Notes: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate. Y Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Performs application systems analysis and programming duties. Duties indude: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop performance testing plans; provide complex develop software release management processes; develop performance testing plans; provide complex documentation for new or modified information systems and/or application software programs, including						Code:		
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate. Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software will be written; test and debug new and existing application software glans; provide complete documentation for new or modified information systems and/or application software programs, including								
Agency Notes: Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidate at a lower rate. Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including			First Offer	- \$64.80				Y
Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software will be written; test and debug new and existing papilication software groups and processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including							tha hill rat	o with full
Sullivan and Cogliano First Offer - \$65.00 7072 / hour \$459,680.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specification software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including	gency notes.							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
Agency Notes:Supplier Notes:'Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including	-		First Offer	- \$65.00				Y
¹ Performs application systems analysis and programming duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including					1	Code:		
duties. Duties include: confer with user community to conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including	gency Notes.				1	on systems analysis .	and progr	amming
conduct research and analysis to formulate and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								-
priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								-
systems; prepare feasibility studies; prepare detailed specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
specifications from which application software will be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified information systems and/or application software programs, including								
complete documentation for new or modified information systems and/or application software programs, including								
systems and/or application software programs, including								
							ograms, ir	ncluaing
					operational proced	ures and manuals.		
Performs application systems analysis and programming					Performs application	on systems ana l ysis a	and progra	amming
duties. Duties include: confer with user community to					duties. Duties inc l ue	de: confer with user	communi	ty to
conduct research and analysis to formulate and define							late and c	lefine
system requirements, scope and objectives; establish					a unta ma			

	County Commissioners			
		systems; prepare feas specifications from wh written; test and debu software; develop soft processes; develop pe complete documentat	progress of complex info ibility studies; prepare de nich application software g new and existing applic tware release manageme erformance testing plans; tion for new or modified ation software programs es and manuals.	etailed will be cation ent provide information
COGENT InfoTech Corporation	First Offer - \$65.00	7072 / hour	\$459,680.00	Y
Product Code:		Supplier Product Cod		
Agency Notes:		Supplier Notes:		
IT Data Solutions	First Offer - \$65.00	7072 / hour	\$459,680.00	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
Tri-Force Consulting Services, Inc.	First Offer - \$65.00	7072 / hour	\$459,680.00	Y
Product Code:		Supplier Product Coo	de:	
Agency Notes: TRG, Inc	First Offer - \$66.00	Supplier Notes: 7072 / hour	\$466,752.00	Y
Product Code:		Supplier Product Cod		
Agency Notes:		Supplier Notes:	uc.	
Tanim Consulting	First Offer - \$68.00	7072 / hour	\$480,896.00	Y
Product Code:	· ·	Supplier Product Cod	de: Programmer Analyst	
Agency Notes:		Supplier Notes:		
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$68.65	7072 / hour	\$485,492.80	Y
Product Code:		Supplier Product Coo	de:	
Agency Notes:	First Offer \$70.00	Supplier Notes:	¢ 405 0 40 00	Y
ManpowerGroup Sales Support Product Code:	First Offer - \$70.00	Supplier Product Cod	\$495,040.00	1
Agency Notes:		Supplier Notes:	uc.	
etech-360,Inc	First Offer - \$70.00	7072 / hour	\$495,040.00 Y	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		
Infojini, Inc.	First Offer - \$70.00	7072 / hour	\$495,040.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
SoftHQ, Inc	First Offer - \$72.00	7072 / hour	\$509,184.00	Y
Product Code:		Supplier Product Coo	de:	
Agency Notes:	First Offer #72.50	Supplier Notes:	¢512,720,00	v
22nd Century Technologies, Inc. Product Code:	First Offer - \$72.50	7072 / hour Supplier Product Cod	\$512,720.00	Y
Agency Notes:		Supplier Notes:	uc.	
Digital Intelligence Systems, LLC	First Offer - \$73.00	7072 / hour	\$516,256.00	Y
Product Code:		Supplier Product Cod		
Agency Notes:		Supplier Notes:		
Lumen Solutions Inc	First Offer - \$73.00	7072 / hour	\$516,256.00	Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Kellton Tech	First Offer - \$75.00	7072 / hour	\$530,400.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Blue Chip Talent	First Offer - \$75.26	7072 / hour	\$532,238.72	Y

	County Commissioners		
Product Code:	Supplier Product Code:		
Agency Notes:		Supplier Notes:	
Tech Army, LLC	First Offer - \$77.02	7072 / hour \$544,685.44	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cloud Consulting Services Inc	First Offer - \$79.00	7072 / hour \$558,688.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
vTech Solution Inc.	First Offer - \$79.42		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
DatamanUSA, LLC	First Offer - \$80.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offen to1 00	Supplier Notes:	V
Interscripts,Inc.	First Offer - \$81.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
PriceSenz LLC	First Offer - \$81.00	- ···	Y
Product Code:		Supplier Product Code:	•
Agency Notes:		Supplier Notes:	
Innovative Systems Group of Florida	First Offer - \$83.30		Y
Product Code:	1150 01101 405.50	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
RADgov, Inc.	First Offer - \$84.22		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TAD PGS	First Offer - \$85.00	7072 / hour \$601,120.00	Y
Product Code:	t ·	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
MNK Infotech	First Offer - \$88.50	7072 / hour \$625,872.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
FAAZ consulting	First Offer - \$89.00	7072 / hour \$629,408.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
MSys Inc [Ad]	First Offer - \$95.00	7072 / hour \$671,840.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Elegant Enterprise Wide Solutions	First Offer - \$98.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
CDW-Government LLC	First Offer - \$170.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	

TRN2122277B101-07 Database Analyst						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Prelude systems pvt. ltd.	First Offer - \$0.00	5048 / hour	\$0.00	Y	Y	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Pricing included in the proposal.						
ADAMS ENTERPRISE USA, INC	Alt 1 - \$3.00	5048 / hour	\$15,144.00		Y	

	County Commissioners	5	
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes: Alternate Offer Amount	
ADAMS ENTERPRISE USA, INC	First Offer - \$4.0		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Cynet Systems	First Offer - \$20.0		Y
Product Code:		Supplier Product Code:	•
Agency Notes:		Supplier Notes:	
Sensatech LLC	First Offer - \$21.0		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
BuzzClan	First Offer - \$26.1		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$28.0	8 5048 / hour \$141,747.84	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Flysoft Inc	First Offer - \$29.0	0 5048 / hour \$146,392.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Action Group MGMT	First Offer - \$30.0	0 5048 / hour \$151,440.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$35.0	0 5048 / hour \$176,680.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Moten Tate, INc.	First Offer - \$35.5	4 5048 / hour \$179,405.92	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Alrek Business Solutions Inc.	First Offer - \$45.0		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offers #45.0	Supplier Notes:	V
Krasan Consulting Services, Inc.	First Offer - \$45.0		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
DVTECK	First Offer - \$45.0		Y
Product Code:	First Offer - \$45.0	Supplier Product Code:	1
Agency Notes:		Supplier Notes:	
Information Consultants Inc	First Offer - \$46.0		Y
Product Code:		Supplier Product Code:	· ·
Agency Notes:		Supplier Notes:	
Oready	First Offer - \$46.4		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Bleu Stream Corp	First Offer - \$50.0		Y
Product Code:		Supplier Product Code:	1
Agency Notes:		Supplier Notes:	
ResourceX	First Offer - \$50.0	0 5048 / hour \$252,400.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
4BBCorp [Ad]	First Offer - \$50.8	1 5048 / hour \$256,488.88	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
		Pay Rate: BLS - Miami-Fort Lauderdale-West Palm	n Beach,
		FL Median Hourly Wage (50%)	

	 1					
Crown Services	First Offer	- \$52.65	5048 / hour	\$265,777.20		Y
Product Code: Agency Notes:			placements from o offering full benefit	own Services provide ur pool of candidates s, PTO, Holiday Pay a affording our client(s	to clients nd benefit	while is to our
TECKpert	First Offer	- \$54.00	5048 / hour	\$272,592.00		Y
Product Code:	 		Supplier Product	I	1	
Agency Notes:			Supplier Notes:			
US Tech Solutions, Inc.	First Offer	- \$54.00	5048 / hour	\$272,592.00		Y
Product Code: Agency Notes:	÷		Supplier Product (Supplier Notes:	Code:		
Ascension Global Staffing & Executive Search	First Offer	- \$54.63	5048 / hour	\$275,772.24		Y
Product Code:	 ·		Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
COCHHBHA ENTERPRISES, INC	First Offer	- \$54.72	5048 / hour	\$276,226.56		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
CambayCS	First Offer	- \$54.76	5048 / hour	\$276,428.48		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
IT Mantra	First Offer	- \$55.00	5048 / hour	\$277,640.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	I	
COGENT InfoTech Corporation	First Offer	- \$58.50	5048 / hour	\$295,308.00		Y
Product Code: Agency Notes:	 ·		Supplier Product Supplier Notes:	Code:		
Abacus Service Corporation	First Offer	- \$58.59	5048 / hour	\$295,762.32		Y
Product Code:			Supplier Product	Code:		
Agency Notes:	 		Supplier Notes:			
Global Solutions Group, Inc.	First Offer	- \$58.88	5048 / hour	\$297,226.24		Y
Product Code: Agency Notes:	 		Supplier Product Supplier Notes:	Code:		
Darwin Recruitment	First Offer	- \$59.00	5048 / hour	\$297,832.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
PeopleNTech LLC	First Offer	- \$60.00	5048 / hour	\$302,880.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Hire Hero	First Offer	- \$60.00	5048 / hour	\$302,880.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:	 		Supplier Notes:			
VGreen Enterprises	First Offer	- \$60.07	5048 / hour	\$303,233.36		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Next Generation Recruitment and Staffing Agency	First Offer	- \$61.50	5048 / hour	\$310,452.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

	County Commissioners		
InstantServe	First Offer - \$63.00	5048 / hour \$318,024.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Beacon Systems, Inc.	First Offer - \$63.10	5048 / hour \$318,528.80	Y
Product Code: Agency Notes:		Supplier Product Code: Database Analy Supplier Notes: Database Analyst Rate	st
TRYFACTA, INC.	First Offer - \$64.00	5048 / hour \$323,072.00	Y
Product Code:		Supplier Product Code:	I
Agency Notes:		Supplier Notes:	
LanceSoft	First Offer - \$64.80	5048 / hour \$327,110.40	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Arch Product Code:	First Offer - \$64.80	5048 / hour \$327,110.40 Supplier Product Code:	Y
		at a lower rate.	
TRG, Inc	First Offer - \$65.00	5048 / hour \$328,120.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
IT Data Solutions	First Offer - \$65.00	5048 / hour \$328,120.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
SoftHQ, Inc	First Offer - \$66.00	5048 / hour \$333,168.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Blue Chip Talent	First Offer - \$66.78	5048 / hour \$337,105.44	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$67.12		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1
Changing Technologies Inc.	First Offer - \$67.29	5048 / hour \$339,679.92	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Sullivan and Cogliano	First Offer - \$70.00	5048 / hour \$353,360.00	Y
Product Code:		Supplier Product Code:	1 1
Agency Notes:		Supplier Notes:	

		application of fixes; in monitors and tunes d technical problems ar	id, process of database so nplements and maintains latabase; provides resolut nd overall monitoring of th is and integration of syste	catalogs; ion to ne
		50.40.41	taca 504.00	Y
ManpowerGroup Sales Support Product Code:	First Offer - \$73.00	5048 / hour	\$368,504.00	Y
Agency Notes:		Supplier Product Co Supplier Notes:	ae:	
Tanim Consulting	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co		
Agency Notes:		Supplier Notes:		
Kellton Tech	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Cloud Consulting Services Inc	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:	to70 c00 00	
Interscripts,Inc.	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Infojini, Inc.	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co		
Agency Notes:		Supplier Notes:		
22nd Century Technologies, Inc.	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
PriceSenz LLC	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Tri-Force Consulting Services, Inc.	First Offer - \$75.00	5048 / hour	\$378,600.00	Y
Product Code:		Supplier Product Co	I	
Agency Notes:		Supplier Notes:		
Innovative Systems Group of Florida	First Offer - \$75.60	5048 / hour	\$381,628.80	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Tech Army, LLC	First Offer - \$76.91	5048 / hour Supplier Product Co	\$388,241.68	Y
	roduct Code:		de:	
Agency Notes: Digital Intelligence Systems, LLC	First Offer - \$79.00	Supplier Notes: 5048 / hour	\$398,792.00	Y
Product Code:	III3COIIEI - \$79.00	Supplier Product Co		
			MC.	

Agency Notes:		Supplier Notes:			
DatamanUSA, LLC	First Offer - \$80.00	5048 / hour	\$403,840.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
SRS CONSULTING INC	First Offer - \$80.00	5048 / hour	\$403,840.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
etech-360,Inc	First Offer - \$80.00	5048 / hour	\$403,840.00	Y	Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
MNK Infotech	First Offer - \$80.25	5048 / hour	\$405,102.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Aptuity Solutions Inc	First Offer - \$83.00	5048 / hour	\$418,984.00	Y	Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
FAAZ consulting	First Offer - \$85.00	5048 / hour	\$429,080.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:	First Offen (107.00	Supplier Notes:	£ 420 (20 22		v
RADgov, Inc.	First Offer - \$87.09	5048 / hour	\$439,630.32		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	.ode:		
TAD PGS	First Offer - \$90.00	5048 / hour	\$454,320.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Lumen Solutions Inc	First Offer - \$93.00	5048 / hour	\$469,464.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
vTech Solution Inc.	First Offer - \$102.31	5048 / hour	\$516,460.88		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Elegant Enterprise Wide Solutions	First Offer - \$110.00	5048 / hour	\$555,280.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
MSys Inc [Ad]	First Offer - \$118.00	5048 / hour	\$595,664.00		Y
Product Code:		Supplier Product C		[
Agency Notes:		Supplier Notes:			
CDW-Government LLC	First Offer - \$170.00	5048 / hour	\$858,160.00		Y
Product Code:		Supplier Product C	· · ·		
Agency Notes:		Supplier Notes:			

TRN2122277B101-08 Project Manager I						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.		First Offer - \$0.00	11120 / hour	\$0.00	Y	Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
			Pricing included in t	he proposal.		
ADAMS ENTERPRISE USA, INC	Γ	Alt 1 - \$3.00	11120 / hour	\$33,360.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes: Alternate Offer Amount			
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	11120 / hour	\$44,480.00		Y
Product Code:			Supplier Product (Code:		

	County Commissioners		
Agency Notes:		Supplier Notes:	
Sensatech LLC	First Offer - \$19.00	11120 / hour \$211,280.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cynet Systems	First Offer - \$30.00	11120 / hour \$333,600.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Flysoft Inc	First Offer - \$30.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offen (#22.2)	Supplier Notes:	V
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$32.24		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Action Group MGMT	First Offer - \$33.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$35.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
DVTECK	First Offer - \$35.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
4BBCorp [Ad]	First Offer - \$35.69	11120 / hour \$396,872.80	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
		Pay Rate: BLS - Miami-Fort Lauderdale-West P	alm Beach,
		FL Median Hourly Wage (50%)	
Information Consultants Inc	First Offer - \$39.00	11120 / hour \$433,680.00	Y
Product Code:		Supplier Product Code:	·
Agency Notes:		Supplier Notes:	
Moten Tate, INc.	First Offer - \$39.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Bleu Stream Corp	First Offer - \$40.00	11120 / hour \$444,800.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$41.78		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TECKpert	First Offer - \$42.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Ascension Global Staffing & Executive Search	First Offer - \$42.87		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$44.44	Supplier Notes: 11120 / hour \$494,172,80	Y
Oready Product Code:	First Offer - \$44.42		T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Crown Services	First Offer - \$44.55		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes: Crown Services provides Ten	np to Perm

			offering full benefits	ur pool of candidates s, PTO, Holiday Pay an affording our client(s) dates.	d benefits	to our
Darwin Recruitment		First Offer - \$49.00	11120 / hour	\$544,880.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Beacon Systems, Inc.		First Offer - \$49.52	11120 / hour	\$550,662.40		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Project Manager I R	C ode: Project Manager	rı	
Hire Hero	Π	First Offer - \$50.00	11120 / hour	\$556,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
VGreen Enterprises		First Offer - \$50.14	11120 / hour	\$557,556.80		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
US Tech Solutions, Inc.		First Offer - \$53.50	11120 / hour	\$594,920.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Global Solutions Group, Inc.		First Offer - \$54.47	11120 / hour	\$605,706.40		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
BuzzClan		First Offer - \$57.25	11120 / hour	\$636,620.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes: Arch		First Offer - \$57.60	Supplier Notes: 11120 / hour	\$640,512.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes: This is the estimate possible the rate m at a lower rate.	of the bill rate with fu ay come in lower if we		s
IT Mantra		First Offer - \$60.00	11120 / hour	\$667,200.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes: TRG, Inc		First Offer - \$60.00	Supplier Notes: 11120 / hour	\$667,200.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	·		
ResourceX	Π	First Offer - \$60.00	11120 / hour	\$667,200.00		Y
Product Code:			Supplier Product C	I	1	_

	County Commissioners	
Agency Notes:		Supplier Notes:
Next Generation Recruitment and Staffing Agency	First Offer - \$62.99	11120 / hour \$700,448.80 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tech Army, LLC	First Offer - \$63.08	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
InstantServe	First Offer - \$64.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
CambayCS	First Offer - \$64.81	11120 / hour \$720,687.20 Y
Product Code:	Filst Offer - \$04.61	Supplier Product Code:
Agency Notes:		Supplier Notes:
PeopleNTech LLC	First Offer - \$65.00	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tanim Consulting	First Offer - \$65.00	
Product Code:		Supplier Product Code: Project Manager I
Agency Notes:		Supplier Notes:
Abacus Service Corporation	First Offer - \$67.60	11120 / hour \$751,712.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Digital Intelligence Systems, LLC	First Offer - \$68.00	11120 / hour \$756,160.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Innovative Systems Group of Florida	First Offer - \$70.00	11120 / hour \$778,400.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
IT Data Solutions	First Offer - \$70.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
RADgov, Inc.	First Offer - \$71.22	11120 / hour \$791,966.40 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
LanceSoft	First Offer - \$71.39	11120 / hour \$793,856.80 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
COGENT InfoTech Corporation	First Offer - \$71.50	11120 / hour \$795,080.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
TRYFACTA, INC.	First Offer - \$72.32	11120 / hour \$804,198.40 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Changing Technologies Inc.	First Offer - \$73.50	
Product Code:		Supplier Product Code:
Agency Notes:	First 075 47100	Supplier Notes:
Aptuity Solutions Inc	First Offer - \$74.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
DatamanUSA, LLC	First Offer - \$75.00	
Product Code:	11300181 - \$75.00	Supplier Product Code:
Agency Notes:		Supplier Notes:
ManpowerGroup Sales Support	First Offer - \$76.50	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Cloud Consulting Services Inc	First Offer - \$78.00	+ ··

	County Commissioners	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
22nd Century Technologies, Inc.	First Offer - \$78.75	11120 / hour \$875,700.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
NewCom C3 Planners	First Offer - \$80.00	11120 / hour \$889,600.00 Y
Product Code: Agency Notes:	<u>.</u>	Supplier Product Code: Supplier Notes:
Sullivan and Cogliano	First Offer - \$80.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Performs application systems analysis and programming duties. Duties include: confer with us community to conduct research and analysis to formula and define system requirements, scope and objectives; establish priorities and monitor progress of complex information systems; prepare feasibility studies; prepare detailed specifications from which application software to be written; test and debug new and existing application software; develop software release management processes; develop performance testing plans; provide complete documentation for new or modified informati systems and/or application software programs, includin operational procedures and manuals.
Alrek Business Solutions Inc. Product Code:	First Offer - \$80.00	11120 / hour \$889,600.00 Y Supplier Product Code:
Agency Notes:		Supplier Notes:
Krasan Consulting Services, Inc.	First Offer - \$80.00	11120 / hour \$889,600.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
etech-360,Inc	First Offer - \$80.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$80.32	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
PriceSenz LLC	First Offer - \$81.00	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Kellton Tech	First Offer - \$85.00	11120 / hour \$945,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
MSys Inc [Ad]	First Offer - \$85.00	11120 / hour \$945,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
FAAZ consulting	First Offer - \$85.00	11120 / hour \$945,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Infojini, Inc.	First Offer - \$85.00	11120 / hour \$945,200.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tri-Force Consulting Services, Inc.	First Offer - \$85.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Blue Chip Talent	First Offer - \$86.92	11120 / hour \$966,550.40 Y
Product Code:		Supplier Product Code:

Agency Notes:		Supplier Notes:			
SoftHQ, Inc	First Offer - \$88.00	11120 / hour	\$978,560.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Interscripts,Inc.	First Offer - \$90.00	11120 / hour	\$1,000,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Lumen Solutions Inc	First Offer - \$93.00	11120 / hour	\$1,034,160.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MNK Infotech	First Offer - \$93.84	11120 / hour	\$1,043,500.80		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Elegant Enterprise Wide Solutions	First Offer - \$95.00	11120 / hour	\$1,056,400.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SRS CONSULTING INC	First Offer - \$95.00	11120 / hour	\$1,056,400.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
TAD PGS	First Offer - \$105.00	11120 / hour	\$1,167,600.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
vTech Solution Inc.	First Offer - \$112.45	11120 / hour	\$1,250,444.00		Y
Product Code: Agency Notes:	·	Supplier Product (Supplier Notes:	Code:		
CDW-Government LLC	First Offer - \$165.00	11120 / hour	\$1,834,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

TRN2122277B1-01-09 Project Manager II (Advance	" ,					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.		First Offer - \$0.00	13144 / hour	\$0.00	Y	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
			Pricing included in	the proposal.		
ADAMS ENTERPRISE USA, INC		Alt 1 - \$3.00	13144 / hour	\$39,432.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes: Al	Code: ternate Offer Amour	t	
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	13144 / hour	\$52,576.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Sensatech LLC		First Offer - \$29.00	13144 / hour	\$381,176.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Flysoft Inc		First Offer - \$31.00	13144 / hour	\$407,464.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Cynet Systems		First Offer - \$35.00	13144 / hour	\$460,040.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$37.44	13144 / hour	\$492,111.36		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

	Broward County Board of County Commissioners		TRN212227
Action Group MGMT	First Offer - \$38.00	13144 / hour \$499,472.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Information Consultants Inc	First Offer - \$39.00	13144 / hour \$512,616.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
4BBCorp [Ad]	First Offer - \$39.37	13144 / hour \$517,479.28	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale-Wes FL Median Hourly Wage (50%)	t Palm Beach,
Beryllus Consulting & Staffing	First Offer - \$41.00	13144 / hour \$538,904.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$41.78	13144 / hour \$549,156.32	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TECKpert	First Offer - \$43.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Oready	First Offer - \$44.00	13144 / hour \$578,336.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Bleu Stream Corp	First Offer - \$45.00	13144 / hour \$591,480.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
DVTECK	First Offer - \$45.00	13144 / hour \$591,480.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Moten Tate, INc.	First Offer - \$45.50	13144 / hour \$598,052.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Crown Services	First Offer - \$45.90	13144 / hour \$603,309.60	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Crown Services provides T placements from our pool of candidates to offering full benefits, PTO, Holiday Pay and associates thereby affording our client(s) we and qualified candidates.	clients while benefits to our
Beacon Systems, I nc.	First Offer - \$49.52	13144 / hour \$650,890.88	Y
Product Code:		Supplier Product Code: Project Manager II	
Agency Notes:		Supplier Notes: Project Manager II (Advand	ced) Rate
VGreen Enterprises	First Offer - \$50.14	13144 / hour \$659,040.16	Y
Product Code:		Supplier Product Code:	

9/22/2021

Agency Notes:		,		Supplier Notes:		
Ascension Global Staffing & Executive Search	Π	First Offer -	\$53.59	13144 / hour	\$704,386.96	Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:	Code:	
Hire Hero	TT	First Offer -	\$56.25	13144 / hour	\$739,350.00	Y
Product Code:		The offer	+00120	Supplier Product (I	
Agency Notes:				Supplier Notes:		
TRG, Inc	Π	First Offer -	\$65.00	13144 / hour	\$854,360.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:				Supplier Notes:		
BuzzClan		First Offer -	\$66.25	13144 / hour	\$870,790.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:				Supplier Notes:		
US Tech Solutions, Inc.		First Offer -	\$67.50	13144 / hour	\$887,220.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:			+	Supplier Notes:		
Global Solutions Group, Inc.		First Offer -	\$69.32	13144 / hour	\$911,142.08	Y
Product Code:				Supplier Product (Supplier Notes:	Code:	
Agency Notes: Tech Army, LLC		First Offer -	\$60.24	13144 / hour	\$911,404.96	Y
Product Code:		First Offer	\$09.34			I
Agency Notes:				Supplier Product (Supplier Notes:	Loue.	
Next Generation Recruitment and Staffing Agency	TT	First Offer -	\$70.50	13144 / hour	\$926,652.00	Y
Product Code:				Supplier Product (
Agency Notes:				Supplier Notes:		
Arch	Π	First Offer -	\$72.00	13144 / hour	\$946,368.00	Y
				possible the rate m at a lower rate.	ay come in l ower if we find	d a candidate
PeopleNTech LLC	TT	First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:				Supplier Notes:		
IT Mantra		First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:	Code:	
Tanim Consulting	\square	First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code:				Supplier Product (C ode: Project Manager II (A	Advanced)
Agency Notes:				Supplier Notes:		
ResourceX		First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:				Supplier Notes:		
IT Data Solutions		First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code:				Supplier Product (Code:	
Agency Notes:	TT			Supplier Notes:		
InstantServe		First Offer -	\$75.00	13144 / hour	\$985,800.00	Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:	Lode:	

	County Commissioners		
CambayCS	First Offer - \$75.55	13144 / hour \$993,029.20	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$78.00	13144 / hour \$1,025,232.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Changing Technologies Inc.	First Offer - \$78.00	13144 / hour \$1,025,232.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$79.00	13144 / hour \$1,038,376.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$80.00	13144 / hour \$1,051,520.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
LanceSoft	First Offer - \$81.13	13144 / hour \$1,066,372.72	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
22nd Century Technologies, Inc.	First Offer - \$81.25	13144 / hour \$1,067,950.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Innovative Systems Group of Florida	First Offer - \$84.00	13144 / hour \$1,104,096.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Abacus Service Corporation	First Offer - \$84.50	13144 / hour \$1,110,668.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COGENT InfoTech Corporation	First Offer - \$84.50	13144 / hour \$1,110,668.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
NewCom C3 Planners	First Offer - \$85.00	13144 / hour \$1,117,240.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Aptuity Solutions Inc	First Offer - \$85.00	13144 / hour \$1,117,240.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
DatamanUSA, LLC	First Offer - \$85.00	13144 / hour \$1,117,240.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
etech-360,Inc	First Offer - \$85.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cloud Consulting Services Inc	First Offer - \$88.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
RADgov, Inc.	First Offer - \$89.03		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	_
PriceSenz LLC	First Offer - \$94.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
	First Offer - \$95.00		Y
Alrek Business Solutions Inc.			
Product Code:		Supplier Product Code:	
Product Code: Agency Notes:		Supplier Notes:	
Product Code:	First Offer - \$95.00	Supplier Notes:	Y

Agency Notes:		Supplier Notes:			
TRYFACTA, INC.	First Offer - \$95.38	13144 / hour	\$1,253,674.72		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$95.87	13144 / hour	\$1,260,115.28		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	 	Supplier Notes:			
Blue Chip Talent	First Offer - \$97.52	13144 / hour	\$1,281,802.88		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Infojini, Inc.	First Offer - \$98.00	13144 / hour	\$1,288,112.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	 	Supplier Notes:			
SoftHQ, Inc	First Offer - \$102.16	13144 / hour	\$1,342,791.04		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Interscripts,Inc.	First Offer - \$105.00	13144 / hour	\$1,380,120.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	 	Supplier Notes:			
Lumen Solutions Inc	First Offer - \$106.00	13144 / hour	\$1,393,264.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Kellton Tech	First Offer - \$110.00	13144 / hour	\$1,445,840.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	 	Supplier Notes:			
Sullivan and Cogliano	First Offer - \$110.00	13144 / hour	\$1,445,840.00		Y
		levels of complexity varying size and cor to ensure proper m project plans; ensur members roles and and monitor activiti time and within but deliverables and ap communicate proje	vities of large IT proj v. Duties include: mai mplexity; may overse nanagement; create a re that users and pro responsibilities are es to ensure project dget; ensures that us provals are defined ect status; promote u re delivery of a produ	nage proje ee multiple and maint oject team defined; co is comple ser require and docur ise of PMI	ects of e projects ain oordinate ted on ements, mented; best
SRS CONSULTING INC	First Offer - \$110.00	13144 / hour	\$1,445,840.00		Y
Product Code:		Supplier Product C	l		

Agency Notes:		Supplier Notes:		
FAAZ consulting	First Offer - \$110.00	13144 / hour	\$1,445,840.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
TAD PGS	First Offer - \$115.00	13144 / hour	\$1,511,560.00	Y
Product Code: Agency Notes:	·	Supplier Product (Supplier Notes:	Code:	
MSys Inc [Ad]	First Offer - \$115.00	13144 / hour	\$1,511,560.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Tri-Force Consulting Services, Inc.	First Offer - \$115.00	13144 / hour	\$1,511,560.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
MNK Infotech	First Offer - \$115.60	13144 / hour	\$1,519,446.40	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
vTech Solution Inc.	First Offer - \$122.36	13144 / hour	\$1,608,299.84	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Elegant Enterprise Wide Solutions	First Offer - \$125.00	13144 / hour	\$1,643,000.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
CDW-Government LLC	First Offer - \$185.00	13144 / hour	\$2,431,640.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	

TRN2122277B101-10 Business Analyst					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	9096 / hour	\$0.00	Y	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: Pricing included in			
ADAMS ENTERPRISE USA, INC	Alt 1 - \$3.00	9096 / hour	\$27,288.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: A	Code: Iternate Offer Amour	ıt	
ADAMS ENTERPRISE USA, INC	First Offer - \$4.00	9096 / hour	\$36,384.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Sensatech LLC	First Offer - \$19.00	9096 / hour	\$172,824.00		Y
Product Code: Agency Notes:	 ·	Supplier Product Supplier Notes:	Code:		-
Flysoft Inc	First Offer - \$20.00	9096 / hour	\$181,920.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Moten Tate, INc.	First Offer - \$28.60	9096 / hour	\$260,145.60		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Action Group MGMT	First Offer - \$32.00	9096 / hour	\$291,072.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$32.24	9096 / hour	\$293,255.04		Y
Product Code: Agency Notes:	 ·	Supplier Product Supplier Notes:	Code:		
Beryllus Consulting & Staffing	First Offer - \$33.00	9096 / hour	\$300,168.00		Y

Product Code:				Supplier Product C	ode:		
Agency Notes:		First Offer	¢22.16	Supplier Notes: 9096 / hour	¢201 622 26		
Oready		First Offer	- \$33.16		\$301,623.36		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes:	oae:		
4BBCorp [Ad]		First Offer -	\$34.62	9096 / hour	\$314,903.52		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes: Pay West Palm Beach, FL			lale-
Cynet Systems		First Offer	- \$35.00	9096 / hour	\$318,360.00		Y
Product Code:				Supplier Product C	ode:		
Agency Notes:				Supplier Notes:			
BuzzClan		First Offer	\$36.12	9096 / hour	\$328,547.52		Y
Product Code:				Supplier Product C	ode:		
Agency Notes:			+20.00	Supplier Notes:	+25474400		.,
Information Consultants Inc		First Offer -	- \$39.00	9096 / hour	\$354,744.00		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes:	ode:		
Bleu Stream Corp		First Offer -	\$40.00	9096 / hour	\$363,840.00		Y
Product Code:		First Offer	- \$40.00	Supplier Product Co			-
Agency Notes:				Supplier Notes:	oue.		
US Tech Solutions, Inc.	Т	First Offer -	- \$41.00	9096 / hour	\$372,936.00		Y
Product Code:				Supplier Product C		1	
Agency Notes:				Supplier Notes:			
COCHHBHA ENTERPRISES, INC		First Offer -	\$41.78	9096 / hour	\$380,030.88		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes:	ode:		
TECKpert		First Offer	\$42.50	9096 / hour	\$386,580.00		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes:	ode:		
Ascension Global Staffing & Executive Search		First Offer -	- \$42.87	9096 / hour	\$389,945.52		Y
Product Code: Agency Notes:				Supplier Product C Supplier Notes:	ode:		
Crown Services		First Offer -	\$/3.20	9096 / hour	\$392,947.20		Y
Product Code: Agency Notes:				Supplier Product C Supplier Notes: Cro placements from ou offering full benefits	ode: wm Services provide: Ir pool of candidates , PTO, Holiday Pay ar ffording our client(s)	to clients w nd benefits t	hile to our
DVTECK		First Offer -	\$45.00	9096 / hour	\$409,320.00		Y
Product Code: Agency Notes:				Supplier Product Co Supplier Notes:	ode:		
TRYFACTA, INC.	Π	First Offer -	- \$48.26	9096 / hour	\$438,972.96		Y
Product Code: Agency Notes:				Supplier Product C Supplier Notes:			
Global Solutions Group, Inc.		First Offer	\$48.88	9096 / hour	\$444,612.48		Y
Product Code:			+ .5.00	Supplier Product Co			
Agency Notes:				Supplier Notes:			

	oward County Board of ounty Commissioners			TRN21222
Darwin Recruitment	First Offer - \$49.00	9096 / hour	\$445,704.00	Y
Product Code:	 	Supplier Product		
Agency Notes:		Supplier Notes:		
Abacus Service Corporation	First Offer - \$49.40	9096 / hour	\$449,342.40	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Beacon Systems, Inc.	First Offer - \$49.52	9096 / hour	\$450,433.92	Y
Product Code:		Supplier Product	Code: Business Analyst	
Agency Notes:		Supplier Notes: Business Analyst R	ate	
IT Mantra	First Offer - \$50.00	9096 / hour	\$454,800.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:	1	
ResourceX	First Offer - \$50.00	9096 / hour	\$454,800.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
VGreen Enterprises	First Offer - \$50.14	9096 / hour	\$456,073.44	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Hire Hero	First Offer - \$52.50	9096 / hour	\$477,540.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
CambayCS	First Offer - \$53.91	9096 / hour	\$490,365.36	Y
Product Code:		Supplier Product		
Agency Notes:		Supplier Notes:		
COGENT InfoTech Corporation	First Offer - \$54.60	9096 / hour	\$496,641.60	Y
Product Code:		Supplier Product	Code:	
Agency Notes: Alrek Business Solutions Inc.	First Offer - \$55.00	Supplier Notes: 9096 / hour	\$500,280.00	Y
Product Code:		Supplier Product		
Agency Notes:		Supplier Notes:		
Krasan Consulting Services, Inc.	First Offer - \$55.00	9096 / hour	\$500,280.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Arch	First Offer - \$57.60	9096 / hour	\$523,929.60	Y
Product Code: Agency Notes:			code: e of the bill rate with full co hay come in lower if we fir	
COMPUNNEL SOFTWARE GROUP, INC Product Code: Agency Notes:	 First Offer - \$58.09	9096 / hour Supplier Product Supplier Notes:	\$528,386.64 Code:	Y
Changing Technologies Inc.	First Offer - \$58.11	9096 / hour	\$528,568.56	Y
Product Code:		Supplier Product	II	

	Co	ounty Commissioners			
Agency Notes:			Supplier Notes:		
nnovative Systems Group of Florida		First Offer - \$59.50		\$541,212.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		_
PeopleNTech LLC		First Offer - \$60.00		\$545,760.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:		First Offer - \$60.00	Supplier Notes: 9096 / hour	\$545,760.00	Y
TRG, Inc		FILSE OTHER - \$60.00			T
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Lode:	
DatamanUSA, LLC		First Offer - \$60.00		\$545,760.00	Y
Product Code:			Supplier Product (· · · · · · · · · · · · · · · · · · ·	•
Agency Notes:			Supplier Notes:	couc.	
Cloud Consulting Services Inc	TT	First Offer - \$60.0		\$545,760.00	Y
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:		
T Data Solutions		First Offer - \$60.0) 9096 / hour	\$545,760.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
InstantServe		First Offer - \$60.0) 9096 / hour	\$545,760.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
LanceSoft		First Offer - \$61.0	9096 / hour	\$555,128.88	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Tanim Consulting		First Offer - \$65.0		\$591,240.00	Y
Product Code:			1	Code: Business Analyst	
Agency Notes:		First Offer - \$65.0	Supplier Notes: 9096 / hour	¢E01 240 00	Y
Sullivan and Cogliano Product Code:		FIISLOHEI - \$05.0	Supplier Product (\$591,240.00	1
Agency Notes:			analysis while consi implications of the future business en- process change thr with existing ones a business users; for objectives; develop information; facilita solutions; analyze b requirements and o	orks with most phases of sys idering the business and tech application of technology to a vironments. Duties include: c rough the integration of new and communication of chang mulate and define systems s and modify moderately com ate the delivery of technical bi business and user needs, doo devise technical solutions; rea y improvement efforts.	nnical current and reate processes es to cope and plex usiness ument
Next Generation Recruitment and Staffing Agency					

	County Commissioners	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Digital Intelligence Systems, LLC	First Offer - \$67.00	9096 / hour \$609,432.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Aptuity Solutions Inc	First Offer - \$68.00	9096 / hour \$618,528.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
ManpowerGroup Sales Support	First Offer - \$68.50	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Blue Chip Talent	First Offer - \$68.90	9096 / hour \$626,714.40 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
etech-360,Inc	First Offer - \$70.00	9096 / hour \$636,720.00 Y Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Infojini, Inc.	First Offer - \$70.00	9096 / hour \$636,720.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
RADgov, Inc.	First Offer - \$71.22	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
22nd Century Technologies, Inc.	First Offer - \$71.25	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
SoftHQ, Inc	First Offer - \$72.00	9096 / hour \$654,912.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Kellton Tech	First Offer - \$75.00	9096 / hour \$682,200.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
SRS CONSULTING INC	First Offer - \$75.00	9096 / hour \$682,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Tri-Force Consulting Services, Inc.	First Offer - \$75.00	9096 / hour \$682,200.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Interscripts,Inc.	First Offer - \$76.00	9096 / hour \$691,296.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Tech Army, LLC	First Offer - \$77.16	9096 / hour \$701,847.36 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Lumen Solutions Inc	First Offer - \$79.00	9096 / hour \$718,584.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PriceSenz LLC	First Offer - \$79.00	9096 / hour \$718,584.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
NewCom C3 Planners	First Offer - \$80.00	9096 / hour \$727,680.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
FAAZ consulting	First Offer - \$80.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:

MNK Infotech		First Offer - \$81.60	9096 / hour	\$742,233.60		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
MSys Inc [Ad]	Π	First Offer - \$85.00	9096 / hour	\$773,160.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
vTech Solution Inc.		First Offer - \$92.71	9096 / hour	\$843,290.16		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Elegant Enterprise Wide Solutions		First Offer - \$95.00	9096 / hour	\$864,120.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
TAD PGS		First Offer - \$95.00	9096 / hour	\$864,120.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
CDW-Government LLC		First Offer - \$150.00	9096 / hour	\$1,364,400.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

TRN2122277B1–01-11 IT Administration Coordinator						
Supplier		Unit Price	Qty/Unit	Total Pric	e Attch.	Docs
Prelude systems pvt. ltd.		First Offer - \$0.00	3024 / hour	\$0.00) Y	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Pricing included in t			
ADAMS ENTERPRISE USA, INC	П	Alt 1 - \$3.00	3024 / hour	\$9,072.00		Y
Product Code: Agency Notes:		AIL 1 - \$5.00	Supplier Product C Supplier Notes: Alt	Code:		1
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	3024 / hour	\$12,096.00)	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cynet Systems	Π	First Offer - \$17.50	3024 / hour	\$52,920.00)	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Oready		First Offer - \$18.33	3024 / hour	\$55,429.92	2	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		-
Action Group MGMT	Π	First Offer - \$19.00	3024 / hour	\$57,456.00)	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$19.24	3024 / hour	\$58,181.76	5	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
4BBCorp [Ad]		First Offer - \$19.80	3024 / hour	\$59,875.20)	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Pa West Palm Beach, F	ıy Rate: BLS - Miam		
Information Consultants Inc		First Offer - \$20.00	3024 / hour	\$60,480.00)	Y

Agency Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Agency Notes: Supplier Product Code: Supplier Notes: Y Y Product Code: Supplier Product Code: Supplier Notes: Y Y Namen Take, Nr. First Offer - 122.00 302.4 / hour \$69,552.00 Y Y Product Code: Supplier Product Code: Supplier Notes: Y Y Y Agency Notes: Supplier Notes: Supplier Notes: Y Y Agency Notes: Supplier Notes: Supplier Notes: Y Y Agency Notes: Supplier Notes:<	Product Code:	00		Supplier Product (Code:		
Product Code Suppler Product Code: Agency Notes: Suppler Product Code: Agency Notes: Suppler Notes: Agency Notes: Suppler Product Code: Agency Notes: Suppler Notes: IT Manza First Offer - \$22.00 3024 / hour \$66,528.00 Y Product Code: Suppler Product Code: Suppler Product Code: Suppler Product Code: Y Agency Notes: Suppler Product Code: Suppler Product Code: Y Y Agency Notes: Suppler Product Code: Suppler Product Code: Y Y Agency Notes: Suppler Product Code: Suppler Product Code: Y Y Agency Notes: Suppler Product Code: Suppler Product Code: Y Y Agency Notes: Suppler Product Code: Suppler Notes: Y Y Product Code: Suppler Notes: Suppler Notes: Y Y Agency Notes: Suppler Notes: Suppler Notes: Suppler Notes: Y Molem Tale, Nr. First Offer - \$23.00 3024 / hour \$72,560.	Agency Notes:						
Agency Notes: Supplier Notes: V Agency Notes: Supplier Product Code: Supplier Notes: V Agency Notes: TMantra First Offer - 52200 SQ2 / hour S66,526.00 Y Agency Notes: Supplier Product Code: Supplier Notes: V Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Stach Salutions, Inc. First Offer - 52200 S024 / hour S66,526.00 Y Agency Notes: Supplier Notes: Supplier Notes: Y Code: Supplier Notes: Supplier Notes: Y Code: Supplier Notes: Supplier Notes: Y Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y	Beryllus Consulting & Staffing		First Offer - \$20.00	3024 / hour	\$60,480.00		Y
Ascension Global Staffing & Executive Search First Offer - 521:00 3024 / hour \$66,225:60 Y Product Code: Supplier Notes: T Mantina First Offer - 5200 3724 / hour \$66,225:00 Y Product Code: Agency Notes: Common Product Code: Supplier Notes: Supplier Notes					Code:		
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Buzz(Ian First Offer - \$22.03 3024 / hour \$46.328.00 Y Product Code: Supplier Notes: Supplier Notes: Y Droduct Code: Supplier Notes: Supplier Notes: Y Droduct Code: Supplier Notes: Supplier Notes: Y Droduct Code: Supplier Notes: Supplier Notes: Y Octot: First Offer - \$22.04 3024 / hour \$49.952.00 Y Media: First Offer - \$22.04 3024 / hour \$49.952.00 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Regroy Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Y Regroy Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Y Rearcy Notes:			First Offer - \$21.90		\$66,225.60		Y
T Mantra First Offer - \$22.00 3024 / hour \$66,528.00 Y Product Code: Supplier Product Code: Agency Notes: US Tech Solutions Inc. Product Code: Agency Notes: US	Product Code:			1	Code:	I	
Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Product Code: US Tech Solutions, Inc. First Offer- \$22.30 3024 / hour \$69,552.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: First Offer- \$22.00 3024 / hour \$77,560.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Product Code: Supplier Notes: Y Reacon Systems, Inc. First Offer- \$25.05		TT	First Offer - \$22.00		\$66 528 00		v
Agency Notes: Supplier Notes: Supplier Notes: Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y VISTEAD Solutions, Inc. First Offer - \$23.00 Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Moten Tate, Inc. First Offer - \$23.00 3024 / hour \$70,701.60 Y Product Code: Agency Notes: Supplier Notes: Y Moren Tate, Inc. First Offer - \$23.00 3024 / hour \$70,701.60 Y Product Code: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Y Y Product Code: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>•</td>							•
Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: US Tech Solutions, Inc. First Offer - \$23.00 3024 / hour Product Code: Supplier Notes: Supplier Notes: COCHHBHA ENTERPRISES, INC First Offer - \$23.00 3024 / hour \$69,824.16 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Moten Tate, INC. First Offer - \$23.40 3024 / hour \$70,761.60 Y Product Code: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Reacon Systems, Inc. First Offer - \$25.00 3024 / hour \$76,507.20 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Reacon Systems, Inc. First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code:	Agency Notes:			Supplier Notes:			
Agency Notes: Supplier Notes: V US Tech Solutions, Inc. First Offer + 323.00 3024 / hour \$69,552.00 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y COCHHIBHA ENTERPRISES, INC First Offer + 323.00 3024 / hour \$90,824.16 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Product Code: Y Y Agency Notes: Supplier Product Code: Supplier Notes: Y Agency Notes: Supplier Product Code: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes:			First Offer - \$22.35				Y
US Tech Solutions, Inc. 943.00 3024 / hour 949.552.00 Y Product Code: Supplier Product Code: Supplier Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 523.00 3024 / hour 959.824.16 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 523.40 3024 / hour 950.824.16 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 523.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 523.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.00 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.600.70 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 957.505.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.40 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, INC IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COCH-HBHA ENTERPRISES, IFISS Offer- 525.65 3024 / hour 97.565.60 Y Product Code: Agency Notes: COMPARES, IFISS Offer- 525.65 3024 / hour 977.565.60 Y Product Code: Agency Notes: COMPARES, IFISS Offer- 525.60 3024 / hour 977.565.60 Y Product Code:				1 · · ·	.ode:		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Agency Notes: Supplier Status Supplier Product Code: Supplier Notes: Y Moten Tarle, INC, First Offer- \$23.40 3024 / hour \$70,761.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Y Product Code: Agency Notes: First Offer- \$23.40 3024 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Agency Notes: First Offer- \$25.00 3024 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y Y Product Code: Agency Notes: First Offer- \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: First Offer- \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises First Offer- \$25.65 3024 / hour \$77,565.60 Y </td <td></td> <td>Π</td> <td>First Offer - \$23.00</td> <td></td> <td>\$69,552.00</td> <td></td> <td>Y</td>		Π	First Offer - \$23.00		\$69,552.00		Y
Agency Notes: Supplier Notes: V COCHHBHA ENTERRISES, INC First Offer - \$23.09 3024 / hour \$68,824.16 Y Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Moten Tate, INc. First Offer - \$23.00 3024 / hour \$70,761.60 Y Moten Tate, INc. First Offer - \$20.00 3024 / hour \$75,600.00 Y Moten Tate, INc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Moten Tate, INc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Moten Tate, Inc. First Offer - \$25.00 3024 / hour \$76,507.20 Y Moten Tate, Inc. First Offer - \$25.00 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Produ			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
Product Code: Supplier Product Code: Supplier Notes: Moren Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Product Code: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Supplier Notes: Y Agency Notes: Supplier Notes: Y Y Agency Notes: Supplier Notes: Y Y Kraan Consulting Services, Inc. First Offer - \$25.00 Supplier Notes: Y Reacon Systems, Inc. First Offer - \$25.00 Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Beacon Systems, Inc. First Offer - \$25.05 3024 / hour \$76,507.20 Y Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Agency Notes: Supplier Notes: Supplier Notes: Y Orown Services First Offer - \$25.65 30				1			
Agency Notes: Supplier Notes: Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Arrek Business Solutions Inc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Notes: \$75,600.00 Y Product Code: Supplier Product Code: Y Agency Notes: Supplier Notes: \$75,600.00 Y Product Code: Supplier Product Code: Y Y Agency Notes: First Offer - \$25.50 3024 / hour \$76,507.20 Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Y Y Y Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y	COCHHBHA ENTERPRISES, INC		First Offer - \$23.09	3024 / hour	\$69,824.16		Y
Moten Tate, INc. First Offer - \$23.40 3024 / hour \$70,761.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Kraan Consulting Services, Inc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Y Product Code: Agency Notes: First Offer - \$25.00 3024 / hour \$76,507.20 Y Product Code: Agency Notes: First Offer - \$25.50 3024 / hour \$76,507.20 Y Product Code: Agency Notes: Supplier Notes: IT Administration Coordinator Y Supplier Notes: Supplier Product Code: Supplier Notes: IT Administration Coordinator Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: IT Administration Coordinator Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises Supplier Product Code: Supplier Notes: Y Y VGreen Enterprises					Code:		
Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Ariek Business Solutions Inc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: Supplier Product Code: Y Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$25.65 3024 / hour \$76,507.20 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Y Supplier Product Code: Y Agency Notes: Supplier Notes: Supplier Notes:	Agency Notes:						
Agency Notes: Supplier Notes: Supplier Notes: Arek Business Solutions Inc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Supplier Product Code: Supplier Notes: Y Krasan Consulting Services, Inc. First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Supplier Notes: Supplier Notes: Y Beacon Systems, Inc. First Offer - \$25.30 3024 / hour \$76,507.20 Y Product Code: Agency Notes: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Y Y Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises First			First Offer - \$23.40				Y
Airek Business Solutions Inc. Pirst Offer - \$25:00 3024 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Agency Notes: \$124 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: \$124 / hour \$76,507.20 Y Product Code: Agency Notes: First Offer - \$25:03 3024 / hour \$76,507.20 Y Product Code: Agency Notes: First Offer - \$25:65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: First Offer - \$25:65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: First Offer - \$25:65 3024 / hour \$77,565.60 Y Supplier Product Code: Agency Notes: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to our associates thereby affording our client(s) well motivated and qualified candidates. Y VGreen Enterprises First Offer - \$25:65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: First Offer - \$25:66 3024 / hour \$77,565.60 Y VGreen Enterprises First Offer - \$25:66 3024 / hour				1	Code:		
Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: V Product Code: Agency Notes: First Offer - \$25.00 3024 / hour \$75,600.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Agency Notes: Y Product Code: Agency Notes: First Offer - \$25.00 3024 / hour \$76,507.20 Y Product Code: Agency Notes: First Offer - \$25.00 3024 / hour \$76,507.20 Y Product Code: Agency Notes: Supplier Product Code: IT Administration Coordinator Supplier Product Code: Supplier Product Code: Y Product Code: Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y			First Offer - \$25.00		\$75,600,00		v
Supplier Notes:Krasan Consulting Services, Inc.First Offer - \$25.003024 / hour\$75,600.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: T Administration CoordinatorYProduct Code: Agency Notes:First Offer - \$25.303024 / hour\$76,507.20YProduct Code: Agency Notes:Supplier Product Code: IT Administration CoordinatorYCrown ServicesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes: IT Administration CoordinatorYCrown ServicesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our dient(s) well motivated and qualified candidates.YVGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our dient(s) well motivated and qualified candidates.YVGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:First Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier							•
Product Code: Supplier Product Code: Supplier Notes: Beacon Systems, Inc. First Offer - \$25.30 3024 / hour \$76,507.20 Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Product Code: IT Administration Coordinator Supplier Notes: IT Administration Coordinator Crown Services First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to clents while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our clent(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Notes: Y Product Code: Supplier Notes: Y Y Product Code: Supplier Notes: Y Y Product Code: Supplier Notes: Supplier Notes:				1	.000		
Agency Notes:Supplier Notes:Supplier Notes:YBeacon Systems, Inc.First Offer - \$25.303024 / hour\$76,507.20YProduct Code: Agency Notes:Supplier Product Code: IT Administration Coordinator Supplier Notes: IT Administration CoordinatorSupplier Notes: IT Administration CoordinatorCrown ServicesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates.YVGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:First Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YProduct Code: Agency Notes:First Offer - \$26.00YSupplier Notes:Supplier Notes:YProduct Code: Agency Notes:First Offer - \$28.003024 / hour\$78,624.00YProduct Code: Supplier Notes:Supplier Notes:Supplier Notes:Sensatech LLCFi	Krasan Consulting Services, Inc.	Π	First Offer - \$25.00	3024 / hour	\$75,600.00		Y
Beacon Systems, Inc. First Offer - \$25.30 3024 / hour \$76,507.20 Y Product Code: Supplier Product Code: IT Administration Coordinator Supplier Product Code: IT Administration Coordinator Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to dients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Supplier Notes: Supplier Notes: Y Product Code: Supplier Notes: Supplier Note	Product Code:			Supplier Product (Code:		
Product Code: Supplier Product Code: IT Administration Coordinator Agency Notes: Supplier Product Code: IT Administration Coordinator Crown Services First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to dients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Notes: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to dients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Product Code: Agency Notes: Supplier Notes: Y Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Product Code: Agency Notes: Supplier Notes: Y <	Agency Notes:			Supplier Notes:			
Agency Notes:Supplier Notes: IT Administration CoordinatorCrown ServicesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes: (rown Services provides Temp to Perm placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates.VGreen EnterprisesIFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Notes: Crown Services provides Temp to Perm associates thereby affording our client(s) well motivated and qualified candidates.YVGreen EnterprisesIFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YProduct Code: Agency Notes:Strist Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:First Offer - \$28.003024 / hour\$84,672.00YSensatech LLCIFirst Offer - \$28.003024 / hour\$84,672.00Y			First Offer - \$25.30				
Crown Services First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to dients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: \$upplier Notes: Y VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: ECKpert First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Agency Notes: Supplier Notes: Supplier Notes: Y Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y				1			nator
Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to dients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our dient(s) well motivated and qualified candidates. VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Agency Notes: First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Supplier Product Code: Supplier Product Code: Y Agency Notes: First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Product Code: Supplier Product Code: Supplier Notes: Y Product Code: Supplier Product Code: Y Y Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y	Agency Notes.						
Agency Notes:Supplier Notes: Crown Services provides Temp to Perm placements from our pool of candidates to clients while offering full benefits, PTO, Holiday Pay and benefits to our associates thereby affording our client(s) well motivated and qualified candidates.VGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YProduct Code: Agency Notes:First Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YProduct Code: Agency Notes:First Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YSensatech LLCFirst Offer - \$28.003024 / hour\$84,672.00Y	Crown Services		First Offer - \$25.65	3024 / hour	\$77,565.60		Y
VGreen Enterprises First Offer - \$25.65 3024 / hour \$77,565.60 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Y TECKpert First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y ECKpert First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Y Sensatech LLC First Offer - \$28.00 3024 / hour \$78,624.00 Y				1			
VGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YTECKpertFirst Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:First Offer - \$28.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YYSensatech LLCFirst Offer - \$28.003024 / hour\$84,672.00Y	Agency Notes:						
VGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:YTECKpertFirst Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YSupplier Product Code: Agency Notes:First Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:First Offer - \$28.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YYSensatech LLCFirst Offer - \$28.003024 / hour\$84,672.00Y							
VGreen EnterprisesFirst Offer - \$25.653024 / hour\$77,565.60YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:YTECKpertFirst Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:Supplier Product Code: Supplier Notes:YTECKpertFirst Offer - \$26.003024 / hour\$78,624.00YProduct Code: Agency Notes:First Offer - \$26.003024 / hour\$78,624.00YSensatech LLCFirst Offer - \$28.003024 / hour\$84,672.00Y							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate					-		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TECKpert Image: Strate							
Agency Notes: Supplier Notes: TECKpert First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Y Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y			First Offer - \$25.65				Y
TECKpert First Offer - \$26.00 3024 / hour \$78,624.00 Y Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Y Agency Notes: Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y					lode:		
Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Notes: Sensatech LLC Image: First Offer - \$28.00 3024 / hour \$84,672.00 Y			First Offer - \$26.00		\$78 624 00		v
Agency Notes: Supplier Notes: Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y			1113L UHEI - \$20.00				1
Sensatech LLC First Offer - \$28.00 3024 / hour \$84,672.00 Y				1			
Product Code: Supplier Product Code:			First Offer - \$28.00	<u></u>	\$84,672.00		Y

Agency Notes:		Supplier Notes:
Arch	First Offer - \$28.80	3024 / hour \$87,091.20 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes: This is the estimate of the bill rate with full costs. It is possible the rate may come in lower if we find a candidat at a lower rate.
Flysoft Inc	First Offer - \$29.00	3024 / hour \$87,696.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Abacus Service Corporation	First Offer - \$29.90	3024 / hour \$90,417.60 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
22nd Century Technologies, Inc.	First Offer - \$30.00	3024 / hour \$90,720.00 Y
Product Code:		Supplier Product Code:
Agency Notes:	Fi + 0// +20.00	Supplier Notes:
Global Solutions Group, Inc.	First Offer - \$30.08	3024 / hour \$90,961.92 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Darwin Recruitment	First Offer - \$31.00	3024 / hour \$93,744.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Hire Hero	First Offer - \$31.25	3024 / hour \$94,500.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
LanceSoft	First Offer - \$33.76	3024 / hour \$102,090.24 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
InstantServe	First Offer - \$37.00	3024 / hour \$111,888.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Next Generation Recruitment and Staffing Agency	First Offer - \$37.50	3024 / hour \$113,400.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
ManpowerGroup Sales Support	First Offer - \$38.00	3024 / hour \$114,912.00 Y Supplier Product Code: Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Kellton Tech	First Offer - \$40.00	3024 / hour \$120,960.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
TRG, Inc	First Offer - \$40.00	3024 / hour \$120,960.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Bleu Stream Corp	First Offer - \$40.00	3024 / hour \$120,960.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PriceSenz LLC	First Offer - \$42.00	3024 / hour \$127,008.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Innovative Systems Group of Florida	First Offer - \$42.03	3024 / hour \$127,098.72 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
I I I I I I I I I I I I I I I I I I I	1	

			ward County Bo ounty Commissio				TRN21222
PeopleNTech LLC	1		First Offer - \$		3024 / hour	\$136,080.00	Y
Product Code:		1			Supplier Product (· · · · ·	
Agency Notes:					Supplier Notes:		
Aptuity Solutions Inc			First Offer - \$	45.00	3024 / hour	\$136,080.00	Y
Product Code:					Supplier Product (Code:	
Agency Notes:		_			Supplier Notes:		
Sullivan and Cogliano Product Code:			First Offer - \$	45.00	3024 / hour Supplier Product (\$136,080.00	Y
Agency Notes:					technical projects the systems, or work-floc complexity or multi risk and complexity project schedule whe coordinates meeting	es and resources in supp nat impact multiple depar ows with moderate to hig ple projects simultaneou ; develops and maintains nich includes administrati gs; maintains calendars; ting minutes; ensure proj l appropriately.	tments, h risk and sly with lesser a detailed ve tasks; prepares
ResourceX			First Offer - \$	45.00	3024 / hour	\$136,080.00	Y
Product Code:					Supplier Product C	ode:	
Agency Notes:		1			Supplier Notes:		
DVTECK			First Offer - \$	45.00	3024 / hour	\$136,080.00	Y
Product Code: Agency Notes:					Supplier Product C Supplier Notes:	.ode:	
Tri-Force Consulting Services, Inc.			First Offer - \$	45.00	3024 / hour	\$136,080.00	Y
Product Code: Agency Notes:					Supplier Product C Supplier Notes:	Code:	
COGENT InfoTech Corporation		Т	First Offer - \$		3024 / hour	\$137,592.00	Y
Product Code: Agency Notes:					Supplier Product C Supplier Notes:		
Tech Army, LLC			First Offer - \$	46.20	3024 / hour	\$139,708.80	Y
Product Code:					Supplier Product (· · · · · · · · · · · · · · · · · · ·	
Agency Notes:					Supplier Notes:		
RADgov, Inc.			First Offer - \$	47.21	3024 / hour	\$142,763.04	Y
Product Code:					Supplier Product (Code:	
Agency Notes:					Supplier Notes:		
CambayCS			First Offer - \$	47.48	3024 / hour	\$143,579.52	Y
Product Code:					Supplier Product C	Code:	
Agency Notes:			Euroff t	40.50	Supplier Notes:	t1 10 70 1 10	
TRYFACTA, INC.	I		First Offer - \$	48.52	3024 / hour	\$146,724.48	Y

Broward County Board of

b	County Commissioners		
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	V
TAD PGS	First Offer - \$50.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
DatamanUSA, LLC	First Offer - \$50.00	3024 / hour \$151,200.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
IT Data Solutions	First Offer - \$50.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cloud Consulting Services Inc	First Offer - \$51.00	3024 / hour \$154,224.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Changing Technologies Inc.	First Offer - \$52.20	3024 / hour \$157,852.80	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$54.00	3024 / hour \$163,296.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Tanim Consulting	First Offer - \$55.00		Y
Product Code:		Supplier Product Code: IT Administration Coordina	ator
Agency Notes:		Supplier Notes:	
SoftHQ, Inc	First Offer - \$55.00	3024 / hour \$166,320.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$56.90		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Lumen Solutions Inc	First Offer - \$59.00	3024 / hour \$178,416.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
SRS CONSULTING INC	First Offer - \$60.00	3024 / hour \$181,440.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
FAAZ consulting	First Offer - \$60.00	3024 / hour \$181,440.00 Y	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Interscripts,Inc.	First Offer - \$65.00	3024 / hour \$196,560.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
MNK Infotech	First Offer - \$68.00	3024 / hour \$205,632.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Blue Chip Talent	First Offer - \$68.67	3024 / hour \$207,658.08	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
etech-360,Inc	First Offer - \$70.00	· · · · · · · · · · · · · · · · · · ·	Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer #70.00	Supplier Notes: 2024 / bour \$211,680,00	Y
Infojini, Inc.	First Offer - \$70.00	3024 / hour \$211,680.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
vTech Solution Inc.	First Offer - \$79.21	3024 / hour \$239,531.04	Y
Product Code:		Supplier Product Code:	·
Agency Notes:		Supplier Notes:	

MSys Inc [Ad]	First Offer - \$80.00	3024 / hour	\$241,920.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Elegant Enterprise Wide Solutions	First Offer - \$85.00	3024 / hour	\$257,040.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
CDW-Government LLC	First Offer - \$125.00	3024 / hour	\$378,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

TRN2122277B101-12 GIS Analyst								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Prelude systems pvt. ltd.		First Offer - \$0.00	1008 / hour	\$0.00	Y	Y		
Agency Notes:			Supplier Product Code: Supplier Notes:					
			Pricing included in t	ne proposai.				
ADAMS ENTERPRISE USA, INC		Alt 1 - \$3.00	1008 / hour	\$3,024.00		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Alt	t ode: ernate Offer Amour	t			
ADAMS ENTERPRISE USA, INC		First Offer - \$4.00	1008 / hour	\$4,032.00		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Flysoft Inc		First Offer - \$21.00	1008 / hour	\$21,168.00		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Sensatech LLC		First Offer - \$21.00	1008 / hour	\$21,168.00		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				
Beryllus Consulting & Staffing	\top	First Offer - \$27.00	1008 / hour	\$27,216.00		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				
BuzzClan		First Offer - \$27.21	1008 / hour	\$27,427.68		Y		
Product Code:			Supplier Product C			•		
Agency Notes:			Supplier Notes:					
Moten Tate, INc.	\top	First Offer - \$28.60	1008 / hour	\$28,828.80		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Next Generation Recruitment and Staffing Agency		First Offer - \$32.50	1008 / hour	\$32,760.00		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				
Oready		First Offer - \$33.37	1008 / hour	\$33,636.96		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				
Information Consultants Inc		First Offer - \$34.00	1008 / hour	\$34,272.00		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					
Action Group MGMT		First Offer - \$34.00	1008 / hour	\$34,272.00		Y		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				
IT Mantra		First Offer - \$35.00	1008 / hour	\$35,280.00		Y		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes:					

	oward County Board o ounty Commissioners	f		TRN21222
DVTECK	First Offer - \$35.00) 1008 / hour	\$35,280.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	 	Supplier Notes:		
4BBCorp [Ad]	First Offer - \$36.19		\$36,479.52	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Pay Rate: BLS - Mia FL Median Hourly V	mi-Fort Lauderdale-W	est Palm Beach,
Crown Services	 First Offer - \$36.45	5 1008 / hour	\$36,741.60	Y
Product Code:		Supplier Product (
Agency Notes:		placements from o offering full benefit	own Services provides ur pool of candidates s, PTO, Holiday Pay an affording our client(s) dates.	to clients while Id benefits to our
Cynet Systems	First Offer - \$38.00) 1008 / hour	\$38,304.00	Y
Product Code:		Supplier Product (Code:	i
Agency Notes:		Supplier Notes:		
Ascension Global Staffing & Executive Search	First Offer - \$38.14	1008 / hour	\$38,445.12	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	 	Supplier Notes:		
Bleu Stream Corp	First Offer - \$40.00		\$40,320.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Lode:	
22nd Century Technologies, Inc.	 First Offer - \$40.06		\$40,380.48	Y
Product Code:		Supplier Product (· · ·	
Agency Notes:		Supplier Notes:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$40.56	5 1008 / hour	\$40,884.48	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Beacon Systems, Inc.	First Offer - \$40.91		\$41,237.28	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: GIS Analyst Rate	Code: GIS Analyst	·
US Tech Solutions, Inc.	First Offer - \$42.00) 1008 / hour	\$42,336.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
COCHHBHA ENTERPRISES, INC	First Offer - \$42.05		\$42,386.40	Y
Product Code:		Supplier Product (
Agency Notes:	 	Supplier Notes:		
CambayCS	First Offer - \$42.50) 1008 / hour	\$42,840.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Darwin Recruitment	First Offer - \$43.00) 1008 / hour	\$43,344.00	Y

	County Commissioners			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
TECKpert	First Offer - \$43.0	0 1008 / hour	\$43,344.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Abacus Service Corporation	First Offer - \$43.3	3 1008 / hour	\$43,727.04	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
VGreen Enterprises	First Offer - \$43.6	2 1008 / hour	\$43,968.96	Y
Product Code:	<u>_</u>	Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
PeopleNTech LLC	First Offer - \$45.0	0 1008 / hour	\$45,360.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Alrek Business Solutions Inc.	First Offer - \$45.0	0 1008 / hour	\$45,360.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Krasan Consulting Services, Inc.	First Offer - \$45.0	0 1008 / hour	\$45,360.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Hire Hero	First Offer - \$47.5	0 1008 / hour	\$47,880.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Global Solutions Group, Inc.	First Offer - \$48.9	3 1008 / hour	\$49,321.44	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
ResourceX	First Offer - \$50.0	0 1008 / hour	\$50,400.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
TRYFACTA, INC.	First Offer - \$50.8	9 1008 / hour	\$51,297.12	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
Tri-Force Consulting Services, Inc.	First Offer - \$53.0		\$53,424.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
LanceSoft	First Offer - \$54.1		\$54,552.96	Y
Product Code: Agency Notes:	1_1	Supplier Product Cod Supplier Notes:	e:	
ManpowerGroup Sales Support	First Offer - \$55.0	0 1008 / hour	\$55,440.00	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	
TRG, Inc	First Offer - \$55.0	1	\$55,440.00	Y
Product Code:		Supplier Product Cod		
Agency Notes:		Supplier Notes:		
Arch	First Offer - \$57.6		\$58,060.80	Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: This is the estimate of t possible the rate may o at a lower rate.	he bill rate with full cos	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$58.0	9 1008 / hour	\$58,554.72	Y
Product Code:		Supplier Product Cod	o•	

Agong (Notos)	unty Commissi				
Agency Notes:	First Offer -		Supplier Notes: 1008 / hour	\$58,574.88	Y
Changing Technologies Inc. Product Code:	First Offer - 1	\$20.11	Supplier Product C		Y
Agency Notes:			Supplier Notes:	oue.	
SoftHQ, Inc	First Offer - \$	\$62.00	1008 / hour	\$62,496.00	Y
Product Code:			Supplier Product C	ode:	
Agency Notes:			Supplier Notes:		
Tech Army, LLC	First Offer - \$	\$63.04	1008 / hour	\$63,544.32	Y
Product Code:			Supplier Product C	ode:	
Agency Notes:	First Offer - \$	162 70	Supplier Notes: 1008 / hour	\$64,209.60	Y
Innovative Systems Group of Florida Product Code:	First Offer - 1	p05.70	Supplier Product C		1
Agency Notes:			Supplier Notes:	oue.	
Tanim Consulting	First Offer -	\$65.00	1008 / hour	\$65,520.00	Y
Product Code:	 		Supplier Product C	ode: GIS Analyst	
Agency Notes:			Supplier Notes:		
SRS CONSULTING INC	First Offer - \$	\$65.00	1008 / hour	\$65,520.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
IT Data Solutions	First Offer -	\$65.00	1008 / hour	\$65,520.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Blue Chip Talent	First Offer - \$	\$67.76	1008 / hour	\$68,302.08	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Digital Intelligence Systems, LLC	First Offer - \$	\$71.00	1008 / hour	\$71,568.00	Y
Product Code:			Supplier Product C	ode:	
Agency Notes:			Supplier Notes:		
COGENT InfoTech Corporation	First Offer - \$	\$71.50	1008 / hour	\$72,072.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Cloud Consulting Services Inc	First Offer -	\$72.00	1008 / hour	\$72,576.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Sullivan and Cogliano	First Offer - \$	\$75.00	1008 / hour	\$75,600.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes: GIS Systems Program	mming and Developmen	ıt
DatamanUSA, LLC	First Offer - \$	\$75.00	1008 / hour	\$75,600.00	Y

County Commissioners			
	Supplier Product Code: Supplier Notes:		
First Offer - \$75.00	1008 / hour	\$75,600.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$75.00	1008 / hour	\$75,600.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$78.00	1008 / hour	\$78,624.00	Y
	Supplier Product Code:		
First Offer - \$78.00		\$78,624.00	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$80.00	1008 / hour	\$80,640.00	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$80.00	1008 / hour	\$80,640.00	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$85.00		\$85,680.00	Y
_1_1	Supplier Product Code:	l	· · · · ·
	Supplier Notes:		
First Offer - \$85.00	1008 / hour	\$85,680.00 Y	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$85.21	1008 / hour	\$85,891.68	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$88.40	1008 / hour	\$89,107.20	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$90.00	1008 / hour	\$90,720.00	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$91.26		\$91,990.08	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$92.00	1008 / hour	\$92,736.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$95.00	1008 / hour	\$95,760.00	Y
	Supplier Product Code: Supplier Notes:		
First Offer - \$102.00	1008 / hour \$	102,816.00	Y
	Supplier Product Code:		
	Supplier Notes:		
First Offer - \$145.00	1008 / hour \$	146,160.00	Y
	Image:	Supplier Product Cole: Supplier Notes:IFirst Offer - \$75.001008 / hourIFirst Offer - \$78.001008 / hourIFirst Offer - \$78.001008 / hourIFirst Offer - \$80.001008 / hourIFirst Offer - \$85.001008 / hourIFirst Offer - \$85.011008 / hourIFirst Offer - \$85.211008 / hourIFirst Offer - \$85.211008 / hourIFirst Offer - \$90.001008 / hourIFirst Offer - \$90.001008 / hourIFirst Offer - \$91.26Supplier Product Cole: Supplier Notes:IFirst Offer - \$91.261008 / hourIFirst Offer - \$92.001008 / hourIFirst Offer - \$92.001008 / hourIFirst Offer - \$92.001008 / hourIFirst Offer - \$92.00	Supplier Product Code: Supplier Notes: \$75,600.00 First Offer - \$75.00 1008 / hour \$75,600.00 Supplier Product Code: Supplier Notes: \$1008 / hour \$75,600.00 First Offer - \$75.00 1008 / hour \$75,600.00 First Offer - \$75.00 1008 / hour \$78,624.00 Supplier Notes: Supplier Notes: \$78,624.00 Supplier Notes: Supplier Notes: \$80,640.00 First Offer - \$80.00 1008 / hour \$80,640.00 Supplier Notes: Supplier Notes: \$80,640.00 Supplier Notes: Supplier Notes: \$80,640.00 First Offer - \$80.00 1008 / hour \$80,640.00 Supplier Notes: Supplier Notes: \$80,640.00 First Offer - \$80.00 1008 / hour \$80,640.00 Supplier Notes: Supplier Notes: \$80,640.00 Supplier Notes: Supplier Notes: \$80,640.00 First Offer - \$80.00 1008 / hour \$85,680.00 Y Supplier Notes: Supplier Notes: \$90,700.00 Y First Offer - \$85.00 1008 / ho

TRN2122277B1–01-13 Network Technician I - Overtime and Callout										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Prelude systems pvt. ltd.	First Offer - \$0.00	200 / hour	\$0.00		Y					
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:							

	eeung eenimeelenere	No Bid.	
ADAMS ENTERPRISE USA, INC			Y
Product Code:	, uc i - \$4.50	Supplier Product Code:	-
Agency Notes:		Supplier Notes: Alternate Offer Amount	
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	200 / hour \$1,200.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Sensatech LLC	First Offer - \$20.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Flysoft Inc	First Offer - \$21.00	200 / hour \$4,200.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cynet Systems	First Offer - \$27.00	200 / hour \$5,400.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COGENT InfoTech Corporation	First Offer - \$28.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Moten Tate, INc.	First Offer - \$28.72	200 / hour \$5,744.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer #20.00	Supplier Notes:	
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$28.86		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
PeopleNTech LLC	First Offer - \$30.00		Y
Product Code:		Supplier Product Code:	· ·
Agency Notes:		Supplier Notes:	
DVTECK	First Offer - \$30.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$33.00	200 / hour \$6,600.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
IT Mantra	First Offer - \$35.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$35.00	Supplier Notes: 200 / hour \$7,000.00	Y
Action Group MGMT Product Code:		Supplier Product Code:	<u> </u>
Agency Notes:		Supplier Notes:	
SRS CONSULTING INC	First Offer - \$35.00	200 / hour \$7,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Bleu Stream Corp	First Offer - \$35.00		Y
Product Code:		Supplier Product Code:	-
Agency Notes:		Supplier Notes:	
Ascension Global Staffing & Executive Search	First Offer - \$36.98		Y
Product Code:		Supplier Product Code:	-
Agency Notes:		Supplier Notes:	
Alrek Business Solutions Inc.	First Offer - \$37.50	200 / hour \$7,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Krasan Consulting Services, Inc.	First Offer - \$37.50	200 / hour \$7,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$37.50	Supplier Notes: 200 / hour \$7,500.00	
Next Generation Recruitment and Staffing Agency		200 / hour \$7,500.00	Y

Product Code:	0	ounty c	000000	31011013	Supplier Product (Code:		
Agency Notes:					Supplier Notes:			
Global Solutions Group, Inc.		First	: Offer -	\$39.20	200 / hour	\$7,840.00		Y
Product Code: Agency Notes:					Supplier Product (Supplier Notes:	Code:		
CambayCS	Π	First	: Offer -	\$39.92	200 / hour	\$7,984.00	Т	Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
BuzzClan		First	: Offer –	\$41.77	200 / hour	\$8,354.00		Y
Product Code: Agency Notes:					Supplier Product (Supplier Notes:	Code:		
Tri-Force Consulting Services, Inc.	Π	First	Offer -	\$45.00	200 / hour	\$9,000.00	Τ	Y
Product Code:					Supplier Product (Code:		
Agency Notes:					Supplier Notes:			
RADgov, Inc.	Π	First	: Offer -	\$47.06	200 / hour	\$9,412.00	Τ	Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
MNK Infotech		First	Offer -	\$47.60	200 / hour	\$9,520.00		Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
Aptuity Solutions Inc		First	: Offer -	\$48.00	200 / hour	\$9,600.00		Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
VGreen Enterprises		First	: Offer -	\$48.00	200 / hour	\$9,600.00		Y
Product Code: Agency Notes:					Supplier Product (Supplier Notes:	Code:		
4BBCorp [Ad]		First	Offer -	\$49.44	200 / hour	\$9,888.00		Y
Product Code:					Supplier Product	Code:		
					FL Median Hourly V	Vage (50%)		
InstantServe		First	: Offer -	\$49.50	200 / hour	\$9,900.00	Т	Y
Product Code:					Supplier Product (Code:		
Agency Notes:					Supplier Notes:			
Changing Technologies Inc.		First	: Offer -	\$51.45	200 / hour	\$10,290.00		Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:		_	
DatamanUSA, LLC		First	: Offer -	\$52.50	200 / hour	\$10,500.00		Y
Product Code: Agency Notes:					Supplier Product (Supplier Notes:	Code:		
22nd Century Technologies, Inc.		First	: Offer -	\$52.93	200 / hour	\$10,586.00		Y
Product Code:					Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
Cloud Consulting Services Inc		First	: Offer -	\$53.25	200 / hour	\$10,650.00		Y
Product Code:	_				Supplier Product	Code:		
Agency Notes:					Supplier Notes:			
Digital Intelligence Systems, LLC		First	: Offer -	\$53.30	200 / hour	\$10,660.00		Y
Product Code: Agency Notes:					and callout hours a	Code: Systems, LLC will bill the Ove It 1.3X regular rates and will o s the standard 1.5X OT pay ra	of cou	

	County Commissioners		
Tech Army, LLC	First Offer - \$54.60) 200 / hour \$10,920.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Crown Services	First Offer - \$54.68	3 200 / hour \$10,936.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Abacus Service Corporation	First Offer - \$54.86	5 200 / hour \$10,972.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Lumen Solutions Inc	First Offer - \$55.00) 200 / hour \$11,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
IT Data Solutions	First Offer - \$55.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tanim Consulting	First Offer - \$58.00		Y
Product Code:		Supplier Product Code: Network Technician I	- Overtime
Agency Notes:		and Callout Supplier Notes:	
US Tech Solutions, Inc.	First Offer - \$58.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$59.08		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Oready	First Offer - \$59.68		Y
Product Code:		Supplier Product Code:	_
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$60.00) 200 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$60.00) 200 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Kellton Tech	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TECKpert	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$60.00	Supplier Notes: 200 / hour \$12,000.00	Y
Hire Hero	First Offer - \$60.00		T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
ResourceX	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Interscripts,Inc.	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Infojini, Inc.	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	· · · · ·
Agency Notes:		Supplier Notes:	
TRYFACTA, INC.	First Offer - \$61.46	5 200 / hour \$12,292.00	Y
	•		

			-		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
Arch	TT	First Offer - \$62.21	200 / hour	\$12,442.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:			Supplier Notes:		
Innovative Systems Group of Florida		First Offer - \$63.30	200 / hour	\$12,660.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
COMPUNNEL SOFTWARE GROUP, INC		First Offer - \$63.60	200 / hour	\$12,720.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:			Supplier Notes:		
Beacon Systems, Inc.		First Offer - \$64.07	200 / hour	\$12,814.00	Y
Product Code:			1	Code: Network Technician I	- Overtime
Agency Notes:			and Callout Supplier Notes: Network Techniciar	n I - Overtime and Callout R	ate
Blue Chip Talent		First Offer - \$65.72	200 / hour	\$13,144.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:		First Offen t(COO	Supplier Notes:	¢12,200,00	v
Information Consultants Inc		First Offer - \$66.00	200 / hour	\$13,200.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Lode:	
LanceSoft		First Offer - \$67.29	200 / hour	\$13,458.00	Y
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:		
TAD PGS		First Offer - \$67.50	200 / hour	\$13,500.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:			Supplier Notes:		
FAAZ consulting		First Offer - \$68.25	200 / hour	\$13,650.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:			Supplier Notes:		
PriceSenz LLC		First Offer - \$69.00	200 / hour	\$13,800.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Lode:	
SoftHQ, Inc		First Offer - \$72.00		\$14,400.00	v
Product Code:		11130 01101 - \$72.00	Supplier Product (1	•
Agency Notes:			Supplier Notes:		
Sullivan and Cogliano		First Offer - \$77.00	200 / hour	\$15,400.00	Y
Product Code:			Supplier Product C	· · · · · ·	
Agency Notes:			and developing har telecommunication infrastructure and s develops, debugs a software and syster and architectures to requirements. Revie implementation of	network requirements for dware, software and is solutions to provide requiservices. With direction, pla nd implements network hards solutions across multiple o support the organization ews installation of hardwar layered software solutions that they meet the company quirements.	iired network ns, designs, ardware, le platforms s IT e and and

TRG, Inc		First Offer - \$78.00	200 / hour		\$15,600.00		Y
Product Code:			Supplier Product (Code:			
Agency Notes: Elegant Enterprise Wide Solutions		First Offer - \$82.50	Supplier Notes: 200 / hour		\$16,500.00		Y
Product Code:		1113COTTET - \$62.50	Supplier Product (ode.	\$10,300.00		•
Agency Notes:			Supplier Notes:	Joue.			
vTech Solution Inc.	Τ	First Offer - \$84.36	200 / hour		\$16,872.00		Y
Product Code:			Supplier Product (Code:			
Agency Notes:	_		Supplier Notes:				
etech-360,Inc		First Offer - \$85.00	200 / hour		\$17,000.00	Y	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
MSys Inc [Ad]		First Offer - \$87.00	200 / hour		\$17,400.00		Y
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
NewCom C3 Planners		First Offer - \$111.50	200 / hour		\$22,300.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
CDW-Government LLC		First Offer - \$195.00	200 / hour		\$39,000.00		Y
Product Code:			Supplier Product (Lode:	+35,000.00		•
Agency Notes:			Supplier Notes:				

TRN2122277B1–01-14 Network Technician II (Advanced) - Overtime and Callout								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Prelude systems pvt. ltd.		First Offer - \$0.00	200 / hour	\$0.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid.							
ADAMS ENTERPRISE USA, INC		Alt 1 - \$4.50	200 / hour	\$900.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Alternate Offer Amount					
ADAMS ENTERPRISE USA, INC		First Offer - \$6.00	200 / hour	\$1,200.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Flysoft Inc		First Offer - \$21.00	200 / hour	\$4,200.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Sensatech LLC		First Offer - \$22.00	200 / hour	\$4,400.00		Y		
Product Code:			Supplier Product C	Code:				

plier Notes:
0 / hour \$6,100.00 Y
plier Product Code:
plier Notes:
0 / hour \$6,552.00 Y
plier Product Code:
plier Notes:
0 / hour \$6,760.00 Y
plier Product Code:
plier Notes:
0 / hour \$7,000.00 Y
plier Product Code:
pplier Notes:
0 / hour \$7,072.00 Y
plier Product Code: plier Notes:
0 / hour \$7,600.00 Y
pplier Product Code:
pplier Notes:
0 / hour \$7,600.00 Y
pplier Product Code:
plier Notes:
0 / hour \$7,800.00 Y
pplier Product Code:
plier Notes:
0 / hour \$8,198.00 Y
plier Product Code:
plier Notes:
0 / hour \$8,400.00 Y
plier Product Code:
plier Notes:
0 / hour \$9,000.00 Y
plier Product Code:
plier Notes:
0 / hour \$9,246.00 Y
plier Product Code:
plier Notes:
0 / hour \$9,600.00 Y
plier Product Code:
pplier Notes:
0 / hour \$9,600.00 Y
plier Product Code: plier Notes:
0 / hour \$9,600.00 Y
plier Product Code: plier Notes:
0 / hour \$10,000.00 Y
pplier Product Code:
plier Notes:
0 / hour \$10,060.00 Y
pplier Product Code:
p lier Notes: Rate: BLS - Miami-Fort Lauderdale-West Palm Beach, Aedian Hourly Wage (50%)

	00	ounty Commissioners	1		
Global Solutions Group, Inc.		First Offer - \$51.75	200 / hour	\$10,350.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:		
CambayCS		First Offer - \$52.23	200 / hour	\$10,446.00	Y
roduct Code:			Supplier Product (
gency Notes:			Supplier Notes:		
ptuity Solutions Inc		First Offer - \$53.00	200 / hour	\$10,600.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
/NK Infotech		First Offer - \$54.40	200 / hour	\$10,880.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
bacus Service Corporation		First Offer - \$54.86	200 / hour	\$10,972.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
ri-Force Consulting Services, Inc.		First Offer - \$55.00	200 / hour	\$11,000.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
nstantServe		First Offer - \$55.50	200 / hour	\$11,100.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
hanging Technologies Inc.		First Offer - \$56.31	200 / hour	\$11,262.00	Y
roduct Code: /gency Notes:			Supplier Product (Supplier Notes:	Code:	
Frown Services		First Offer - \$56.70	200 / hour	\$11,340.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
ADgov, Inc.		First Offer - \$57.73	200 / hour	\$11,546.00	Y
Product Code:			Supplier Product (Code:	
gency Notes:			Supplier Notes:		
loud Consulting Services Inc		First Offer - \$58.50	200 / hour	\$11,700.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
OCHHBHA ENTERPR I SES, INC		First Offer - \$59.08	200 / hour	\$11,816.00	Y
Product Code: Igency Notes:			Supplier Product (Supplier Notes:	Code:	
Dready		First Offer - \$59.68	200 / hour	\$11,936.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
ECKpert		First Offer - \$60.00	200 / hour	\$12,000.00	Y
roduct Code: /gency Notes:			Supplier Product (Supplier Notes:	Code:	
DatamanUSA, LLC		First Offer - \$60.00	200 / hour	\$12,000.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
vigital Intelligence Systems, LLC		First Offer - \$62.40	200 / hour	\$12,480.00	Y
Product Code: Agency Notes:			and callout hours a	C ode: Systems, LLC will bill the Ov t 1.3X regular rates and wil s the standard 1.5X OT pay	l of course

	,				
Tech Army, LLC	First Offer -	- \$62.76	200 / hour	\$12,552.00	Y
Product Code:	 		Supplier Product C	· · · ·	
Agency Notes:			Supplier Notes:		
BuzzClan	First Offer -	- \$63.18	200 / hour	\$12,636.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:	 		Supplier Notes:		
22nd Century Technologies, Inc.	First Offer -	\$63.43	200 / hour	\$12,686.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
US Tech Solutions, Inc.	First Offer -	\$64.00	200 / hour	\$12,800.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:	 		Supplier Notes:		
Beacon Systems, Inc.	First Offer -	\$64.07	200 / hour	\$12,814.00	Y
Product Code: Agency Notes:			- Overtime and Call Supplier Notes:	C ode: Network Technician out n II (Advanced) - Overtime a	
ManpowerGroup Sales Support	First Offer -	- \$67.50	200 / hour	\$13,500.00	Y
Product Code:			Supplier Product C		
Agency Notes:			Supplier Notes:		
Interscripts,Inc.	First Offer -	- \$68.00	200 / hour	\$13,600.00	Y
Product Code:			Supplier Product C	Code:	
Agency Notes:			Supplier Notes:		
Lumen Solutions Inc	First Offer -	\$69.00	200 / hour	\$13,800.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
Blue Chip Talent	First Offer -	- \$69.86	200 / hour	\$13,972.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
Information Consultants Inc	First Offer -	\$70.00	200 / hour	\$14,000.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	-
IT Data Solutions	First Offer -	\$70.00	200 / hour	\$14,000.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
LanceSoft	First Offer -	- \$71.04	200 / hour	\$14,208.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	·
Hire Hero	First Offer -	\$71.25	200 / hour	\$14,250.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	II	
Arch	First Offer -	- \$72.58	200 / hour	\$14,516.00	Y
Product Code:			Supplier Product C	l	
Agency Notes:	 		Supplier Notes:		
Darwin Recruitment	First Offer -	\$74.00	200 / hour	\$14,800.00	Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:	
Tanim Consulting	First Offer -	- \$75.00	200 / hour	\$15,000.00	Y
Product Code: Agency Notes:			Supplier Product C - Overtime and Calle Supplier Notes:	Code: Network Technician out	II (Advanced)

	P	age 70 of 131
	F	TRN212227
	200 / hour \$15 400 00	Y
First Offer - \$80.64		Y
	Supplier Notes:	
First Offer - \$81.00	200 / hour \$16,200.00	Y
	Supplier Product Code:	
	Supplier Notes:	
First Offer - \$82.50	200 / hour \$16,500.00	Y
	Supplier Product Code:	
	Supplier Notes:	
First Offer - \$82.50	200 / hour \$16,500.00	Y
	Supplier Product Code:	
First Offer - \$82.50		Y
First Offer - \$82.91		Y
First Offen do 100		Y
First Offer - \$84.00		Y
Eirct Offer \$95.50		Y
Filst Oller - \$65.50		T
First Offer - \$89.25		Y
First Offer - \$90.00		Y
	Supplier Notes:	
First Offer - \$90.00	200 / hour \$18,000.00	Y Y
	Supplier Product Code:	
	Supplier Notes:	
First Offer - \$93.80	200 / hour \$18,760.00	Y
	Supplier Product Code: Supplier Notes: Assesses network requir designing and developing hardware, softw telecommunications solutions to provide infrastructure and services. Plans, designs debugs and implements network hardwa systems solutions across multiple platforr architectures to support the organization' requirements. Reviews and troubleshoots hardware and implementation of layered solutions and products to ensure that the company or customer/client requirement bandwidth requirements to ensure netwo processing speed.	vare and required network s, develops, re, software and ns and s IT s installation of software y meet the s. Assesses
	County Commissioners First Offer - \$77.00 First Offer - \$80.64 First Offer - \$80.64 First Offer - \$81.00 First Offer - \$82.50 First Offer - \$80.00 First Offer - \$89.25 First Offer - \$90.00	Broward County Commissioners 200 / hour \$15,400.00 First Offer - \$77.00 200 / hour \$15,400.00 Supplier Product Code: Supplier Notes: \$16,128.00 Supplier Product Code: Supplier Notes: \$16,200.00 Supplier Product Code: Supplier Notes: \$16,200.00 Supplier Product Code: Supplier Notes: \$16,500.00 First Offer - \$82.50 200 / hour \$16,500.00 Supplier Notes: \$upplier Notes: \$16,500.00 Supplier Notes: \$16,500.00 \$upplier Notes: Supplier Notes: \$16,500.00 \$upplier Notes: Supplier Notes: \$16,500.00 \$upplier Notes: Supplier Product Code: Supplier Notes: \$16,500.00 \$16,500.00 Supplier Product Code: Supplier Notes: \$16,500.00 \$16,500.00 Supplier Product Code: Supplier Notes: \$16,800.00 \$16,800.00 First Offer - \$82.91 200 / hour \$16,800.00 First Offer - \$85.50 200 / hour \$16,800.00 Supplier Product Code: Supplier Notes: \$upplier Notes: \$upplier Notes: Supplier Product Code: Supplier Notes:

Broward County Board of County Commissioners

vTech Solution Inc.	First Offer - \$104.49	200 / hour	\$20,898.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Elegant Enterprise Wide Solutions	First Offer - \$112.50	200 / hour	\$22,500.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
MSys Inc [Ad]	First Offer - \$117.00	200 / hour	\$23,400.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
NewCom C3 Planners	First Offer - \$120.00	200 / hour	\$24,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
CDW-Government LLC	First Offer - \$240.00	200 / hour	\$48,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Doc
Prelude systems pvt. ltd.		First Offer - \$0.00	200 / hour	\$0.00		Y
Agency Notes: S		Supplier Product Code: Supplier Notes: No Bid.				
ADAMS ENTERPRISE USA, INC		Alt 1 - \$4.50	200 / hour	\$900.00		Y
Product Code: Agency Notes:		<u>^</u>	Supplier Product (Supplier Notes: Alt	Code: ternate Offer Amour	nt	
ADAMS ENTERPRISE USA, INC		First Offer - \$6.00	200 / hour	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Flysoft Inc		First Offer - \$21.00	200 / hour	\$4,200.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Sensatech LLC		First Offer - \$22.00	200 / hour	\$4,400.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cynet Systems		First Offer - \$33.50	200 / hour	\$6,700.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$35.88	200 / hour	\$7,176.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Action Group MGMT		First Offer - \$36.00	200 / hour	\$7,200.00		Y

	Co	unty Commissioners		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Bleu Stream Corp		First Offer - \$38.00	200 / hour \$7,60	Y 00.0
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
PeopleNTech LLC		First Offer - \$42.00	200 / hour \$8,40	0.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Moten Tate, INc.		First Offer - \$42.19	200 / hour \$8,43	3.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Next Generation Recruitment and Staffing Agency		First Offer - \$45.00	200 / hour \$9,00	0.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
COGENT InfoTech Corporation		First Offer - \$45.50	200 / hour \$9,10	0.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:	- 11	First Offer #47.99	Supplier Notes:	
BuzzClan Product Code:		First Offer - \$47.88		5.00 Y
Agency Notes:			Supplier Product Code: Supplier Notes:	
Aptuity Solutions Inc		First Offer - \$48.00	200 / hour \$9,60	0.00 Y
Product Code:		113001101 - \$40.00	Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Ascension Global Staffing & Executive Search		First Offer - \$48.66	200 / hour \$9,73	2.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Beryllus Consulting & Staffing		First Offer - \$49.50	200 / hour \$9,90	Y 00.0
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
DVTECK		First Offer - \$50.00	200 / hour \$10,00	D.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Global Solutions Group, Inc.		First Offer - \$51.67	200 / hour \$10,33	4.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
IT Mantra		First Offer - \$56.00	200 / hour \$11,20	0.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:		E	Supplier Notes:	
Oready		First Offer - \$59.68	200 / hour \$11,93	5.00 Y
Product Code:			Supplier Product Code:	
Agency Notes: DatamanUSA, LLC		First Offer - \$60.00	Supplier Notes: 200 / hour \$12,000	0.00 Y
Product Code:		First Offer - \$00.00	Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Alrek Business Solutions Inc.		First Offer - \$60.00	200 / hour \$12,00	Y 00.0
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Cloud Consulting Services Inc		First Offer - \$60.00	200 / hour \$12,00	D.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Krasan Consulting Services, Inc.		First Offer - \$60.00	200 / hour \$12,00	0.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
VGreen Enterprises		First Offer - \$61.64	200 / hour \$12,32	3.00 Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	

	ward County Board of ounty Commissioners			TRN212227
Changing Technologies Inc.	First Offer - \$62.64	200 / hour	\$12,528.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
MNK Infotech	First Offer - \$63.92	200 / hour	\$12,784.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
InstantServe	First Offer - \$64.50	200 / hour	\$12,900.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:	±12,000,00	
Tanim Consulting	First Offer - \$65.00	200 / hour	\$13,000.00	Y
Product Code: Agency Notes:		Callout	Code: Network Analyst -	Overtime and
	 	Supplier Notes:		
SRS CONSULTING INC	First Offer - \$65.00	200 / hour	\$13,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Crown Services	First Offer - \$66.83	200 / hour	\$13,366.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	 	Supplier Notes:		
4BBCorp [Ad] Product Code:	First Offer - \$67.27	200 / hour Supplier Product (\$13,454.00	Y
Agency Notes:		Supplier Notes: Pay Rate: BLS - Miar FL Median Hourly V	mi-Fort Lauderdale-West Vage (50%)	t Palm Beach,
Interscripts,Inc.	First Offer - \$68.00	200 / hour	\$13,600.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Tri-Force Consulting Services, Inc.	First Offer - \$70.00	200 / hour	\$14,000.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	.ode: 	
Abacus Service Corporation	First Offer - \$71.08	200 / hour	\$14,216.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Digital Intelligence Systems, LLC	First Offer - \$71.50	200 / hour	\$14,300.00	Y
Product Code: Agency Notes:		the Overtime hours		8X regular rates
22nd Century Technologies, Inc.	First Offer - \$72.68	200 / hour	\$14,536.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:	First Offerende 70 FO	Supplier Notes:	¢14700.00	
TECKpert	First Offer - \$73.50	200 / hour	\$14,700.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Loue.	
US Tech Solutions, Inc.	First Offer - \$73.50	200 / hour	\$14,700.00	Y
Product Code:		Supplier Product (
Agency Notes:		Supplier Notes:		

	obanty commissioners				
COCHHBHA ENTERPRISES, INC	First Offer - \$74.13	200 / hour	\$14,826.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	1	Supplier Notes:			
CambayCS	First Offer - \$74.43	200 / hour	\$14,886.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	lode:		
ManpowerGroup Sales Support	First Offer - \$75.00	200 / hour	\$15,000.00		Y
Product Code:		Supplier Product C			
Agency Notes:		Supplier Notes:	.002.		
Blue Chip Talent	First Offer - \$76.32	200 / hour	\$15,264.00		Y
Product Code:		Supplier Product C		1	
Agency Notes:		Supplier Notes:			
IT Data Solutions	First Offer - \$78.00	200 / hour	\$15,600.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Sullivan and Cogliano Product Code:	First Offer - \$78.40	200 / hour Supplier Product (\$15,680.00		Y
Agency Notes:		processing technolo handheld computer systems, networkin Analyzes business a networking solutior and services end to configurations for re technical and opera	sible understanding ogies such as: deskto rs and other such de g hardware and soft and technical require is that integrate all to end. Can troublesho oot cause analysis, ra tional solutions, per 'k systems, and perfi	ops, servers evices, disk eware systements to d echnical pro poot comple ecommenc form capac	s, PDAs, storage ms. design oducts x d city
Hire Hero	First Offer - \$78.75	200 / hour	\$15,750.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	First Office the co	Supplier Notes:	¢16,000,00		
Darwin Recruitment	First Offer - \$80.00	200 / hour	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	.oue:		
TRYFACTA, INC.	First Offer - \$80.64	200 / hour	\$16,128.00		Y
Product Code:	1.15COnci 400.04	Supplier Product C			
Agency Notes:		Supplier Notes:			
ResourceX	First Offer - \$82.50	200 / hour	\$16,500.00		Y
Product Code:		Supplier Product C	Code:		

Agency Notes:		Supplier Notes:			
Arch	First Offer - \$82.94	200 / hour	\$16,588.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RADgov, Inc.	First Offer - \$83.81	200 / hour	\$16,762.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Information Consultants Inc	First Offer - \$84.00	200 / hour	\$16,800.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:	F + O (5 + D) + D	Supplier Notes:	t1 C 020 00		
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$84.14	200 / hour	\$16,828.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
	First Offer - \$84.32	200 / hour	\$16,864.00		Y
Beacon Systems, Inc.	First Oner - \$64.52			vat Overti	-
Product Code: Agency Notes:		Supplier Product Co Callout	Jue: Network Analy	yst - Overti	me and
		Supplier Notes:			
		Network Analyst - O	vertime and Callout	Rate	
SoftHQ, Inc	First Offer - \$87.00	200 / hour	\$17,400.00		Y
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes:	Jue.		
Innovative Systems Group of Florida	First Offer - \$87.08	200 / hour	\$17,416.00		Y
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes:			
Tech Army, LLC	First Offer - \$90.30	200 / hour	\$18,060.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
LanceSoft	First Offer - \$91.35	200 / hour	\$18,270.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
FAAZ consulting	First Offer - \$92.40	200 / hour	\$18,480.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
etech-360,Inc	First Offer - \$95.00	200 / hour	\$19,000.00	Y	Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:	First Offer #07 50	Supplier Notes:	±10 500 00		N N
Kellton Tech	First Offer - \$97.50	200 / hour	\$19,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	Jue:		
TRG, Inc	First Offer - \$97.50	200 / hour	\$19,500.00		Y
Product Code:		Supplier Product Co			<u> </u>
Agency Notes:		Supplier Notes:	Jue.		
PriceSenz LLC	First Offer - \$101.00	200 / hour	\$20,200.00		Y
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes:			
Infojini, Inc.	First Offer - \$107.50	200 / hour	\$21,500.00		Y
Product Code:		Supplier Product Co	ode:	ı	
Agency Notes:		Supplier Notes:			
TAD PGS	First Offer - \$112.50	200 / hour	\$22,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lumen Solutions Inc	First Offer - \$119.00	200 / hour	\$23,800.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Elegant Enterprise Wide Solutions	First Offer - \$120.00	200 / hour	\$24,000.00		Y

Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
vTech Solution Inc.	Π	First Offer - \$128.175	200 / hour	\$25,635.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
MSys Inc [Ad]	Π	First Offer - \$147.00	200 / hour	\$29,400.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
CDW-Government LLC		First Offer - \$195.00	200 / hour	\$39,000.00	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	

TRN2122277B101-16 Communications Specialist - Over	rti	me and Callout				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.		First Offer - \$0.00	100 / hour	\$0.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: No			
ADAMS ENTERPRISE USA, INC	Γ	Alt 1 - \$4.50	100 / hour	\$450.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Alt	Code: ternate Offer Amoun	t	
ADAMS ENTERPRISE USA, INC		First Offer - \$6.00	100 / hour	\$600.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Sensatech LLC		First Offer - \$20.00	100 / hour	\$2,000.00		Y
Product Code: Agency Notes:	_		Supplier Product (Supplier Notes:	Code:		
Flysoft Inc		First Offer - \$21.00	100 / hour	\$2,100.00		Y
Product Code: Agency Notes:	_		Supplier Product (Supplier Notes:	Code:		
Ascension Global Staffing & Executive Search		First Offer - \$21.90	100 / hour	\$2,190.00		Y
Product Code: Agency Notes:	_		Supplier Product (Supplier Notes:	Code:		
Cynet Systems		First Offer - \$27.00	100 / hour	\$2,700.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
VGreen Enterprises		First Offer - \$28.61	100 / hour	\$2,861.00		Y
Product Code: Agency Notes:	_		Supplier Product (Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$28.86	100 / hour	\$2,886.00		Y
Product Code: Agency Notes:	_		Supplier Product (Supplier Notes:	Code:		
4BBCorp [Ad]		First Offer - \$29.70	100 / hour	\$2,970.00		Y
Product Code: Agency Notes:				Code: iy Rate: BLS - Miami-F ⁻ L Median Hourly Wa		rdale-
Global Solutions Group, Inc.		First Offer - \$30.92	100 / hour	\$3,092.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

		Page 77 of 131
	Broward County Board of	TRN21222
COCENIT InfoTash Correction	County Commissioners	
COGENT InfoTech Corporation	First Offer - \$32.50 100 / hour \$3,250.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$33.00 100 / hour \$3.300.00	Y
Product Code:	Supplier Product Code:	· ·
Agency Notes:	Supplier Product Code. Supplier Notes:	
Moten Tate, INc.	First Offer - \$34.20 100 / hour \$3,420.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$34.64 100 / hour \$3,464.00	Y
Product Code:	Supplier Product Code:	·
Agency Notes:	Supplier Notes:	
Bleu Stream Corp	First Offer - \$35.00 100 / hour \$3,500.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Action Group MGMT	First Offer - \$36.00 100 / hour \$3,600.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Alrek Business Solutions Inc.	First Offer - \$37.50 100 / hour \$3,750.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Krasan Consulting Services, Inc.	First Offer - \$37.50 100 / hour \$3,750.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
US Tech Solutions, Inc.	First Offer - \$37.50 100 / hour \$3,750.00	Y
Product Code:	Supplier Product Code:	
	Course lieu Madaeu	
Agency Notes:	Supplier Notes:	V
Agency Notes: CambayCS	First Offer - \$37.88 100 / hour \$3,788.00	Y
Agency Notes: CambayCS Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code:	Y
Agency Notes: CambayCS Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes:	
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc.	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00	Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc.	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Voertime and Callout Supplier Product Code: Supplier Product Code:	y Dhs Specialist -
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	y Dhs Specialist -
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Vertime and Callout Supplier Notes: Supplier Notes:	y Dhs Specialist -
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communications Spect and Callout Rate	y ons Specialist - ialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: \$3,795.00 Supplier Product Code: Supplier Product Code: Overtime and Callout Supplier Notes: Supplier Notes: Communication Supplier Notes: Communications Speciand Callout Rate First Offer - \$38.12 100 / hour \$3,812.00	y Dhs Specialist -
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Communication Overtime and Callout Supplier Notes: Supplier Notes: Communication Supplier Notes: Communications Spect and Callout Rate First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code:	y ons Specialist - ialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communications Spect First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Product Code: Supplier Notes:	y ons Specialist - cialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: \$3,795.00 Supplier Product Code: \$3,795.00 Supplier Product Code: Communication Overtime and Callout Supplier Notes: Supplier Notes: Communication Supplier Notes: Communication Supplier Notes: Communications Spect Supplier Product Code: Supplier Notes: Supplier Product Code: \$3,812.00 First Offer - \$38.12 100 / hour \$3,812.00 Supplier Notes: Supplier Notes: \$3,900.00 First Offer - \$39.00 100 / hour \$3,900.00	y ons Specialist - ialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communications Spect First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$38.12 100 / hour \$3,812.00 Supplier Notes: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Product Code:	y ons Specialist - cialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communications Spect Supplier Notes: First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes:	Y ons Specialist - cialist - Overtime Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: IECKpert Product Code: Agency Notes: IECKpert	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: \$3,795.00 First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Notes: Communications Spect and Callout Rate First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: <t< td=""><td>y ons Specialist - cialist - Overtime</td></t<>	y ons Specialist - cialist - Overtime
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: IECKpert Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Notes: Communication Supplier Notes: First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$38.12 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.00 100 / hour \$4,000.00	Y ons Specialist - cialist - Overtime Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: IECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Notes: Communication Special First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.00 100 / hour \$4,000.00 Supplier Product Code: Supplier Product Code: Supplier Notes:	Y ons Specialist - cialist - Overtime Y Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation	image: state of the s	Y ons Specialist - cialist - Overtime Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Notes: Communication Supplier Notes: Supplier Notes: Communications Spect Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.00 100 / hour \$4,000.00 Supplier Notes: Supplier Notes: Supplier Notes: First Offer - \$40.37 100 / hour \$4,037.00 Supplier Product Code: Supplier Product Code: Supplier Product Code:	y ons Specialist - cialist - Overtime y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: Supplier Notes: \$3,795.00 Supplier Product Code: Supplier Product Code: Overtime and Callout Supplier Notes: Supplier Notes: Communication Overtime and Callout Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: First Offer - \$40.00 100 / hour \$4,000.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Pro	Y ons Specialist - ialist - Overtime Y Y Y Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Crown Services	initial initinitial initinitial initinitial initinitial initial initial initial	y ons Specialist - cialist - Overtime y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Crown Services Product Code: Agency Notes: Product Code: Agency Notes: Crown Service Corporation Product Code: Agency Notes: Crown Services Product Code: Agency Notes: Crown Services Product Code: Agency Notes: Crown Services Product Code: Product Code:<	initial initinitial initinitial initinitial initinitial initial initial initial	Y ons Specialist - ialist - Overtime Y Y Y Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: Dready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Crown Services Product Code: Agency Notes:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: \$3,795.00 First Offer - \$37.95 100 / hour \$3,795.00 Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Spect and Callout Rate First Offer - \$38.12 100 / hour \$3,812.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.00 100 / hour \$4,000.00 Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$40.37 100 / hour \$4,037.00 Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplie	Y ons Specialist - ialist - Overtime Y Y Y Y Y Y
Agency Notes:CambayCSProduct Code:Agency Notes:Beacon Systems, Inc.Product Code:Agency Notes:Agency Notes:OreadyProduct Code:Agency Notes:TECKpertProduct Code:Agency Notes:Information Consultants IncProduct Code:Agency Notes:Information Consultants IncProduct Code:Agency Notes:CorporationProduct Code:Agency Notes:Crown Service CorporationProduct Code:Agency Notes:Crown ServicesProduct Code:Agency Notes:Crown ServicesProduct Code:Agency Notes:Crown ServicesProduct Code:Agency Notes:Hire Hero	initial First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Product Code: Communication Supplier Notes: Communication Supplier Product Code: Supplier Notes: Communications Spect and Callout Rate Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:	Y ons Specialist - cialist - Overtime Y Y Y Y Y Y Y Y Y Y Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Crown Services Product Code: Agency Notes: Product Code: Agency Notes: Product Code: Agency Notes: Product Code:	First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: \$3,795.00 Supplier Product Code: Communication Overtime and Callout \$3,795.00 Supplier Product Code: Communication Overtime and Callout \$3,795.00 Supplier Product Code: Communication Overtime and Callout \$3,812.00 Supplier Notes: \$3,812.00 Supplier Product Code: Supplier Notes: \$3,900.00 Supplier Product Code: Supplier Notes: \$3,900.00 Supplier Product Code: Supplier Notes: \$3,900.00 First Offer - \$39.00 100 / hour \$3,900.00 Supplier Product Code: Supplier Notes: \$3,900.00 \$4,000.00 Supplier Product Code: Supplier Notes: \$4,000.00 \$4,000.00 Supplier Product Code: Supplier Notes: \$4,000.00<	Y ons Specialist - cialist - Overtime Y Y Y Y Y Y Y Y Y Y Y Y
Agency Notes: CambayCS Product Code: Agency Notes: Beacon Systems, Inc. Product Code: Agency Notes: Oready Product Code: Agency Notes: Dready Product Code: Agency Notes: TECKpert Product Code: Agency Notes: Information Consultants Inc Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: Crown Services Product Code: Agency Notes:	initial First Offer - \$37.88 100 / hour \$3,788.00 Supplier Product Code: Supplier Notes: \$3,795.00 Supplier Product Code: Supplier Product Code: Communication Overtime and Callout Supplier Notes: Communication Supplier Product Code: Communication Supplier Notes: Communication Supplier Product Code: Supplier Notes: Communications Spect and Callout Rate Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:	Y ons Specialist - ialist - Overtime Y Y Y Y Y Y Y Y Y Y Y

9/22/2021

	County Commissioners		
Agency Notes:		Supplier Notes:	
BuzzClan	First Offer - \$41.80	100 / hour \$4,180.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$43.00	100 / hour \$4,300.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Blue Chip Talent	First Offer - \$43.46	100 / hour \$4,346.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
PeopleNTech LLC	First Offer - \$45.00	100 / hour \$4,500.00	Y
Product Code:		Supplier Product Code: Supplier Notes:	
Agency Notes: SRS CONSULTING INC	First Offer - \$45.00	100 / hour \$4,500.00	Y
Product Code:		Supplier Product Code:	-
Agency Notes:		Supplier Notes:	
PriceSenz LLC	First Offer - \$45.00	100 / hour \$4,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
22nd Century Technologies, Inc.	First Offer - \$46.20	100 / hour \$4,620.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Office # 47 (0)	Supplier Notes:	v
MNK Infotech	First Offer - \$47.60	100 / hour \$4,760.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
IT Mantra	First Offer - \$49.00	100 / hour \$4,900.00	Y
Product Code:	First Offer - \$49.00	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
DVTECK	First Offer - \$50.00	100 / hour \$5,000.00	Y
Product Code:	11130 01101 \$30.00	Supplier Product Code:	•
Agency Notes:		Supplier Notes:	
LanceSoft	First Offer - \$51.09	100 / hour \$5,109.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Changing Technologies Inc.	First Offer - \$52.20	100 / hour \$5,220.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ResourceX	First Offer - \$52.50	100 / hour \$5,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$53.30	100 / hour \$5,330.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
		Digital Intelligence Systems, LLC will bill the Overtim and callout hours at 1.3X regular rates and will of co	
		pay our consultants the standard 1.5X OT pay rate.	
Tri-Force Consulting Services, Inc.	First Offer - \$55.00	100 / hour \$5,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$55.50	100 / hour \$5,550.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Next Generation Recruitment and Staffing Agency	First Offer - \$55.50	100 / hour \$5,550.00	Y

County Commissioners		
	Supplier Product Code: Supplier Notes:	
First Offer - \$56.70	100 / hour \$5,670.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$57.00	100 / hour \$5,700.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$60.00	100 / hour \$6,000.00	Y
	Supplier Product Code: Communications Spee Overtime and Callout Supplier Notes:	cialist -
First Offer - \$60.00	100 / hour \$6,000.00	Y
	Supplier Product Code:	
	Supplier Notes:	
First Offer - \$63.00	100 / hour \$6,300.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$66.75	100 / hour \$6,675.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$67.50	100 / hour \$6,750.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$67.50	100 / hour \$6,750.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$68.25	100 / hour \$6,825.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$70.50	100 / hour \$7,050.00	Y
	Supplier Product Code: Supplier Notes:	
First Offer - \$75.60	100 / hour \$7,560.00	Y
	Supplier Product Code: Supplier Notes: Provides operational technical and analytical su network oriented projects. These duties include and trunk analysis, network traffic studies and in developing standards and procedures, Analy communication problems as they are identified	e hardware assistance zes minor
	 First Offer - \$56.70 First Offer - \$57.00 First Offer - \$60.00 First Offer - \$60.00 First Offer - \$60.00 First Offer - \$60.00 First Offer - \$63.00 First Offer - \$66.75 First Offer - \$67.50 First Offer - \$68.25 First Offer - \$68.25 	Supplier Product Code: Supplier Notes:Image: Supplier State100 / hour\$5,670.00Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier StateSupplier Notes:Supplier Notes:Image: Supplier State100 / hour\$6,000.00Image: Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier Notes:100 / hour\$6,000.00Image: Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier Notes:Supplier Notes:Supplier Notes:Image: Supplier Notes:Supplier Notes:Image: Supplier Note

	County Commissioners		
RADgov, Inc.	First Offer - \$77.06	100 / hour \$7,706.00	Y
Product Code:	· ·	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tech Army, LLC	First Offer - \$79.80	100 / hour \$7,980.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TRYFACTA, INC.	First Offer - \$81.24	100 / hour \$8,124.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
SoftHQ, Inc	First Offer - \$82.50	100 / hour \$8,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$87.56	100 / hour \$8,756.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
etech-360,Inc	First Offer - \$95.00	100 / hour \$9,500.00	Y Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Interscripts,Inc.	First Offer - \$95.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Lumen Solutions Inc	First Offer - \$99.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Infojini, Inc.	First Offer - \$100.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
vTech Solution Inc.	First Offer - \$102.36		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	¥
Elegant Enterprise Wide Solutions	First Offer - \$127.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	V
TAD PGS	First Offer - \$135.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer \$147.00	Supplier Notes:	V
MSys Inc [Ad]	First Offer - \$147.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
CDW-Government LLC	First Offer - \$188.00		Y
			1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Agency Notes.		supplier notes.	

TRN2122277B1–01-17 Systems Analyst - Overtime and C	Callout				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	200 / hour	\$0.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: No Bid.	Code:		
ADAMS ENTERPRISE USA, INC	Alt 1 - \$4.50	200 / hour	\$900.00		Y
Product Code: Agency Notes:		Supplier Product (Code: ternate Offer Amour	,t	
Agency Notes.		Supplier Notes. An		n.	

			Page 81 of 131
	Broward County Board of County Commissioners		TRN212227
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	200 / hour \$1,200.00	Y
Product Code:	Hiscoller - \$0.00	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Sensatech LLC	First Offer - \$19.00		Y
Product Code:		Supplier Product Code:	I
Agency Notes:		Supplier Notes:	
Flysoft Inc	First Offer - \$21.00	200 / hour \$4,200.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
BuzzClan	First Offer - \$37.47	200 / hour \$7,494.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Bleu Stream Corp	First Offer - \$38.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cynet Systems	First Offer - \$39.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Moten Tate, INc.	First Offer - \$39.60		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$42.12		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Action Group MGMT	First Offer - \$48.00	200 / hour \$9,600.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$49.50	200 / hour \$9,900.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
DVTECK	First Offer - \$50.00	200 / hour \$10,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Ascension Global Staffing & Executive Search	First Offer - \$52.98	<u> </u>	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tanim Consulting	First Offer - \$55.00		Y
Product Code: Agency Notes:		Supplier Product Code: Systems Analyst Callout	- Overtime and
Agency Notes.		Supplier Notes:	
COGENT InfoTech Corporation	First Offer - \$58.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
PeopleNTech LLC	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ResourceX	First Offer - \$60.00	200 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
InstantServe	First Offer - \$60.00	200 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tri-Force Consulting Services, Inc.	First Offer - \$60.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes: 200 / hour \$12,178.00	Y
Global Solutions Group, Inc.	First Offer - \$60.89		

Product Code:			Supplier Product Code:
Agency Notes:		F. + O.C. + C1 20	Supplier Notes:
MNK Infotech		First Offer - \$61.20	200 / hour \$12,240.00 Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:
SRS CONSULTING INC		First Offer - \$65.00	200 / hour \$13,000.00 Y
Product Code: Agency Notes:			Supplier Product Code:
CambayCS		First Offer - \$65.61	Supplier Notes: 200 / hour \$13,122.00 Y
Product Code:		First Offer - \$05.01	Supplier Product Code:
Agency Notes:			Supplier Notes:
VGreen Enterprises		First Offer - \$67.03	200 / hour \$13,406.00 Y
Product Code:			Supplier Product Code:
Agency Notes:	11		Supplier Notes:
Alrek Business Solutions Inc.		First Offer - \$67.50	200 / hour \$13,500.00 Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:
Krasan Consulting Services, Inc.		First Offer - \$67.50	200 / hour \$13,500.00 Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:
Oready		First Offer - \$67.99	200 / hour \$13,598.00 Y
Product Code:			Supplier Product Code:
Agency Notes:			Supplier Notes:
Aptuity Solutions Inc		First Offer - \$68.00	200 / hour \$13,600.00 Y
Product Code:			Supplier Product Code:
Agency Notes:			Supplier Notes:
4BBCorp [Ad] Product Code:		First Offer - \$68.46	200 / hour \$13,692.00 Y Supplier Product Code:
Agency Notes:			Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale-West Palm Beach, FL Median Hourly Wage (50%)
IT Data Solutions		First Offer - \$70.00	200 / hour \$14,000.00 Y
Product Code:		First Offer - \$70.00	Supplier Product Code:
		First Offer - \$70.00 First Offer - \$74.93	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: Crown Services			Supplier Product Code: Supplier Notes: 200 / hour \$14,986.00 Y Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra			Supplier Product Code: Supplier Notes:Y200 / hour\$14,986.00YSupplier Product Code: Supplier Notes:Y200 / hour\$15,400.00Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes:		First Offer - \$74.93	Supplier Product Code: Supplier Notes: 200 / hour \$14,986.00 Y Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code:		First Offer - \$74.93	Supplier Product Code: Supplier Notes: 200 / hour \$14,986.00 Y Supplier Product Code: Supplier Notes: 200 / hour \$15,400.00 Y Supplier Product Code: 200 / hour \$15,400.00 Y Supplier Product Code:
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes:		First Offer - \$74.93 First Offer - \$77.00	Supplier Product Code: Supplier Notes: 200 / hour \$14,986.00 Supplier Product Code: Supplier Notes: 200 / hour \$15,400.00 Y Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation		First Offer - \$74.93 First Offer - \$77.00	Supplier Product Code:Supplier Notes:\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:\$15,400.00YSupplier Notes:\$15,400.00YSupplier Product Code:\$15,400.00YSupplier Notes:\$15,444.00Y200 / hour\$15,444.00Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation Product Code:		First Offer - \$74.93 First Offer - \$77.00	Supplier Product Code:Supplier Notes:200 / hour\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:200 / hour\$15,400.00YSupplier Product Code:Supplier Notes:Y200 / hour\$15,400.00YSupplier Notes:200 / hour\$15,444.00YSupplier Product Code:\$15,444.00YSupplier Product Code:\$15,444.00Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes:		First Offer - \$74.93 First Offer - \$77.00 First Offer - \$77.22	Supplier Product Code:Supplier Notes:200 / hour\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:200 / hour\$15,400.00YSupplier Product Code:200 / hour\$15,444.00YSupplier Notes:200 / hour\$15,444.00YSupplier Product Code:Supplier Product Code:YSupplier Product Code:Supplier Product Code:Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: US Tech Solutions, Inc. Product Code:		First Offer - \$74.93 First Offer - \$77.00 First Offer - \$77.22	Supplier Product Code:Supplier Notes:\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:\$15,400.00YSupplier Notes:\$15,400.00YSupplier Product Code:\$15,444.00YSupplier Notes:\$15,444.00YSupplier Product Code:\$15,444.00YSupplier Product Code:\$15,500.00YSupplier Notes:\$15,500.00YSupplier Product Code:\$15,500.00Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: US Tech Solutions, Inc. Product Code: Agency Notes: TECKpert Product Code:		First Offer - \$74.93 First Offer - \$77.00 First Offer - \$77.22 First Offer - \$77.50	Supplier Product Code:Supplier Notes:\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:\$15,400.00YSupplier Notes:\$15,400.00YSupplier Product Code:\$15,444.00YSupplier Notes:\$15,444.00Y200 / hour\$15,444.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,600.00YSupplier Notes:\$15,600.00YSupplier Product Code:\$15,600.00YSupplier Product Code:\$15,600.00Y
Product Code: Agency Notes: Crown Services Product Code: Agency Notes: IT Mantra Product Code: Agency Notes: Abacus Service Corporation Product Code: Agency Notes: US Tech Solutions, Inc. Product Code: Agency Notes: US Tech Solutions, Inc.		First Offer - \$74.93 First Offer - \$77.00 First Offer - \$77.22 First Offer - \$77.50	Supplier Product Code:Supplier Notes:\$14,986.00Y200 / hour\$14,986.00YSupplier Product Code:\$15,400.00YSupplier Notes:\$15,400.00Y200 / hour\$15,400.00YSupplier Product Code:\$15,444.00YSupplier Notes:\$15,444.00Y200 / hour\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Product Code:\$15,500.00YSupplier Notes:\$15,600.00Y

Co	unty Commis	sioners				
			Supplier Notes:			
	First Offer -	\$79.50	200 / hour	\$15,900.00		Y
			1	ode:		
			Supplier Notes:			
	First Offer -	\$80.00	200 / hour	\$16,000.00	Y	Y
			Supplier Product Co Supplier Notes:	ode:		
	First Offer -	\$80.00	200 / hour	\$16,000.00		Y
			Supplier Product Co	ode:		
			Supplier Notes:			
	First Offer -	\$82.50	200 / hour	\$16,500.00		Y
			Supplier Product Co Supplier Notes:	ode:		
	First Offer -	\$82.94	200 / hour	\$16,588.00		Y
			1	ode:		
	First Offer -	\$84.38	200 / hour	\$16,876.00		Y
			Supplier Product Co Supplier Notes:	ode:		
	First Offer -	\$84.44	200 / hour	\$16,888.00		Y
			1	ode:		
	First Offer -	\$85.80	200 / hour	\$17,160.00		Y
		+00100	Supplier Product Co	I		-
	First Offer -	\$87.00	200 / hour	\$17,400.00		Y
			1	ode:		
			Supplier Notes:			
	First Offer -	\$88.50	200 / hour	\$17,700.00		Y
			Supplier Product Co Supplier Notes:	ode:		
	First Offer -	\$89.10	200 / hour	\$17,820.00		Y
			Supplier Product Co Supplier Notes:	ode:		
	First Offer -	\$89.25	200 / hour	\$17,850.00		Y
			Supplier Product Co Supplier Notes:	ode:		
T	First Offer -	\$90.00	200 / hour	\$18,000.00		Y
			1	ode:		
	First Offor	\$91.00		\$18 200 00		Y
	First Offer -	φ91.00		I		-
			Supplier Notes: Assi analysis of software/s	sts in the implement systems technical sup pabilities. Assists in co	pport and oding and	-
		First Offer - First Offer -	County Commissioners First Offer - \$79.50 First Offer - \$80.00 First Offer - \$82.50 First Offer - \$82.94 First Offer - \$82.94 First Offer - \$84.38 First Offer - \$84.44 First Offer - \$85.80 First Offer - \$89.10 First Offer - \$89.10 First Offer - \$89.10 First Offer - \$90.00 First Offer - \$91.00	Supplier Notes:First Offer - \$79.50200 / hourSupplier Product Co Supplier Product Co Supplier Product Co Supplier Notes:First Offer - \$80.00200 / hourFirst Offer - \$80.00200 / hourSupplier Product Co Supplier Product Co Supplier Notes:First Offer - \$82.50200 / hourFirst Offer - \$82.94200 / hourSupplier Product Co Supplier Product Co Supplier Notes:First Offer - \$84.38200 / hourFirst Offer - \$84.38200 / hourFirst Offer - \$84.38200 / hourSupplier Notes:Supplier Notes:First Offer - \$84.38200 / hourFirst Offer - \$84.44200 / hourSupplier Notes:Supplier Notes:First Offer - \$84.38200 / hourSupplier Notes:Supplier Notes:First Offer - \$84.44200 / hourFirst Offer - \$85.80200 / hourFirst Offer - \$85.80200 / hourSupplier Notes:Digital Intelligence Sy and callout hours at pay our consultants to pay our consultants to 	Supplier Notes: First Offer - \$79.50 200 / hour \$15,900.00 Supplier Product Code: Supplier Notes: First Offer - \$80.00 200 / hour \$16,000.00 Supplier Notes: \$16,000.00 \$16,000.00 First Offer - \$80.00 200 / hour \$16,000.00 Supplier Notes: \$16,000.00 \$16,000.00 First Offer - \$82.00 200 / hour \$16,500.00 Supplier Notes: \$16,500.00 \$upplier Notes: First Offer - \$82.94 200 / hour \$16,588.00 Supplier Notes: \$upplier Notes: \$upplier Notes: First Offer - \$84.38 200 / hour \$16,876.00 Supplier Notes: \$upplier Notes: \$upplier Notes: First Offer - \$84.34 200 / hour \$16,888.00 Supplier Notes: \$upplier Notes: \$upplier Notes: First Offer - \$84.34 200 / hour \$17,160.00 Supplier Notes: \$upplier Notes: \$upplier Notes: Digital Intelligence Systems, LLC will bill th and callout hours at 1.3X regular rates an pay our consultants the standard 1.5X OT Supplie	Supplier Notes: First Offer - \$79.50 200 / hour \$15,900.00 Supplier Product Code: Supplier Product Code: Supplier Notes: First Offer - \$82.50 200 / hour \$16,000.00 Y First Offer - \$82.50 200 / hour \$16,500.00 Supplier Notes: First Offer - \$82.50 200 / hour \$16,588.00 Supplier Notes: First Offer - \$82.94 200 / hour \$16,588.00 Supplier Notes: First Offer - \$84.48 200 / hour \$16,876.00 Supplier Notes: First Offer - \$84.44 200 / hour \$16,888.00 Supplier Notes: First Offer - \$84.42 200 / hour \$16,888.00 Supplier Notes: First Offer - \$85.80 200 / hour \$17,160.00 Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: First Offer - \$88.50 200 / hour \$17,400.00 <

Innovative Systems Group of Florida	First Offer - \$91.13	200 / hour \$18,226.00 Y	-
Product Code:		Supplier Product Code:	1
Agency Notes:		Supplier Notes:	
Beacon Systems, Inc.	First Offer - \$91.14	200 / hour \$18,228.00 Y	
Product Code:		Supplier Product Code: Systems Analyst - Overtime and	
Agency Notes:		Callout	
		Supplier Notes: Systems Analyst - Overtime and Callout Rate	
Next Generation Recruitment and Staffing Agency	First Offer - \$91.50	200 / hour \$18,300.00 Y	
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer to 200	Supplier Notes:	-
Information Consultants Inc Product Code:	First Offer - \$92.00	200 / hour \$18,400.00 Y Supplier Product Code: Y	-
Agency Notes:		Supplier Product Code: Supplier Notes:	
LanceSoft	First Offer - \$93.41	200 / hour \$18,682.00 Y	1
Product Code:		Supplier Product Code:	٦
Agency Notes:		Supplier Notes:	
TRYFACTA, INC.	First Offer - \$93.89	200 / hour \$18,778.00 Y	
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$93.91	Supplier Notes: 200 / hour \$18,782.00 Y	۲
RADgov, Inc. Product Code:	First Offer - \$95.91	Supplier Product Code:	-
Agency Notes:		Supplier Notes:	
TRG, Inc	First Offer - \$97.50	200 / hour \$19,500.00 Y	Π
Product Code:	1	Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$97.65	200 / hour \$19,530.00 Y	_
Product Code:		Supplier Product Code: Supplier Notes:	
Agency Notes: ManpowerGroup Sales Support	First Offer - \$100.50	200 / hour \$20,100.00 Y	
Product Code:		Supplier Product Code:	-
Agency Notes:		Supplier Notes:	
PriceSenz LLC	First Offer - \$101.00	200 / hour \$20,200.00 Y	٦
Product Code:	·	Supplier Product Code:	٦
Agency Notes:		Supplier Notes:	_
Kellton Tech	First Offer - \$105.00	200 / hour \$21,000.00 Y	
Product Code:		Supplier Product Code: Supplier Notes:	
Agency Notes: Lumen Solutions Inc	First Offer - \$109.00	200 / hour \$21,800.00 Y	4
Product Code:		Supplier Product Code:	\neg
Agency Notes:		Supplier Notes:	

Infojini, Inc.		First Offer - \$112.50	200 / hour	\$22,500.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Tech Army, LLC		First Offer - \$114.56	200 / hour	\$22,912.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
TAD PGS		First Offer - \$127.50	200 / hour	\$25,500.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
Elegant Enterprise Wide Solutions		First Offer - \$135.00	200 / hour	\$27,000.00	Y
Product Code:	_		Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
MSys Inc [Ad]		First Offer - \$135.00	200 / hour	\$27,000.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
vTech Solution Inc.		First Offer - \$147.39	200 / hour	\$29,478.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		
CDW-Government LLC		First Offer - \$233.00	200 / hour	\$46,600.00	Y
Product Code:			Supplier Product (Code:	
Agency Notes:			Supplier Notes:		

TRN2122277B1-01-18 Programmer Analyst - Over	time an	d Callout					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Prelude systems pvt. ltd.		First Offer - \$0.00	100 / hour	\$0.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: No Bid.				
ADAMS ENTERPRISE USA, INC		Alt 1 - \$4.50	100 / hour	\$450.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes: A	Code: Iternate Offer Amour	t		
ADAMS ENTERPRISE USA, INC		First Offer - \$6.00	100 / hour	\$600.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Sensatech LLC		First Offer - \$21.00	100 / hour	\$2,100.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Flysoft Inc		First Offer - \$22.00	100 / hour	\$2,200.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Moten Tate, INc.		First Offer - \$39.35	100 / hour	\$3,935.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Cynet Systems		First Offer - \$44.00	100 / hour	\$4,400.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
BuzzClan		First Offer - \$46.66	100 / hour	\$4,666.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Zenith Talent Corporation, dba Crowdstaffing		First Offer - \$46.80	100 / hour	\$4,680.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
Bleu Stream Corp		First Offer - \$50.00	100 / hour	\$5,000.00		Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:			
DVTECK		First Offer - \$50.00	100 / hour	\$5,000.00		Y	

Draduct Cada	50	Sunty Commissioners	Cumulian Durat	Pada.		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	.oae:		
Ascension Global Staffing & Executive Search	Π	First Offer - \$50.43	100 / hour	\$5,043.00		Y
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:			
Action Group MGMT		First Offer - \$51.00	100 / hour	\$5,100.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Beryllus Consulting & Staffing		First Offer - \$52.50		\$5,250.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Global Solutions Group, Inc.		First Offer - \$53.53	100 / hour	\$5,353.00		Y
Product Code:			Supplier Product (· · · · ·		
Agency Notes:			Supplier Notes:			
Hire Hero		First Offer - \$57.38	100 / hour	\$5,738.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
PeopleNTech LLC		First Offer - \$60.00	100 / hour	\$6,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
InstantServe		First Offer - \$63.00	100 / hour	\$6,300.00		Y
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
4BBCorp [Ad] Product Code:		First Offer - \$63.58	100 / hour Supplier Product C	\$6,358.00		Y
Aptuity Solutions Inc		First Offer - \$64.00	100 / hour	\$6,400.00		Y
Product Code:			Supplier Product (
Agency Notes:			Supplier Notes:			
VGreen Enterprises		First Offer - \$64.57	100 / hour	\$6,457.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Sullivan and Cogliano		First Offer - \$65.00	100 / hour	\$6,500.00		Y
Product Code: Agency Notes:			duties. Duties includ conduct research a system requiremen priorities and monit systems; prepare fe	on systems analysis ar de: confer with user cond analysis to formula ts, scope and objectiv tor progress of compl easibility studies; prep which application sof	ommunity ate and de ves; establi lex informa are detai l e	r to efine ish ation ed be

		1		
SRS CONSULTING INC	First Offer - \$65.00	100 / hour	\$6,500.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:	First Offer - \$65.00	Supplier Notes: 100 / hour	\$6,500.00	Y
COGENT InfoTech Corporation Product Code:	First Offer - \$05.00	I		T
Agency Notes:		Supplier Product C Supplier Notes:	oue.	
MNK Infotech	First Offer - \$65.28	100 / hour	\$6,528.00	Y
Product Code:		Supplier Product C	· · ·	
Agency Notes:		Supplier Notes:		
Alrek Business Solutions Inc.	First Offer - \$67.50	100 / hour	\$6,750.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Krasan Consulting Services, Inc.	First Offer - \$67.50	100 / hour	\$6,750.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		
Oready	First Offer - \$67.99	100 / hour	\$6,799.00	Y
		Supplier Product C	ode:	
Product Code:		1		
Agency Notes:	First Offer - \$68.00	Supplier Notes:		Y
Agency Notes: Tanim Consulting	First Offer - \$68.00	Supplier Notes: 100 / hour	\$6,800.00	Y
Agency Notes: Tanim Consulting Product Code:	First Offer - \$68.00	Supplier Notes:	\$6,800.00	
Agency Notes: Tanim Consulting Product Code:	First Offer - \$68.00	Supplier Notes: 100 / hour Supplier Product C	\$6,800.00	
Agency Notes: Tanim Consulting Product Code: Agency Notes:	First Offer - \$68.00 First Offer - \$70.00	Supplier Notes: 100 / hour Supplier Product C and Callout	\$6,800.00	
Agency Notes: Tanim Consulting Product Code: Agency Notes: Tri-Force Consulting Services, Inc. Product Code: Product Code:	1	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C	\$6,800.00 ode: Programmer A \$7,000.00	nalyst - Overtime
Agency Notes: Tanim Consulting Product Code: Agency Notes: Tri-Force Consulting Services, Inc. Product Code: Agency Notes:	First Offer - \$70.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Notes:	\$6,800.00 Fode: Programmer A \$7,000.00	nalyst - Overtime
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. TECKpert Image: Consulting Services, Inc. Image: Consulting Services, Inc.	1	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 code: Programmer A \$7,000.00 code: \$7,200.00	nalyst - Overtime
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Product Code: Image: Consulting Services, Inc. Image: Consulting Services, Inc.	First Offer - \$70.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Product C	\$6,800.00 code: Programmer A \$7,000.00 code: \$7,200.00	nalyst - Overtime
Agency Notes: Image: Consulting Product Code: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc.	First Offer - \$70.00 First Offer - \$72.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes:	\$6,800.00 Fode: Programmer A \$7,000.00 Fode: \$7,200.00	nalyst - Overtime
Agency Notes: Image: Consulting Product Code: Agency Notes: Image: Consulting Services, Inc. Tri-Force Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: TECKpert Image: Consulting Services, Inc. Product Code: Agency Notes: US Tech Solutions, Inc. Image: Consultion Services, Inc.	First Offer - \$70.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00	nalyst - Overtime
Agency Notes: Image: Consulting Product Code: Agency Notes: Tri-Force Consulting Services, Inc. Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. VS Tech Solutions, Inc. Product Code: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc.	First Offer - \$70.00 First Offer - \$72.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00	nalyst - Overtime
Agency Notes: Image: Consulting Product Code: Agency Notes: Image: Consulting Services, Inc.	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour	\$6,800.00 iode: Programmer A \$7,000.00 iode: \$7,200.00 iode: \$7,250.00 iode:	nalyst - Overtime
Agency Notes: Image: Consulting Product Code: Agency Notes: Tri-Force Consulting Services, Inc. Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. VS Tech Solutions, Inc. Product Code: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc.	First Offer - \$70.00 First Offer - \$72.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 ode: Programmer A \$7,000.00 ode: \$7,200.00 ode: \$7,250.00 ode: \$7,250.00	nalyst - Overtime Y Y Y
Agency Notes: Image: Consulting Genuices, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Digital Intelligence Systems, LLC Image: Consulting Services, Inc. Image: Consulting Services, Inc. Image: Consulting Services, Inc.	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Digital Intelligence Systems, LLC Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Digital Intelligence Systems, LLC Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Digital Intelligence Systems, LLC Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Digital Intelligence Systems, LLC Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. US Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Digital Intelligence Systems, LLC Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Product Code: Agency Notes: Image: Consult Code: Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Service Corporation Product Code: Agency Notes: Tri-Force Consulting Services, Inc. Image: Service Corporation Product Code: Agency Notes: TECKpert Image: Service Corporation	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour	\$6,800.00 Tode: Programmer A \$7,000.00 Tode: \$7,200.00 Tode: \$7,250.00 Tode: \$7,300.00 Tode: \$7,300.00 Tode: \$7,300.00	nalyst - Overtime Y Y Y Y Y ems, LLC will bill
Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. TECKpert Product Code: Agency Notes: US Tech Solutions, Inc. Product Code: Agency Notes: Digital Intelligence Systems, LLC Product Code: Agency Notes: Agency Notes: Image: Consult Code: Agency Notes: Digital Intelligence Systems, LLC Product Code: Agency Notes: Abacus Service Corporation Image: Consult Code: Image: Consult Code: Abacus Service Corporation Image: Consult Code: Image: Consult Code: Abacus Service Corporation Image: Consult Code: Image: Consult Code: Abacus Service Corporation Image: Consult Code: Image: Consult Code:	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50 First Offer - \$73.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate exempt positions su 100 / hour Supplier Product C	\$6,800.00 ode: Programmer A \$7,000.00 ode: \$7,200.00 ode: \$7,250.00 ode: \$7,300.00 ode: \$7,300.00 state in the ligence System of the state is one. \$7,303.00	nalyst - Overtime Y Y Y Y Y Y Y Y Y Y
Agency Notes: Image: Consulting Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. VS Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Conse: Consultions,	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.00 First Offer - \$72.50 First Offer - \$73.00 First Offer - \$73.03	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate exempt positions su 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate	\$6,800.00 ode: Programmer A \$7,000.00 ode: \$7,200.00 ode: \$7,250.00 ode: \$7,300.00 ode: \$7,300.00 ode: \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,300.00 \$7,250.00 \$7,300.00 \$7,500	nalyst - Overtime Y
Agency Notes: Image: Consulting Consulte Consulting Consulting Consulte Consulting Con	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.50 First Offer - \$73.00	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Notes: Dig the regular-time rate exempt positions su 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate exempt positions su 100 / hour Supplier Notes: 100 / hour	\$6,800.00 aode: Programmer A \$7,000.00 aode: \$7,200.00 aode: \$7,250.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aod: aode: aode: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: ao	nalyst - Overtime Y Y Y Y Y Y Y Y Y Y
Agency Notes: Image: Consulting Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. Product Code: Agency Notes: Image: Consulting Services, Inc. Image: Consulting Services, Inc. VS Tech Solutions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Product Code: Agency Notes: Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Consultions, Inc. Image: Consultions, Inc. Image: Consultions, Inc. Abacus Service Corporation Image: Conse: Consultions,	First Offer - \$70.00 First Offer - \$72.00 First Offer - \$72.00 First Offer - \$72.50 First Offer - \$73.00 First Offer - \$73.03	Supplier Notes: 100 / hour Supplier Product C and Callout Supplier Notes: 100 / hour Supplier Product C Supplier Product C Supplier Product C Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate exempt positions su 100 / hour Supplier Product C Supplier Notes: Dig the regular-time rate	\$6,800.00 aode: Programmer A \$7,000.00 aode: \$7,200.00 aode: \$7,250.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: \$7,300.00 aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aode: aod: aode: aode: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: aod: ao	nalyst - Overtime Y

	Broward County Boa County Commission			TRN212227
ResourceX	First Offer - \$7	1	\$7,500.00	Y
Product Code:	• •	Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Blue Chip Talent	First Offer - \$7		\$7,526.00	Y
Product Code:		Supplier Product Code	ə:	
Agency Notes: IT Mantra	First Offer - \$7	Supplier Notes:	\$7,700.00	Y
Product Code:	Filst Offer = \$7	Supplier Product Code		
Agency Notes:		Supplier Notes:		
etech-360,Inc	First Offer - \$8	.00 100 / hour	\$8,000.00	Y Y
Product Code:		Supplier Product Code	9:	
Agency Notes:		Supplier Notes:		
Crown Services	First Offer - \$8	.00 100 / hour	\$8,100.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Interscripts,Inc.	First Offer - \$8		\$8,100.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Darwin Recruitment	First Offer - \$8		\$8,400.00	Y
Product Code:	1115001101 40	Supplier Product Code		
Agency Notes:		Supplier Notes:		
IT Data Solutions	First Offer - \$8	.00 100 / hour	\$8,500.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
Beacon Systems, Inc.	First Offer - \$8		\$8,613.00	Y
Product Code:		Supplier Product Code	e: Programmer Ana	alyst - Overtime
		Callout Rate		
Information Consultants Inc	First Offer - \$9		\$9,000.00	Y
Product Code:		Supplier Product Code	3:	
Agency Notes:	First Offer - \$9	.45 100 / hour	\$9,045.00	Y
Changing Technologies Inc. Product Code:	First Offer - \$9	Supplier Product Code		T
Agency Notes:		Supplier Notes:	2.	
LanceSoft	First Offer - \$9		\$9,163.00	Y
Product Code: Agency Notes:	i '	Supplier Product Code Supplier Notes:	3:	
Arch	First Offer - \$9		\$9,331.00	Y
Product Code:		Supplier Product Code		
Agency Notes:		Supplier Notes:		
FAAZ consulting	First Offer - \$9	.45 100 / hour	\$9,345.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Next Generation Recruitment and Staffing Agency	First Offer - \$9		\$9,400.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
CambayCS	First Offer - \$9		\$9,468.00	Y
Product Code:	11150 01101 45	Supplier Product Code	· .	
Agency Notes:		Supplier Notes:		
22nd Century Technologies, Inc.	First Offer - \$9	.70 100 / hour	\$9,570.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
TRYFACTA, INC.	First Offer - \$9		\$9,600.00	Y
Product Code:		Supplier Product Code	3:	

	County Commissioners		
Agency Notes:		Supplier Notes:	
TRG, Inc	First Offer - \$99.00	100 / hour \$9,900.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
RADgov, Inc.	First Offer - \$101.06	100 / hour \$10,106.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$102.98	100 / hour \$10,298.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$105.00	100 / hour \$10,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:	11	Supplier Notes:	
Infojini, Inc.	First Offer - \$105.00	100 / hour \$10,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
SoftHQ, Inc	First Offer - \$108.00	100 / hour \$10,800.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Lumen Solutions Inc	First Offer - \$109.00	100 / hour \$10,900.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Kellton Tech	First Offer - \$112.50	100 / hour \$11,250.00	Υ
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tech Army, LLC	First Offer - \$115.53	100 / hour \$11,553.00	Y
Product Code:		Supplier Product Code: Supplier Notes:	
Agency Notes: Cloud Consulting Services Inc	First Offer - \$118.50	100 / hour \$11,850.00	Y
Product Code:			<u> </u>
Agency Notes:		Supplier Product Code: Supplier Notes:	
vTech Solution Inc.	First Offer - \$119.13	100 / hour \$11,913.00	Y
Product Code:		Supplier Product Code:	· ·
Agency Notes:		Supplier Notes:	
DatamanUSA, LLC	First Offer - \$120.00	100 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	<u> </u>
Agency Notes:		Supplier Notes:	
Innovative Systems Group of Florida	First Offer - \$120.49	100 / hour \$12,049.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
PriceSenz LLC	First Offer - \$121.00	100 / hour \$12,100.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TAD PGS	First Offer - \$127.50	100 / hour \$12,750.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
MSys Inc [Ad]	First Offer - \$142.50	100 / hour \$14,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Elegant Enterprise Wide Solutions	First Offer - \$147.00	100 / hour \$14,700.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
CDW-Government LLC	First Offer - \$255.00	100 / hour \$25,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	

Broward County Board of County Commissioners

TRN2122277B1–01-19 Database Analyst - Overtime					
Supplier	Unit Price		Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	240 / hour	\$0.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: No Bid.	2:		
Ascension Global Staffing & Executive Search	First Offer - \$0.2351	240 / hour	\$56.424		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
ADAMS ENTERPRISE USA, INC	Alt 1 - \$4.50	240 / hour	\$1,080.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes: Alterna		าt	
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	240 / hour	\$1,440.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:	First Offer - \$22.00	Supplier Notes:	¢5 280 00		Y
Sensatech LLC	Hrst Offer - \$22.00	240 / hour	\$5,280.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2.		
Flysoft Inc	First Offer - \$24.00	240 / hour	\$5,760.00		Y
Product Code:		Supplier Product Code			· ·
Agency Notes:		Supplier Notes:			
BuzzClan	First Offer - \$39.18	240 / hour	\$9,403.20		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Cynet Systems	First Offer - \$39.50	240 / hour	\$9,480.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$42.12	240 / hour	\$10,108.80		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Action Group MGMT	First Offer - \$47.00	240 / hour	\$11,280.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Moten Tate, INc.	First Offer - \$49.21	240 / hour	\$11,810.40		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	5:		
Bleu Stream Corp	First Offer - \$50.00		\$12,000.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
DVTECK	First Offer - \$50.00	240 / hour	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Beryllus Consulting & Staffing	First Offer - \$52.50	240 / hour	\$12,600.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
COGENT InfoTech Corporation	First Offer - \$58.50	240 / hour	\$14,040.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Global Solutions Group, Inc.	First Offer - \$58.88	240 / hour	\$14,131.20		Y
Product Code:		Supplier Product Code	e:		
		Supplier Notes:			
Agency Notes:					N N
PeopleNTech LLC	First Offer - \$60.00	240 / hour	\$14,400.00		Y
PeopleNTech LLC Product Code:	First Offer - \$60.00	Supplier Product Code			Y
PeopleNTech LLC	First Offer - \$60.00	<u> </u>			Y

	C	County Commissioners	I		1
Agency Notes:			Supplier Notes:		
MNK Infotech		First Offer - \$63.92	240 / hour	\$15,340.80	Y
Product Code:			Supplier Product	Code:	
Agency Notes: Blue Chip Talent		First Offer - \$66.78	Supplier Notes: 240 / hour	\$16,027.20	Y
Product Code:		Filst Oller - \$00.76	Supplier Product		T
Agency Notes:			Supplier Notes:		
VGreen Enterprises		First Offer - \$67.00	240 / hour	\$16,080.00	Y
Product Code:			Supplier Product Supplier Notes:	Code:	
Agency Notes: Alrek Business Solutions Inc.		First Offer - \$67.50	240 / hour	\$16,200.00	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	· · · ·	
Krasan Consulting Services, Inc.		First Offer - \$67.50	240 / hour	\$16,200.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Oready		First Offer - \$67.99	240 / hour	\$16,317.60	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
Sullivan and Cogliano		First Offer - \$70.00	240 / hour	\$16,800.00	Y
			monitors and tune technical problems	; implements and maintair s database; provides resol s and overall monitoring of ures and integration of sys	ution to the
Tanim Consulting		First Offer - \$75.00	240 / hour	\$18,000.00	Y
Product Code: Agency Notes:			Supplier Product Callout Supplier Notes:	Code: Database Analyst - C	Overtime and
SRS CONSULTING INC		First Offer - \$75.00	240 / hour	\$18,000.00	Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
ResourceX		First Offer - \$75.00	240 / hour	\$18,000.00	Y
Product Code:			Supplier Product	Code:	
Agency Notes:			Supplier Notes:		
Interscripts,Inc.		First Offer - \$75.00	240 / hour	\$18,000.00	Y
Product Code:			Supplier Product	Lode:	
Agency Notes:		First Offer - \$76.22	Supplier Notes: 240 / hour	¢10 202 00	v
4BBCorp [Ad] Product Code:		HISLOTTER - \$76.22		\$18,292.80	Y
Agency Notes:			Supplier Product Supplier Notes: Pay Rate: BLS - Mia FL Median Hourly N	mi-Fort Lauderdale-West F	Palm Beach,

		1		
IT Mantra	First Offer - \$77.00	240 / hour	\$18,480.00	Y
Product Code:	 	Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Crown Services	First Offer - \$78.98	240 / hour	\$18,955.20	Y
Product Code:		Supplier Product	Code:	
Agency Notes:	 	Supplier Notes:		
Digital Intelligence Systems, LLC	First Offer - \$79.00	240 / hour	\$18,960.00	Y
Product Code:		Supplier Product		
Agency Notes:			gital Intelligence Systems	
		exempt positions s	tes for any overtime hou	rs for all
		exempt positions s	uch as this one.	
Abacus Service Corporation	First Offer - \$79.10	240 / hour	\$18,984.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:	 	Supplier Notes:		
Tri-Force Consulting Services, Inc.	First Offer - \$80.00	240 / hour	\$19,200.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:	 	Supplier Notes:		
TECKpert	First Offer - \$81.00	240 / hour	\$19,440.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
US Tech Solutions, Inc.	First Offer - \$81.50	240 / hour	\$19,560.00	Y
Product Code:	Filst Offer - \$61.50		· · · · · ·	1
Agency Notes:		Supplier Product Supplier Notes:	Loue.	
COCHHBHA ENTERPRISES, INC	First Offer - \$82.08	240 / hour	\$19,699.20	Y
Product Code:		Supplier Product	· ·	
Agency Notes:		Supplier Notes:		
CambayCS	First Offer - \$82.14	240 / hour	\$19,713.60	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Aptuity Solutions Inc	First Offer - \$83.00	240 / hour	\$19,920.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
IT Data Solutions	First Offer - \$85.00	240 / hour	\$20,400.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Darwin Recruitment	First Offer - \$87.00	240 / hour	\$20,880.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
FAAZ consulting	First Offer - \$89.25	240 / hour	\$21,420.00	Y
Product Code:		Supplier Product	Lode:	
Agency Notes:	 First Offer ¢00.00	Supplier Notes:	¢21.600.00	V
Hire Hero Product Code:	First Offer - \$90.00	240 / hour	\$21,600.00	Y
Agency Notes:		Supplier Product Supplier Notes:		
etech-360,Inc	First Offer - \$90.00	240 / hour	\$21,600.00	Y Y
Product Code:		Supplier Product	· · · · · · · · · · · · · · · · · · ·	
Agency Notes:		Supplier Notes:		
		-		

	Broward County Board of County Commissioners		TRN212227
Information Consultants Inc	First Offer - \$92.00) 240 / hour \$22,080.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Arch	First Offer - \$93.31	240 / hour \$22,394.40	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beacon Systems, Inc.	First Offer - \$94.65		Y
Product Code: Agency Notes:		Supplier Product Code: Database Analyst - Callout Supplier Notes: Database Analyst - Overtin Rate	
TRYFACTA, INC.	First Offer - \$96.00) 240 / hour \$23,040.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Changing Technologies Inc.	First Offer - \$96.90) 240 / hour \$23,256.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
LanceSoft	First Offer - \$97.20	240 / hour \$23,328.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
TRG, Inc	First Offer - \$97.50	240 / hour \$23,400.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
SoftHQ, Inc	First Offer - \$99.00	240 / hour \$23,760.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
22nd Century Technologies, Inc.	First Offer - \$99.00) 240 / hour \$23,760.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$100.68	3 240 / hour \$24,163.20	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
RADgov, Inc.	First Offer - \$104.51	240 / hour \$25,082.40	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Next Generation Recruitment and Staffing Agency	First Offer - \$105.00	240 / hour \$25,200.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Innovative Systems Group of Florida	First Offer - \$109.35	5 240 / hour \$26,244.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$109.50	240 / hour \$26,280.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
PriceSenz LLC	First Offer - \$112.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Kellton Tech	First Offer - \$112.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cloud Consulting Services Inc	First Offer - \$112.50) 240 / hour \$27,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Infojini, Inc.	First Offer - \$112.50		Y
Product Code:		Supplier Product Code:	

gency Notes:			Supplier Notes:			
Tech Army, LLC		First Offer - \$115.37	240 / hour	\$27,688.80		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
DatamanUSA, LLC		First Offer - \$120.00	240 / hour	\$28,800.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
TAD PGS		First Offer - \$135.00	240 / hour	\$32,400.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Lumen Solutions Inc		First Offer - \$139.00	240 / hour	\$33,360.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
vTech Solution Inc.		First Offer - \$153.465	240 / hour	\$36,831.60		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Elegant Enterprise Wide Solutions		First Offer - \$165.00	240 / hour	\$39,600.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
MSys Inc [Ad]		First Offer - \$177.00	240 / hour	\$42,480.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
CDW-Government LLC		First Offer - \$255.00	240 / hour	\$61,200.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

TRN2122277B1-01-20 Project Manager I - Overtime a	and Callout				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	100 / hour	\$0.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes: No Bid.	ode:		
ADAMS ENTERPRISE USA, INC	Alt 1 - \$4.50	100 / hour	\$450.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Alt	' ode: ernate Offer Amount		
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	100 / hour	\$600.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Sensatech LLC	First Offer - \$30.00	100 / hour	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Flysoft Inc	First Offer - \$32.00	100 / hour	\$3,200.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Bleu Stream Corp	First Offer - \$40.00	100 / hour	\$4,000.00		Y
Product Code: Agency Notes:	-	Supplier Product C Supplier Notes:	ode:		
Ascension Global Staffing & Executive Search	First Offer - \$42.87	100 / hour	\$4,287.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Cynet Systems	First Offer - \$45.50	100 / hour	\$4,550.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$48.36	100 / hour	\$4,836.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

	Broward County Boo		rage 95 of 131
	Broward County Boa County Commissior		TRN2122
DVTECK	First Offer - \$50.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Action Group MGMT	First Offer - \$52.00	100 / hour \$5,200.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beryllus Consulting & Staffing	First Offer - \$52.50	100 / hour \$5,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
4BBCorp [Ad]	First Offer - \$53.53	100 / hour \$5,353.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale-West F Median Hourly Wage (50%)	Palm Beach, FL
Moten Tate, INc.	First Offer - \$54.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Global Solutions Group, Inc.	First Offer - \$54.47		Y
Product Code:			
Agency Notes:		Supplier Product Code: Supplier Notes:	
VGreen Enterprises	First Offer - \$55.93		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$62.67		Y Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TECKpert	First Offer - \$63.75	100 / hour \$6,375.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
InstantServe	First Offer - \$64.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$65.00	Supplier Notes:	Y
PeopleNTech LLC	First Offer - \$65.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Tanim Consulting	First Offer - \$65.00		Y
Product Code:		Supplier Product Code: Project Manager I - 0	
Agency Notes:		Callout Supplier Notes:	Svertime and
Oready	First Offer - \$65.00	100 / hour \$6,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Crown Services	First Offer - \$66.83	6,683.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$68.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Digital Intelligence Systems, regular-time rates for any overtime hours for positions such as this one.	

	County Commiss	oners	
COGENT InfoTech Corporation	First Offer - \$71	50 100 / hour \$7,150.00	Y
Product Code:		Supplier Product Code:	T
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$73		Y
Product Code:		Supplier Product Code:	I
Agency Notes:		Supplier Notes:	
Aptuity Solutions Inc	First Offer - \$74	00 100 / hour \$7,400.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Beacon Systems, Inc.	First Offer - \$74	28 100 / hour \$7,428.00	Y
Product Code: Agency Notes:		Supplier Product Code: Project Manager Callout Supplier Notes: Project Manager I - Over	
Hire Hero	First Offer - \$75	00 100 / hour \$7,500.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
nformation Consultants Inc	First Offer - \$78	00 100 / hour \$7,800.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Sullivan and Cogliano	First Offer - \$80	00 100 / hour \$8,000.00	Y
		ofĂfÂfÂ,ÂfÃfÂ,Â,ÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂÂ ÎT pi levels of complexity.ÃfÂfÂ,ÂfĂfÂ,Â,ÂÂÂÂ include:ÃfÂfÂ,ÂfĂfÂfÂ,Â,Â,ÂfÂfÂÂÂ,Â,Â manageÃfÂfÃ,ÂfÃfÂ,Â,Â,ÂfÂfÂ,Â,Â,Â of varying size and complexity;ÃfÂfÂ,ÂfÃfÂ,ÂÂ,Â,ÂfÂfÂÂÂ,ÂÂ maintain project plans; ensure that users	ƒÃ,Â,ÃÂ,Ã, Duti Â individual project Â,Ã, create and
		members roles and responsibilities are de and monitor activities to ensure project is and within budget; ensures that user requ deliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a produce requirements.	efined; coordinate completed on time uirements, nd documented; e of PMI best
JS Tech Solutions, Inc.	First Offer - \$80	and monitor activities to ensure project is and within budget; ensures that user requirements.deliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements.50100 / hour\$8,050.00	efined; coordinate completed on time uirements, nd documented; e of PMI best
Product Code:	First Offer - \$80	and monitor activities to ensure project is and within budget; ensures that user requirements deliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 50 100 / hour \$8,050.00 Supplier Product Code:	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user
Product Code: Agency Notes:		 and monitor activities to ensure project is and within budget; ensures that user requirements and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 100 / hour \$8,050.00 Supplier Product Code: Supplier Notes: 	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user
Product Code: Agency Notes: Arch	First Offer - \$80	and monitor activities to ensure project is and within budget; ensures that user requirements deliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 50 100 / hour Supplier Product Code: Supplier Notes: 94 100 / hour	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user
Product Code:		 and monitor activities to ensure project is and within budget; ensures that user requirements and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 100 / hour \$8,050.00 Supplier Product Code: Supplier Notes: 94 100 / hour \$8,294.00 	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user
Product Code: Agency Notes: Arch Product Code:		 and monitor activities to ensure project is and within budget; ensures that user requirements and approvals are defined are communicate project status; promote use practices; ensure the delivery of a product requirements. 100 / hour \$8,050.00 Supplier Product Code: Supplier Notes: 100 / hour \$8,294.00 	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y
Product Code: Agency Notes: Arch Product Code: Agency Notes: T Mantra	First Offer - \$82	 and monitor activities to ensure project is and within budget; ensures that user requirements and within budget; ensures that user requirements. 100 / hour Supplier Product Cote: Supplier Notes: 100 / hour \$8,294.00 Supplier Product Cote: Supplier Notes: 100 / hour \$8,400.00 	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y
Product Code: Agency Notes: Arch Product Code: Agency Notes:	First Offer - \$82	 and monitor activities to ensure project is and within budget; ensures that user requirements and approvals are defined are communicate project status; promote use practices; ensure the delivery of a product requirements. 100 / hour \$8,050.00 Supplier Product Code: Supplier Notes: 100 / hour \$8,294.00 	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y
Product Code: Agency Notes: Arch Product Code: Agency Notes: T Mantra Product Code:	First Offer - \$82	and monitor activities to ensure project is and within budget; ensures that user requideliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 50 100 / hour \$8,050.00 Supplier Product Code: Supplier Notes: \$94 100 / hour \$8,294.00 Supplier Product Code: Supplier Notes: \$100 / hour \$8,400.00 Supplier Product Code: Supplier Notes: \$100 / hour \$8,400.00	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y
Product Code: Agency Notes: Arch Product Code: Agency Notes: T Mantra Product Code: Agency Notes: RADgov, Inc. Product Code:	First Offer - \$82	and monitor activities to ensure project is and within budget; ensures that user requideliverables and approvals are defined ar communicate project status; promote use practices; ensure the delivery of a product requirements. 50 100 / hour \$8,050.00 50 100 / hour \$8,050.00 Supplier Product Cole: Supplier Notes: \$94 100 / hour \$8,294.00 Supplier Product Cole: Supplier Notes: \$94 100 / hour \$8,400.00 Supplier Product Cole: Supplier Notes: \$94 100 / hour \$8,400.00 \$94 100 / hour \$8,400.00 \$94 \$95 100 / hour \$8,400.00 \$94 \$95 100 / hour \$8,400.00 \$94 \$95 \$94 \$95 \$94 \$94	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y Y
Product Code: Agency Notes: Arch Product Code: Agency Notes: T Mantra Product Code: Agency Notes: RADgov, Inc.	First Offer - \$82	and monitor activities to ensure project is and within budget; ensures that user requirements and within budget; ensures that user requirements. and monitor activities to ensure project is and within budget; ensures that user requirements are defined are communicate project status; promote use practices; ensure the delivery of a product requirements. 50 100 / hour \$8,050.00 50 100 / hour \$8,050.00 50 100 / hour \$8,294.00 50 100 / hour \$8,294.00 50 100 / hour \$8,400.00 50 100 / hour \$8,400.00 50 100 / hour \$8,400.00 50 Supplier Product Cote: Supplier Notes: \$50 60 100 / hour \$8,546.00 50 Supplier Product Cote: Supplier Notes: \$50	efined; coordinate completed on time uirements, nd documented; e of PMI best t that meets user Y

	County Commissione	ers
Agency Notes:		Supplier Notes:
Blue Chip Talent	First Offer - \$86.92	100 / hour \$8,692.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
MNK Infotech	First Offer - \$88.40	100 / hour \$8,840.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
FAAZ consulting	First Offer - \$89.25	100 / hour \$8,925.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
TRG, Inc	First Offer - \$90.00	100 / hour \$9,000.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
etech-360,Inc	First Offer - \$90.00	100 / hour \$9,000.00 Y Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
ResourceX	First Offer - \$90.00	100 / hour \$9,000.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Interscripts,Inc.	First Offer - \$90.00	100 / hour \$9,000.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tri-Force Consulting Services, Inc.	First Offer - \$90.00	100 / hour \$9,000.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Abacus Service Corporation	First Offer - \$91.26	100 / hour \$9,126.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
IT Data Solutions	First Offer - \$93.00	100 / hour \$9,300.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Tech Army, LLC	First Offer - \$94.62	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
SRS CONSULTING INC	First Offer - \$95.00	
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Next Generation Recruitment and Staffing Agency	First Offer - \$96.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
	First Offer \$07.22	
CambayCS	First Offer - \$97.22	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Innovative Systems Group of Florida	First Offer - \$101.25	
Product Code:		
Agency Notes:		Supplier Product Code: Supplier Notes:
22nd Century Technologies, Inc.	First Offer - \$103.95	
Product Code:	+ + + + + + + + + + + + + + + +	Supplier Product Code:
Agency Notes:		Supplier Product Code: Supplier Notes:
	First Offer - \$106.20	
		410,020,00
Changing Technologies Inc.		Supplier Product Code:
Product Code:		Supplier Product Code: Supplier Notes:
Product Code: Agency Notes:		Supplier Notes:
Product Code: Agency Notes: LanceSoft	First Offer - \$107.09	Supplier Notes: 100 / hour \$10,709.00 Y
Product Code: Agency Notes: LanceSoft Product Code:		Supplier Notes: 100 / hour \$10,709.00 Y Supplier Product Code: Y
Product Code: Agency Notes: LanceSoft		Supplier Notes: 100 / hour \$10,709.00 Y

	County Commissione	rs		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
DatamanUSA, LLC	First Offer - \$112.00		,200.00 Y	v
Product Code:		Supplier Product Code:	,200.00	<u> </u>
Agency Notes:		Supplier Notes:		
ManpowerGroup Sales Support	First Offer - \$114.75		,475.00 Y	Y
Product Code:		Supplier Product Code:	· · · · · · · · · · · · · · · · · · ·	
Agency Notes:		Supplier Notes:		
Cloud Consulting Services Inc	First Offer - \$117.00	100 / hour \$11	,700.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
NewCom C3 Planners	First Offer - \$120.00	100 / hour \$12	2,000.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:	1	Supplier Notes:		
Alrek Business Solutions Inc.	First Offer - \$120.00	100 / hour \$12	2,000.00 Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Krasan Consulting Services, Inc.	First Offer - \$120.00	100 / hour \$12	2,000.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$120.48		2,048.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		-
PriceSenz LLC	First Offer - \$122.00		2,200.00 Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Kellton Tech	First Offer - \$127.50		2,750.00 Y	~
Product Code:	First Offer - \$127.50	Supplier Product Code:	2,750.00	T
Agency Notes:		Supplier Notes:		
MSys Inc [Ad]	First Offer - \$127.50		2,750.00 Y	Y
Product Code:		Supplier Product Code:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Agency Notes:		Supplier Notes:		
Infojini, Inc.	First Offer - \$127.50	100 / hour \$12	2,750.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SoftHQ, Inc	First Offer - \$132.00	100 / hour \$13	3,200.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Lumen Solutions Inc	First Offer - \$139.00	l	3,900.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Elegant Enterprise Wide Solutions	First Offer - \$142.50		1,250.00 Y	Y
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer #45750	Supplier Notes:	750.00	
TAD PGS	First Offer - \$157.50		5,750.00 Y	T
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
vTech Solution Inc.	First Offer - \$168.675		5,867.50 Y	Y
Product Code:	1115COTEL - \$100.075	Supplier Product Code:	1,007.30	•
Agency Notes:		Supplier Product Code: Supplier Notes:		
CDW-Government LLC	First Offer - \$248.00		i,800.00	Y
Product Code:		Supplier Product Code:		-
Agency Notes:		Supplier Notes:		

TRN2122277B1–01-21 Project Manager II - (Advanced) - Overtime and Callout					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
				1	

	rd County Board of ty Commissioners			TRN21222
Prelude systems pvt. ltd.	First Offer - \$0.00	100 / hour	\$0.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: No Bid.	ode:	
ADAMS ENTERPRISE USA, INC	A l t 1 - \$4.50	100 / hour	\$450.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Alte		
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	100 / hour	\$600.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Sensatech LLC	First Offer - \$32.00	100 / hour	\$3,200.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Flysoft Inc	First Offer - \$34.00	100 / hour	\$3,400.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes: Bleu Stream Corp	First Offer - \$45.00	Supplier Notes:	\$4,500.00	Y
Product Code:	First Offer - \$45.00	Supplier Product Co		I
Agency Notes:		Supplier Notes:	ue.	
DVTECK	First Offer - \$50.00	100 / hour	\$5,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:		
Oready	First Offer - \$50.00	100 / hour	\$5,000.00	Y
Product Code:		Supplier Product Co		
Agency Notes:		Supplier Notes:		
Cynet Systems	First Offer - \$53.00	100 / hour	\$5,300.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
4BBCorp [Ad]	First Offer - \$53.54	100 / hour	\$5,354.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Pay Rate: BLS - Miam FL Median Hourly Wa	i-Fort Lauderdale-Wes	t Palm Beach,
Ascension Global Staffing & Executive Search	First Offer - \$53.59	100 / hour	\$5,359.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Action Group MGMT	First Offer - \$55.00	100 / hour	\$5,500.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
VGreen Enterprises	First Offer - \$55.93	100 / hour	\$5,593.00	Y
Product Code:		Supplier Product Co	ode:	<u>.</u>
Agency Notes:		Supplier Notes:	#5 C4C 00	X
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$56.16	100 / hour	\$5,616.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Beryllus Consulting & Staffing	First Offer - \$61.50	100 / hour	\$6,150.00	Y
Product Code:		Supplier Product Co		
Agency Notes:		Supplier Notes:		
COCHHBHA ENTERPRISES, INC	First Offer - \$62.67	100 / hour	\$6,267.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:	 	Supplier Notes:		
Moten Tate, INc.	First Offer - \$63.00	100 / hour	\$6,300.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
TECKpert	First Offer - \$64.50	100 / hour	\$6,450.00	Y

	,			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Crown Services	First Offer - \$68.85	100 / hour	\$6,885.00	Y
Product Code:	 	Supplier Product (
Agency Notes:		Supplier Notes:		
Global Solutions Group, Inc.	First Offer - \$69.32	100 / hour	\$6,932.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Beacon Systems, Inc.	First Offer - \$74.28	100 / hour	\$7,428.00	Y
Product Code:			Code: Project Manage	er II - (Advanced) -
Agency Notes:		Overtime and Callo Supplier Notes: Pr and Callout	ut oject Manager II - (Ad	vanced) - Overtime
PeopleNTech LLC	First Offer - \$75.00	100 / hour	\$7,500.00	Y
Product Code:		Supplier Product (I
Agency Notes:		Supplier Notes:		
Tanim Consulting	First Offer - \$75.00	100 / hour	\$7,500.00	Y
Product Code:		Supplier Product	Code: Project Manage	er II - (Advanced) -
Agency Notes:		Overtime and Callo	ut	
		Supplier Notes:		
InstantServe	First Offer - \$75.00	100 / hour	\$7,500.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Information Consultants Inc	First Offer - \$78.00	100 / hour	\$7,800.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Digital Intelligence Systems, LLC	First Offer - \$79.00	100 / hour	\$7,900.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		1	gital Intelligence Syste	
Hire Hero	First Offer - \$84.38	100 / hour	\$8,438.00	Y
Product Code:		Supplier Product (
Agency Notes:		Supplier Notes:		
COGENT InfoTech Corporation	First Offer - \$84.50	100 / hour	\$8,450.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Aptuity Solutions Inc	First Offer - \$85.00	100 / hour	\$8,500.00	Y
Product Code:		Supplier Product (
Agency Notes:		Supplier Notes:		
etech-360,Inc	First Offer - \$95.00	100 / hour	\$9,500.00	Y Y
Product Code:		Supplier Product	Code:	i
Agency Notes:		Supplier Notes:		
TRG, Inc	First Offer - \$97.50	100 / hour	\$9,750.00	Y
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
Blue Chip Talent	First Offer - \$97.52	100 / hour	\$9,752.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
BuzzClan	First Offer - \$99.37	100 / hour	\$9,937.00	Y
Product Code:		Supplier Product (·	· ·

		Supplier Notes:		
Fir	st Offer - \$100.00	100 / hour	\$10,000.00	Y
		Supplier Product	Code:	
		Supplier Notes:		
Fir	st Offer - \$101.00	100 / hour	\$10,100.00	Y
			Code:	
Fir	st Offer - \$103.68		\$10.368.00	Y
		Supplier Product	1 1	
	st Offer - \$104.01			Y
			Code:	
	at Offer 6105 00	1	¢10,500,00	V
	st Offer - \$105.00		1	Y
		1	Code:	
Fir	st Offer - \$105.00		\$10,500,00	Y
	st Oner - \$105.00		1	
			coue.	
Fir	st Offer - \$106.00		\$10,600,00	Y
			couc.	
Fir	st Offer - \$106.84		\$10.684.00	Y
		Supplier Product		
		Supplier Notes:		
Fir	st Offer - \$107.25	100 / hour	\$10,725.00	Y
		Supplier Product	Code:	
		Supplier Notes:		
Fir	st Offer - \$110.00	100 / hour	\$11,000.00	Y
		Supplier Notes: M operations and act levels of complexit varying size and co to ensure proper n project plans; ensu members roles and and monitor activit time and within bu deliverables and ap communicate proje	lanages, plans, organizes ar tivities of large IT projects at y. Duties include: manage p omplexity; may oversee mul nanagement; create and ma ure that users and project te d responsibilities are define ties to ensure project is com udget; ensures that user req pprovals are defined and do ect status; promote use of F	varying rojects of tiple projects aintain am d; coordinate pleted on uirements, ocumented; 2MI best
	Count Count Fir Fir Fir Fir Fir Fir Fir Fi	First Offer - \$101.00 First Offer - \$103.68 First Offer - \$103.68 First Offer - \$104.01 First Offer - \$105.00 First Offer - \$105.00 First Offer - \$105.00 First Offer - \$106.00	Supplier Notes: I First Offer - \$100.00 100 / hour Supplier Product Supplier Notes: Supplier Notes: I First Offer - \$101.00 100 / hour I First Offer - \$103.68 100 / hour I First Offer - \$103.68 100 / hour I First Offer - \$103.68 100 / hour I First Offer - \$104.01 100 / hour I First Offer - \$104.01 100 / hour I First Offer - \$105.00 100 / hour I First Offer - \$106.00 100 / hour I First Offer - \$106.02 100 / hour I First Offer - \$106.84 100 / hour I First Offer - \$107.25 100 / hour I First Offer - \$107.25 100 / hour I First Offer - \$110.00 100 / hour I First Offer - \$107.25 100 / hour	County Commissioners Supplier Notes: Supplier Product Code: Supplier Notes:

	County Commissioners		
SRS CONSULTING INC	First Offer - \$110.00	0 100 / hour \$11,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
ResourceX	First Offer - \$112.50	- · · ·	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Changing Technologies Inc.	First Offer - \$112.95	5 100 / hour \$11,295.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
CambayCS	First Offer - \$113.33		Y
Product Code:		Supplier Product Code:	
Agency Notes:	First Offer - \$114.00	Supplier Notes:) 100 / hour \$11,400.00	Y
Darwin Recruitment Product Code:	First Offer - \$114.00		<u> </u>
Agency Notes:		Supplier Product Code: Supplier Notes:	
Abacus Service Corporation	First Offer - \$114.08		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
AAZ consulting	First Offer - \$115.50) 100 / hour \$11,550.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
/INK Infotech	First Offer - \$115.60		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
ManpowerGroup Sales Support	First Offer - \$120.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
ri-Force Consulting Services, Inc.	First Offer - \$120.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
nnovative Systems Group of Florida	First Offer - \$121.50) 100 / hour \$12,150.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
anceSoft	First Offer - \$121.69	100 / hour \$12,169.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
NewCom C3 Planners	First Offer - \$127.50		Y
Product Code:		Supplier Product Code: Supplier Notes:	
Agency Notes: DatamanUSA, LLC	First Offer - \$127.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Ioud Consulting Services Inc	First Offer - \$132.00		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
PriceSenz LLC	First Offer - \$142.00	0 100 / hour \$14,200.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Irek Business Solutions Inc.	First Offer - \$142.50		Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	V
) 100 / hour \$14,250.00	Y
Krasan Consulting Services, Inc.	First Offer - \$142.50	Supplier Droduct Code:	
Krasan Consulting Services, Inc. Product Code:	First Offer - \$142.50	Supplier Product Code: Supplier Notes:	
Krasan Consulting Services, Inc. Product Code: Agency Notes: IRYFACTA, INC.	First Offer - \$143.07	Supplier Notes:	Y

Agency Notes:		Supplier Notes:		
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$143.81	100 / hour	\$14,381.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Infojini, Inc.	First Offer - \$147.00	100 / hour	\$14,700.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
SoftHQ, Inc	First Offer - \$153.24	100 / hour	\$15,324.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Lumen Solutions Inc	First Offer - \$158.00	100 / hour	\$15,800.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Kellton Tech	First Offer - \$165.00	100 / hour	\$16,500.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
TAD PGS	First Offer - \$172.50	100 / hour	\$17,250.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
MSys Inc [Ad]	First Offer - \$172.50	100 / hour	\$17,250.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
vTech Solution I nc.	First Offer - \$183.54	100 / hour	\$18,354.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Elegant Enterprise Wide Solutions	First Offer - \$187.50	100 / hour	\$18,750.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
CDW-Government LLC	First Offer - \$278.00	100 / hour	\$27,800.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	

TRN2122277B101-22 Business Analyst - Overtime and (Callout				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	240 / hour	\$0.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
ADAMS ENTERPRISE USA, INC	Alt 1 - \$4.50	No Bid. 240 / hour	\$1,080.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Alt	C ode: ternate Offer Amour	nt	
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	240 / hour	\$1,440.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Sensatech LLC	First Offer - \$23.00	240 / hour	\$5,520.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Flysoft Inc	First Offer - \$24.00	240 / hour	\$5,760.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Moten Tate, INc.	First Offer - \$39.60	240 / hour	\$9,504.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bleu Stream Corp	First Offer - \$40.00	240 / hour	\$9,600.00		Y
Product Code:		Supplier Product (Code:		

	County Commission	
Agency Notes:		Supplier Notes:
Ascension Global Staffing & Executive Search	First Offer - \$4	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Cynet Systems	First Offer - \$4	5.50 240 / hour \$10,920.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Action Group MGMT	First Offer - \$4	8.00 240 / hour \$11,520.00 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$4	8.36 240 / hour \$11,606.40 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Global Solutions Group, Inc.	First Offer - \$4	8.88 240 / hour \$11,731.20 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Beryllus Consulting & Staffing	First Offer - \$4	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
DVTECK	First Offer - \$5	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
4BBCorp [Ad]	First Offer - \$5	1.93 240 / hour \$12,463.20 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes: Pay Rate: BLS - Miami-Fort Lauderdale-West Palm Beach, FL Median Hourly Wage (50%)
BuzzClan	First Offer - \$5	4.18 240 / hour \$13,003.20 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
COGENT InfoTech Corporation	First Offer - \$5	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
VGreen Enterprises	First Offer - \$5	5.93 240 / hour \$13,423.20 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
Oready	First Offer - \$5	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
PeopleNTech LLC	First Offer - \$6	0.00 240 / hour \$14,400.00 Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
InstantServe	First Offer - \$6	
Product Code: Agency Notes:	<u> </u>	Supplier Product Code: Supplier Notes:
US Tech Solutions, Inc.	First Offer - \$6	
Product Code:		Supplier Product Code:
Agency Notes: COCHHBHA ENTERPRISES, INC	First Offer - \$6	Supplier Notes: 2.67 240 / hour \$15,040.80 Y
Product Code:		Supplier Product Code:
Agency Notes:		Supplier Notes:
TECKpert	First Offer - \$6	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:
Crown Services	First Offer - \$6	
CLOWIT 261 VICES	First Offer - \$6	4.00 2407 HOUL \$15,552.00 Y

Broward County Board of County Commissioners

				Supplier Product Code: Supplier Notes:			
Tanim Consulting		First Offer -	\$65.00	240 / hour	\$15,600.00		Y
Product Code:		Thise Office	405.00		· · · · · · · · · · · · · · · · · · ·	vst - Overti	
Agency Notes:			Supplier Product Code: Business Analyst - Overtime and Callout				
				Supplier Notes:			
Sullivan and Cogliano		First Offer -	\$65.00	240 / hour	\$15,600.00		Y
Product Code:				Supplier Product (
Agency Notes:				analysis while cons implications of the and future busines process change thr with existing ones a business users; for objectives; develop information; facilita solutions; analyze to requirements and o	orks with most phas idering the business application of techno s environments. Dut ough the integratior and communication mulate and define sy and modify modera ite the delivery of tec business and user ne devise technical solu y improvement effor	and techn blogy to cu ies include o f new pr of changes ystems sco itely comp chnical bus reds, docu tions; reco	ical irrent create cocesses to pe and lex siness ment
Abacus Service Corporation		First Offer -	\$66.69	240 / hour	\$16,005.60		Y
Product Code:		Thise Office	400.05	Supplier Product (•
Agency Notes:				Supplier Notes:	Loue.		
Digital Intelligence Systems, LLC		First Offer -	\$67.00	240 / hour	\$16,080.00		Y
Product Code:				Supplier Product (·		
Agency Notes:					gital Intelligence Sys tes for any overtime osition.		
Aptuity Solutions Inc		First Offer -	\$68.00	240 / hour	\$16,320.00		Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:	Code:		
Blue Chip Talent		First Offer -	\$68.90	240 / hour	\$16,536.00		Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:			
IT Mantra		First Offer -	\$70.00	240 / hour	\$16,800.00		Y
Product Code:	_			Supplier Product (
Agency Notes:				Supplier Notes:			
TRYFACTA, INC.		First Offer -	\$72.39	240 / hour	\$17,373.60		Y
Product Code: Agency Notes:				Supplier Product (Supplier Notes:	Code:		
Darwin Recruitment	Т	First Offer -	\$73.00	240 / hour	\$17,520.00		Y
Product Code:				Supplier Product (
Agency Notes:				Supplier Notes:			
Beacon Systems, Inc.		First Offer -	\$74.28	240 / hour	\$17,827.20		Y
Product Code:					Code: Business Anal	yst - Overti	ime and
Agency Notes:				Callout			

	0	unty Commissioners		
			Supplier Notes: Business Analyst - Overtime and Ca Rate	allout
SRS CONSULTING INC		First Offer - \$75.00	240 / hour \$18,000.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
ResourceX		First Offer - \$75.00	240 / hour \$18,000.00	Y
Product Code:			Supplier Product Code: Supplier Notes:	
Agency Notes:		First Offer - \$76.00	240 / hour \$18,240.00	Y
Interscripts,Inc. Product Code:		First Offer - \$76.00	Supplier Product Code:	T
Agency Notes:			Supplier Notes:	
Information Consultants Inc		First Offer - \$78.00	240 / hour \$18,720.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
IT Data Solutions		First Offer - \$78.00	240 / hour \$18,720.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Hire Hero		First Offer - \$78.75	240 / hour \$18,900.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
etech-360,Inc		First Offer - \$80.00	240 / hour \$19,200.00 Y	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Tri-Force Consulting Services, Inc.		First Offer - \$80.00	240 / hour \$19,200.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
CambayCS		First Offer - \$80.87	240 / hour \$19,408.80	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
MNK Infotech		First Offer - \$81.60	240 / hour \$19,584.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Alrek Business Solutions Inc.		First Offer - \$82.50	240 / hour \$19,800.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Krasan Consulting Services, Inc.		First Offer - \$82.50	240 / hour \$19,800.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Arch		First Offer - \$82.94	240 / hour \$19,905.60	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Changing Technologies Inc.		First Offer - \$83.19	240 / hour \$19,965.60	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
FAAZ consulting		First Offer - \$84.00	240 / hour \$20,160.00	Y
Product Code:			Supplier Product Code:	•
Agency Notes:			Supplier Notes:	
RADgov, Inc.		First Offer - \$85.46	240 / hour \$20,510.40	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Innovative Systems Group of Florida		First Offer - \$86.07	240 / hour \$20,656.80	Y
Product Code:			Supplier Product Code:	•
Agency Notes:			Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC		First Offer - \$87.14	240 / hour \$20,913.60	Y

	(County Commissioners				
Product Code:			Supplier Product Code:			
Agency Notes:		First Offer - \$90.00	Supplier Notes:	¢21.00.00		Y
TRG, Inc		First Oller - \$90.00		\$21,600.00		<u> </u>
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
DatamanUSA, LLC		First Offer - \$90.00	240 / hour	\$21,600.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cloud Consulting Services Inc		First Offer - \$90.00	240 / hour	\$21,600.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
LanceSoft		First Offer - \$91.55	240 / hour	\$21,972.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
22nd Century Technologies, Inc.		First Offer - \$94.05	240 / hour	\$22,572.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		First Offer - \$100.00	Supplier Notes: 240 / hour	\$24,000.00		Y
Next Generation Recruitment and Staffing Agency Product Code:			Supplier Product Code:			1
Agency Notes:			Supplier Notes:			
ManpowerGroup Sales Support		First Offer - \$102.75	240 / hour	\$24,660.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Infojini, Inc.		First Offer - \$105.00	240 / hour	\$25,200.00		Y
Product Code:		·	Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SoftHQ, Inc		First Offer - \$108.00	240 / hour	\$25,920.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Kellton Tech		First Offer - \$112.50	240 / hour	\$27,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		1	Supplier Notes:			
Tech Army, LLC		First Offer - \$115.74	240 / hour	\$27,777.60	Y	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Lumen Solutions Inc		First Offer - \$119.00	240 / hour	\$28,560.00		Y
Product Code:		·	Supplier Product Code:			
Agency Notes:			Supplier Notes:			
PriceSenz LLC		First Offer - \$119.00	240 / hour	\$28,560.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
NewCom C3 Planners		First Offer - \$120.00	240 / hour	\$28,800.00		Y
Product Code:		•	Supplier Product Code:		i	
Agency Notes:			Supplier Notes:			
MSys Inc [Ad]		First Offer - \$127.50	240 / hour	\$30,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
vTech Solution Inc.		First Offer - \$139.065	240 / hour	\$33,375.60		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Elegant Enterprise Wide Solutions		First Offer - \$142.50	240 / hour	\$34,200.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
TAD PGS		First Offer - \$142.50	240 / hour	\$34,200.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
I		I				

Exhibit 1
Page 108 of 131
TRN2122277B1

Broward County Board of County Commissioners						TRN2122		
CDW-Government LLC		First Offer - \$225.00	240 / hour	\$54,000.00		Y		
Product Code:			Supplier Product	Code:				
Agency Notes:			Supplier Notes:					

TRN2122277B101-23 IT Administration Coordinator - O	vertime and Callout				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.	First Offer - \$0.00	240 / hour	\$0.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes: No Bid.	Code:		
ADAMS ENTERPRISE USA, INC	Alt 1 - \$4.50	240 / hour	\$1,080.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Alt		nt	
ADAMS ENTERPRISE USA, INC	First Offer - \$6.00	240 / hour	\$1,440.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ascension Global Staffing & Executive Search	First Offer - \$21.90	240 / hour	\$5,256.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Sensatech LLC	First Offer - \$23.00	240 / hour	\$5,520.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Flysoft Inc	First Offer - \$25.00	240 / hour	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Cynet Systems	First Offer - \$27.00	240 / hour	\$6,480.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
VGreen Enterprises	First Offer - \$28.61	240 / hour	\$6,866.40		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$28.86	240 / hour	\$6,926.40		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
4BBCorp [Ad]	First Offer - \$29.70	240 / hour	\$7,128.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Pay Rate: BLS - Miar FL Median Hourly V	mi-Fort Lauderda l e-\	West Pa l m	Beach,
Beryllus Consulting & Staffing	First Offer - \$30.00	240 / hour	\$7,200.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:	1	Supplier Notes:			
Action Group MGMT	First Offer - \$30.00	240 / hour	\$7,200.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Global Solutions Group, Inc.	First Offer - \$30.08	240 / hour	\$7,219.20		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
IT Mantra	First Offer - \$30.80	240 / hour	\$7,392.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Moten Tate, INc.	First Offer - \$32.40	240 / hour	\$7,776.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
1	1			I	

	Page 10 Broward County Board of	TRN21222
	County Commissioners	
BuzzClan	First Offer - \$33.52 240 / hour \$8,044.80	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
US Tech Solutions, Inc.	First Offer - \$34.50 240 / hour \$8,280.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$34.64 240 / hour \$8,313.60	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
InstantServe	First Offer - \$37.00 240 / hour \$8,880.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Alrek Business Solutions Inc.	First Offer - \$37.50 240 / hour \$9,000.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Krasan Consulting Services, Inc.	First Offer - \$37.50 240 / hour \$9,000.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	1
Beacon Systems, Inc.	First Offer - \$37.95 240 / hour \$9,108.00	Y
Product Code: Agency Notes:	Supplier Product Code: IT Administration Cool Overtime and Callout Supplier Notes: IT Administration Coordinator - Overtime and C	
Crown Services	First Offer - \$38.48 240 / hour \$9,235.20	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
TECKpert	First Offer - \$39.00 240 / hour \$9,360.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
22nd Century Technologies, Inc.	First Offer - \$39.60 240 / hour \$9,504.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Information Consultants Inc	First Offer - \$40.00 240 / hour \$9,600.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Abacus Service Corporation	First Offer - \$40.37 240 / hour \$9,688.80	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Arch	First Offer - \$41.47 240 / hour \$9,952.80	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
PeopleNTech LLC	First Offer - \$45.00 240 / hour \$10,800.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Bleu Stream Corp	First Offer - \$45.00 240 / hour \$10,800.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
COGENT InfoTech Corporation	First Offer - \$45.50 240 / hour \$10,920.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Darwin Recruitment	First Offer - \$46.00 240 / hour \$11,040.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
Hire Hero	First Offer - \$46.88 240 / hour \$11,251.20	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	

		County Commissioners		
DVTECK		First Offer - \$50.00	240 / hour \$12,000.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Tri-Force Consulting Services, Inc.		First Offer - \$50.00	240 / hour \$12,000.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:		1	Supplier Notes:	
LanceSoft		First Offer - \$50.65	240 / hour \$12,156.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Aptuity Solutions Inc		First Offer - \$53.00	240 / hour \$12,720.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Digital Intelligence Systems, LLC		First Offer - \$54.00	240 / hour \$12,960.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes: Digital Intelligence Systems, L the regular-time rates for any overtime hours.	
Tanim Consulting		First Offer - \$55.00	240 / hour \$13,200.00	Y
Product Code:	L		Supplier Product Code: T Administration Co	
Agency Notes:			Overtime and Callout Supplier Notes:	
RADgov, Inc.		First Offer - \$56.65	240 / hour \$13,596.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
ManpowerGroup Sales Support		First Offer - \$57.00	240 / hour \$13,680.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
Next Generation Recruitment and Staffing Agency		First Offer - \$57.00	240 / hour \$13,680.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Oready		First Offer - \$58.00	240 / hour \$13,920.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
Kellton Tech		First Offer - \$60.00	240 / hour \$14,400.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
TRG, Inc		First Offer - \$60.00	240 / hour \$14,400.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:		First Offer \$60.75	Supplier Notes:	v
Innovative Systems Group of Florida		First Offer - \$60.75	240 / hour \$14,580.00	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	
FAAZ consulting		First Offer - \$63.00	240 / hour \$15,120.00	Y
Product Code:				
Agency Notes:			Supplier Product Code: Supplier Notes:	
IT Data Solutions		First Offer - \$63.00	240 / hour \$15,120.00	Y
Product Code:		1.130 0.101 00000	Supplier Product Code:	
Agency Notes:			Supplier Notes:	
PriceSenz LLC		First Offer - \$63.00	240 / hour \$15,120.00	Y
Product Code:			Supplier Product Code:	
Agency Notes:			Supplier Notes:	
SRS CONSULTING INC		First Offer - \$65.00	240 / hour \$15,600.00	Y
i			1	

Product Code:				- ·	
Agency Notes:			Supplier Product Supplier Notes:	Code:	
Interscripts,Inc.		First Offer - \$65.00	240 / hour	\$15,600.00	Y
Product Code:			Supplier Product	· · · · · · · · · · · · · · · · · · ·	
Agency Notes:			Supplier Notes:		
Sullivan and Cogliano		First Offer - \$67.50	240 / hour	\$16,200.00	Y
Product Code:			Supplier Product		
Agency Notes:			support of technic departments, syst high risk and comp simultaneously wi and maintains a d administrative task calendars; prepare	Coordinates activities and re cal projects that impact mul ems, or work-flows with mo plexity or multiple projects th lesser risk and complexit etailed project schedule wh ks; coordinates meetings; n es presentations, meeting r cuments are filed appropria	tiple oderate to ty; develops nich includes naintains ninutes;
ResourceX		First Offer - \$67.50	240 / hour	\$16,200.00	Y
Product Code:		First Offer - \$67.50	Supplier Product		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:	
Product Code: Agency Notes: MNK Infotech		First Offer - \$67.50 First Offer - \$68.00	Supplier Product Supplier Notes: 240 / hour	Code: \$16,320.00	Y
Product Code: Agency Notes: MNK Infotech Product Code:			Supplier Product Supplier Notes: 240 / hour Supplier Product	Code: \$16,320.00	
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes:		First Offer - \$68.00	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes:	Code: \$16,320.00 Code:	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent			Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80	
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code:		First Offer - \$68.00	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product	Code: \$16,320.00 Code: \$16,480.80	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes:		First Offer - \$68.00 First Offer - \$68.67	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80 Code:	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC		First Offer - \$68.00	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes:	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code:		First Offer - \$68.00 First Offer - \$68.67	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes:		First Offer - \$68.00 First Offer - \$68.67	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Product	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Product Supplier Notes:	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$16,632.00 Y Code:	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code:		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$16,632.00 Y Code:	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code:		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$16,632.00 Y Code:	Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code: Agency Notes: TRYFACTA, INC.		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30 First Offer - \$71.22	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Notes:	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$17,092.80 Code: \$17,467.20	Y Y Y Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code: Agency Notes:		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30 First Offer - \$71.22	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Product Supplier Notes: 240 / hour	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$17,092.80 Code: \$17,467.20	Y Y Y Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code: Agency Notes: TRYFACTA, INC. Product Code: Agency Notes:		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30 First Offer - \$71.22	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Notes:	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$17,092.80 Code: \$17,467.20	Y Y Y Y
Product Code: Agency Notes: MNK Infotech Product Code: Agency Notes: Blue Chip Talent Product Code: Agency Notes: Tech Army, LLC Product Code: Agency Notes: CambayCS Product Code: Agency Notes: TRYFACTA, INC. Product Code:		First Offer - \$68.00 First Offer - \$68.67 First Offer - \$69.30 First Offer - \$71.22 First Offer - \$71.22	Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Notes: 240 / hour Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product	Code: \$16,320.00 Code: \$16,480.80 Code: \$16,632.00 Y Code: \$17,092.80 Code: \$17,467.20 Code: \$17,812.80	Y Y Y Y

Product Code:	,	Supplier Product Code	2:		
Agency Notes:	 	Supplier Notes:			
DatamanUSA, LLC	First Offer - \$75.00	240 / hour	\$18,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Cloud Consulting Services Inc	First Offer - \$76.50	240 / hour	\$18,360.00	·	Y
Product Code:		Supplier Product Code	2:		
Agency Notes:	 	Supplier Notes:			
etech-360,Inc	First Offer - \$80.00	240 / hour	\$19,200.00	Y	Y
Product Code:		Supplier Product Code	9:		
Agency Notes:		Supplier Notes:			
SoftHQ, Inc	First Offer - \$82.50	240 / hour	\$19,800.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
COMPUNNEL SOFTWARE GROUP, INC	First Offer - \$85.35	240 / hour	\$20,484.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Lumen Solutions Inc	First Offer - \$89.00	240 / hour	\$21,360.00	· · ·	Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Infojini, Inc.	First Offer - \$105.00	240 / hour	\$25,200.00		Y
Product Code:		Supplier Product Code	9:		
Agency Notes:		Supplier Notes:			
vTech Solution Inc.	First Offer - \$118.815	240 / hour	\$28,515.60		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
MSys Inc [Ad]	First Offer - \$120.00	240 / hour	\$28,800.00		Y
Product Code:		Supplier Product Code	9:		
Agency Notes:		Supplier Notes:			
Elegant Enterprise Wide Solutions	First Offer - \$127.50	240 / hour	\$30,600.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:	 	Supplier Notes:			
CDW-Government LLC	First Offer - \$188.00	240 / hour	\$45,120.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

TRN2122277B101-24 GIS Analyst - Overtime and Cal	lout	:				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Prelude systems pvt. ltd.		First Offer - \$0.00	100 / hour	\$0.00		Y
Agency Notes: S			Supplier Product (Supplier Notes: No Bid.	Code:		
ADAMS ENTERPRISE USA, INC		Alt 1 - \$4.50	100 / hour	\$450.00		Y
			Supplier Product Code: Supplier Notes: Alternate Offer Amount			
ADAMS ENTERPRISE USA, INC		First Offer - \$6.00	100 / hour	\$600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Sensatech LLC		First Offer - \$23.00	100 / hour	\$2,300.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Flysoft Inc		First Offer - \$24.00	100 / hour	\$2,400.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ascension Global Staffing & Executive Search		First Offer - \$38.14	100 / hour	\$3,814.00		Y
Product Code:		•	Supplier Product (Code:		

	County Commissioners					
Agency Notes:		Supplier Notes:				
Moten Tate, INc.	First Offer - \$39.60		Y			
Product Code:		Supplier Product Code:				
Agency Notes:	First Offer # 40 F0	Supplier Notes:	X			
Beryllus Consulting & Staffing	First Offer - \$40.50		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
BuzzClan	First Offer - \$40.81		Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
PeopleNTech LLC	First Offer - \$45.00		Y			
Product Code:	<u>I</u> I	Supplier Product Code:	I			
Agency Notes:		Supplier Notes:				
VGreen Enterprises	First Offer - \$48.65	100 / hour \$4,865.00	Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Global Solutions Group, Inc.	First Offer - \$48.93	100 / hour \$4,893.00	Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
IT Mantra	First Offer - \$49.00	100 / hour \$4,900.00	Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Bleu Stream Corp	First Offer - \$50.00		Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
DVTECK	First Offer - \$50.00		Y			
Product Code:		Supplier Product Code: Supplier Notes:				
Agency Notes:	First Offer - \$53.00		Y			
Action Group MGMT Product Code:	First Offer - \$55.00	Supplier Product Code:	T			
Agency Notes:		Supplier Product Code. Supplier Notes:				
4BBCorp [Ad]	First Offer - \$54.29		Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
		Pay Rate: BLS - Miami-Fort Lauderdale-West	: Palm Beach,			
		FL Median Hourly Wage (50%)				
Crown Services	First Offer - \$54.68	100 / hour \$5,468.00	Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cynet Systems	First Offer - \$57.50		Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Tri-Force Consulting Services, Inc.	First Offer - \$58.00		Y Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Abacus Service Corporation	First Offer - \$58.56	100 / hour \$5,856.00	Y			
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Oready	First Offer - \$60.12	100 / hour \$6,012.00	Y			
		Supplier Product Code:				
Product Code:						
		Supplier Notes:				
	First Offer - \$60.84	Supplier Notes:	Y			
Agency Notes:	First Offer - \$60.84	Supplier Notes: 100 / hour \$6,084.00 Supplier Product Code:	Y			
Agency Notes: Zenith Talent Corporation, dba Crowdstaffing	First Offer - \$60.84	Supplier Notes: 100 / hour \$6,084.00 Supplier Product Code: Supplier Notes:	Y			

	•		
Product Code: Agency Notes:		Supplier Product Code: GIS Analyst - Ove Callout Supplier Notes: GIS Analyst - Overtime ar	
US Tech Solutions, Inc.	First Offer - \$62.5	0 100 / hour \$6,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
COCHHBHA ENTERPRISES, INC	First Offer - \$63.0	8 100 / hour \$6,308.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
CambayCS	First Offer - \$63.7	5 100 / hour \$6,375.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Darwin Recruitment	First Offer - \$64.0	0 100 / hour \$6,400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Next Generation Recruitment and Staffing Agency	First Offer - \$64.0	0 100 / hour \$6,400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
TECKpert	First Offer - \$64.5		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Tanim Consulting	First Offer - \$65.0		Y
Product Code: Agency Notes:		Supplier Product Code: GIS Analyst - Ove Callout Supplier Notes:	rtime and
SRS CONSULTING INC	First Offer - \$65.0		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Alrek Business Solutions Inc.	First Offer - \$67.5		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Krasan Consulting Services, Inc.	First Offer - \$67.5		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Blue Chip Talent	First Offer - \$67.7		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Information Consultants Inc	First Offer - \$68.0		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Digital Intelligence Systems, LLC	First Offer - \$71.0		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Digital Intelligence Syster the regular-time rates for any overtime ho positions.	
Hire Hero	First Offer - \$71.2		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
COGENT InfoTech Corporation	First Offer - \$71.5		Y

Product Code:Supplier Product Code:Sullivan and CoglianoFirst Offer - \$75.00100 / hour\$7,500.00Product Code:Supplier Product Code:Supplier Product Code:Agency Notes:Supplier Product Code:Supplier Product Code:Agency Notes:First Offer - \$75.00100 / hour\$7,500.00Product Code:Supplier Product Code:Supplier Product Code:Agency Notes:Supplier Product Code:Supplier Notes:TRYFACTA, INC.First Offer - \$76.34100 / hour\$7,634.00Product Code:Supplier Notes:Supplier Notes:Agency Notes:Supplier Product Code:Supplier Notes:Agency Notes:Supplier Notes:Supplier Notes:LanceSoftFirst Offer - \$78.00100 / hour\$7,800.00Product Code:Supplier Product Code:Supplier Notes:Agency Notes:Supplier Product Code:Supplier Notes:Agency Notes:First Offer - \$82.00 <td< th=""><th>Υ Υ Υ Υ</th></td<>	Υ Υ Υ Υ
Sullivan and Cogliano First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Notes: Supplier Notes: Interscripts,Inc. First Offer - \$76.34 100 / hour \$7,634.00 Product Code: Supplier Notes: Sup	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: GIS Systems Programming and Development ResourceX First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Resource Notes: First Offer - \$78.00 100 / hour \$7,634.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Resource Notes: First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Supplier Product Code: Supplier Notes:	Y
Agency Notes:Supplier Notes: GIS Systems Programming and DevelopmentResourceXFirst Offer - \$75.00100 / hour\$7,500.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: 	Y
Product Code: Agency Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: InstantServe Product Code: Supplier Notes: InstantServe Product Code: Supplier Product Code: Agency Notes: ITRYFACTA, INC. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: ITRYFACTA, INC. First Offer - \$76.34 100 / hour \$7,634.00 Product Code: Agency Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Aptily Solutions Inc Product Code: Agency Notes: Kellton Tech First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Notes: Supplier Notes: Sup	Y
Agency Notes: Supplier Notes: Interscripts,Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: InstantServe First Offer - \$75.00 100 / hour \$7,500.00 ● Product Code: Supplier Notes: Supplier Notes: Supplier Notes: ● Reyrey Notes: Supplier Product Code: Supplier Notes: ●	
Interscripts.Inc. First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Notes: InstantServe First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Notes: Supplier Notes: Agency Notes: Supplier Product Code: Supplier Notes: Agency Notes: Supplier Notes: Supplier Notes: Aptrity Solutions Inc First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: LanceSoft First Offer - \$81.18 100 / hour \$8,118.00 Product Code: Supplier Notes: Supplier No	
Product Code: Agency Notes: InstantServe First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: TRYFACTA, INC. First Offer - \$76.34 100 / hour \$7,634.00 Product Code: Agency Notes: Supplier Notes: Agency Notes: Aptuity Solutions Inc First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Supplier Notes: Kellton Tech First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Kellton Tech First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Agency Notes: Kellton Tech First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Agency Notes: LanceSoft First Offer - \$81.18 100 / hour \$8,000.00 Product Code: Agency Notes: LanceSoft First Offer - \$81.18 100 / hour \$8,118.00 Product Code: Agency Notes: LanceSoft First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TR; Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TR; Inc First Offer - \$82.50 100 / hour \$8,250.00	
Agency Notes: Supplier Notes: InstantServe First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Supplier Notes: Supplier Notes: TRYFACTA, INC. First Offer - \$76.34 100 / hour \$7,634.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Aptuity Solutions Inc First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: <t< td=""><td>Y</td></t<>	Y
InstantServe First Offer - \$75.00 100 / hour \$7,500.00 Product Code: Agency Notes: TRYFACTA, INC. First Offer - \$76.34 100 / hour \$7,634.00 Product Code: Agency Notes: Aptuity Solutions Inc First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Aptuity Solutions Inc First Offer - \$78.00 100 / hour \$7,800.00 Product Code: Agency Notes: Kellton Tech First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Agency Notes: Kellton Tech First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Agency Notes: Kellton Tech First Offer - \$80.00 100 / hour \$8,000.00 Product Code: Agency Notes: LanceSoft First Offer - \$81.18 100 / hour \$8,118.00 Product Code: Agency Notes: ManpowerGroup Sales Support First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code: Supplier Produc	Y
Product Code: Agency Notes:Supplier Product Code: Supplier Notes:TRYFACTA, INC.First Offer - \$76.34100 / hour\$7,634.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:Aptuity Solutions IncFirst Offer - \$78.00100 / hour\$7,800.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Aptuity Solutions IncFirst Offer - \$78.00100 / hour\$7,800.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Kellton TechFirst Offer - \$80.00100 / hour\$8,000.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Supplier Product Code:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00	
TRYFACTA, INC.First Offer - \$76.34100 / hour\$7,634.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Aptuity Solutions IncFirst Offer - \$78.00100 / hour\$7,800.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Kellton TechFirst Offer - \$80.00100 / hour\$8,000.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Supplier Product Code:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Product Code:Supplier Product Code:RG, IncFirst Of	
Agency Notes:Supplier Notes:Aptuity Solutions IncFirst Offer - \$78.00100 / hour\$7,800.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Kellton TechFirst Offer - \$80.00100 / hour\$8,000.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:LanceSoftFirst Offer - \$81.28100 / hour\$8,250.00Product Code: Agency Notes:First Offer - \$82.50100 / hour\$8,250.00ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:First Offer - \$82.50100 / hour\$8,250.00	Y
Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Kellton TechFirst Offer - \$80.00100 / hour\$8,000.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Product Code:Agency Notes:First Offer - \$82.50100 / hour\$8,250.00	
Agency Notes:Supplier Notes:Kellton TechFirst Offer - \$80.00100 / hour\$8,000.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes: LanceSoft First Offer - \$81.18 100 / hour \$8,118.00 Product Code: Supplier Product Code: Supplier Notes: Agency Notes: Supplier Notes: Supplier Notes: ManpowerGroup Sales Support First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code: Supplier Notes: Supplier Notes: Agency Notes: First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Notes: Supplier Notes: TRG, Inc Product Code: First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Notes: Supplier Notes: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	
Agency Notes:Supplier Notes:LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Product Code:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00	Y
LanceSoftFirst Offer - \$81.18100 / hour\$8,118.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:ManpowerGroup Sales SupportFirst Offer - \$82.50100 / hour\$8,250.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Notes:Supplier Notes:TRG, IncFirst Offer - \$82.50100 / hour\$8,250.00Product Code:Supplier Product Code:Supplier Notes:Supplier Product Code:Supplier Product Code:\$8,250.00	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: ManpowerGroup Sales Support First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Notes: Supplier Notes: TRG, Inc Supplier Product Code: \$8,250.00 Product Code: Supplier Product Code: \$8,250.00	Y
ManpowerGroup Sales Support First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Notes: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code: Supplier Product Code:	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code:	Y
TRG, Inc First Offer - \$82.50 100 / hour \$8,250.00 Product Code: Supplier Product Code:	
	Y
Arch First Offer - \$82.94 100 / hour \$8,294.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
Changing Technologies Inc. First Offer - \$83.16 100 / hour \$8,316.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
IT Data Solutions First Offer - \$85.00 100 / hour \$8,500.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
COMPUNNEL SOFTWARE GROUP, INC First Offer - \$87.14 100 / hour \$8,714.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
MNK Infotech First Offer - \$88.40 100 / hour \$8,840.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
FAAZ consulting First Offer - \$89.25 100 / hour \$8,925.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
Innovative Systems Group of Florida First Offer - \$92.14 100 / hour \$9,214.00	Y
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	

	Broward County Board of County Commissioners	Faye	TRN21222
SoftHQ, Inc	First Offer - \$93.00	100 / hour \$9,300.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Tech Army, LLC	First Offer - \$94.56	100 / hour \$9,456.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
etech-360,Inc	First Offer - \$95.00	100 / hour \$9,500.00	Y Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Cloud Consulting Services Inc	First Offer - \$108.00	100 / hour \$10,800.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
RADgov, Inc.	First Offer - \$109.51	100 / hour \$10,951.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
DatamanUSA, LLC	First Offer - \$112.00	100 / hour \$11,200.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
PriceSenz LLC	First Offer - \$117.00	100 / hour \$11,700.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
MSys Inc [Ad]	First Offer - \$120.00	100 / hour \$12,000.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
vTech Solution Inc.	First Offer - \$127.815	100 / hour \$12,781.50	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
TAD PGS	First Offer - \$135.00	100 / hour \$13,500.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Lumen Solutions Inc	First Offer - \$139.00	100 / hour \$13,900.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Elegant Enterprise Wide Solutions	First Offer - \$142.50	100 / hour \$14,250.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
Infojini, Inc.	First Offer - \$153.00	100 / hour \$15,300.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	
CDW-Government LLC	First Offer - \$218.00	100 / hour \$21,800.00	Y
Product Code:		Supplier Product Code:	
Agency Notes:		Supplier Notes:	

Supplier Totals

f Prelude sy	ystems pvt. ltd.	\$0.00 (2	4/24 items)
	Srikanth Kureti srikanth_k@preludesys.com Ph 988-479-6989	Address Siruseri, Sip Irvine, CA 92	
Agency Note	25:	Supplier Notes:	Head Attch: ④
Bid Allowance			\$12,729.80
f ADAMS EN	NTERPRISE USA, INC	\$233,346.0	00 (24/24 items)

		Broward County Board of County Commissioners			U	TRN212227
Bid Contact	JEN ADAMS info@adamsenterpriseusa.com Ph 800-259-4777		Address	2323 Ross Avenue Suite 1716 Dallas, TX 75201		
Agency Note	25:	2	Supplier	Notes:	⊦ ≬	lead Attch:
Bid Allowance						\$12,729.80
f Sensatech	LLC			\$1,658,792.00 (24/24 it	ems)	
Bid Contact	Kristen Annesley kristen@sensatechllc.com Ph 302-419-5655		Address	33 Hempstead Dr, Newa DE Newark, DE 19805	ırk,	
Agency Note	25:	:	Supplier	Notes:	1	Head Attch:
Bid Allowance						\$12,729.80
f Flysoft Ind	:			\$1,924,604.00 (24/	/24 ite	ms)
Bid Contact	Selena cruz selena@flysoftinc.com Ph 732-692-7261			9 Davison Ave, Suite 11, Jamesburg, New Jersey, 08831 Jamesburg, NJ 08831	USA,	
Agency Note	25:	:	Supplier	Notes:		Head Attch: ຟຼ
Bid Allowance						\$12,729.80
f Cynet Sys	tems			\$2,069,488.00 (24/	/24 ite	ms)
Bid Contact	Cynet Systems arpitp@cynetsystems.com Ph 703-728-6634		Address	21000 Atlantic Blvd. STE Sterling, VA 20166	700	
Bid Notes	We have attached Exhibit 1: Letter of l	ntent under Line Item ´	1 attachn	nent section.		
Agency Not	25:	,		Notes: attached Exhibit 1: Letter o e ltem 1 attachment sectio		Head t Attch: 0 \$12,729.80
Allowance						412,725100
	ent Corporation, dba Crowdstaffing			\$2,240,364.88 (24/24 ite		
Bid Contact	Casey Enstrom rfp@crowdstaffing.com Ph 408-915-8020		Address	6030 Hellyer Ave, Suite 1 San Jose, CA 95138	00	
Agency Not	25:	:	Supplier	Notes:	н ()	ead Attch:
Bid Allowance						\$12,729.80
f Action Gr	oup MGMT			\$2,369,692.00 (24/24 ite	ms)	
Bid Contact	Gina Castillo gc@agmservices.us Ph 954-816-3937		Address	7971 Riviera Blvd Suite 2 Miramar, FL 33023	205	
Agency Note	25:	5	Supplier	Notes:	н Ю	ead Attch:

Exhibit 1 Page 118 of 131 TRN2122277B1

Bid Allowance			\$12,729.80
f Beryllus (Consulting & Staffing	\$2,502,408.00 (24/24 items)	
Bid Contact	Tonjameka Southern tsouthern@beryllus.net Ph 317-514-0857	Address 4674 Empire Ave Jacksonville, FL 32207	
Agency Not	es:	Supplier Notes:	lead Attch:
Bid Allowance			\$12,729.80
f Moten Ta	te, INc.	\$2,504,942.92 (24/24 item	is)
Bid Contact	Kenneth Moten kmoten@motentate.com Ph 407-843-3277	Address 390 N. Orange Avenue, ste 1890 Orlando,, FL 32801	
Agency Not	es:	Supplier Notes:	Head Attch: ④
Bid Allowance			\$12,729.80
f 4BBCorp	[Ad]	\$2,860,198.08 (24/24 items)	
Bid Contact	Miguel Fernandez Jmendez@4bbcorp.com Ph 321-961-6601	Address 3600 red Rd.Suite 306 HOLLYWOOD, FL 33025	
Agency Not	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Oready		\$2,954,521.56 (24/24 items)	
Bid Contact	Mike Farro corporate@oready.com Ph 775-374-4440 Fax 702-472-9016	Address Campbell, CA 95009	
Agency Not	es:	Supplier Notes: H	ead Attch:
Bid Allowance			\$12,729.80
f Informati	on Consultants Inc	\$2,960,624.00 (24/24 items)	1
Bid Contact	Pierre Smith raphael.smith@icons-inc.com Ph 954-989-3704	Address 15800 Pines Blvd Suite 341 Pembroke Pines, FL 33027	
Agency Not	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Bleu Strea	am Corp	\$3,065,280.00 (24/24 items)	
Bid Contact	admin@bleustreamcorp.net Ph 954-822-4614	Address 6690 NW 80th Manor Parkland , FL 33067	
Supplier Coo	de VS0000015415		

Qualification	s DBE MBE SB		
Agency Note	rs:	Supplier Notes:	Head Attch:
Bid Allowance	•		\$12,729.80
f BuzzClan		\$3,198,616.36 (24/24 it	ems)
	Sachin Jain gov@buzzclan.com Ph 214-697-2238	Address 13601 Pres, 13601 Preston STE660E Dallas, TX 75240	Rd,
Agency Note	s:	Supplier Notes:	Head Attch: ᢔ
Bid Allowance			\$12,729.80
f DVTECK		\$3,238,624.00 (24/24 items)	
	Arturo Garcia agarcia@dvteck.com Ph 786-600-3011	Address 848 Brickell Ave PH5 MIAMI, FL 33131	
Agency Note	rs:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f сосннвн	A ENTERPRISES, INC	\$3,254,192.16 (24/24 item	s)
Bid Contact	Eddie Edwards eddie@thecei.com Ph 954-572-6802 Fax 954-742-5811 s CBE DBE MBE SB	Address 10238 NW 47TH STREET Sunrise, FL 33351	
Agency Note		Supplier Notes:	Head Attch:
Agency Note		Supplier Notes.)
Bid Allowance	•		- \$12,729.80
f TECKpert		\$3,307,811.00 (24/24 items)	
	Adrian Esquivel gov@teckpert.com Ph 786-749-7740	Address PO BOX 453531 Miami, FL 33245	
Agency Note	2S:	Supplier Notes:	lead Attch:
Bid Allowance			\$12,729.80
f Crown Ser	vices	\$3,342,736.00 (24/24 items	5)
	Lyon Goultiex I.goultiex@crownservices.com Ph 954-977-7066	Address 4828 N Federal Highway Ft. Lauderdale, FL 33308	
Agency Note	es:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Ascension	Global Staffing & Executive Search	\$3,411,407.024 (24/24 items)
Bid Contact	Jose Ramos jramos@ascensionsearch.com	Address 101 Sidonia Avenue # 205	

	Ph 305-608-0241	Coral Gables, FL 33134		
Agency Note	s:	Supplier Notes:	Head ()	Attch:
Bid Allowance			:	\$12,729.80
f VGreen En	terprises	\$3,725,208.68 (24/24 items)		
	Vernal Green vernal.greenjr@gmail.com Ph 954-865-1354	Address 7901 Orleans Street Miramar, FL 33023		
Agency Note	s:	Supplier Notes:	Head /	Attch:
Bid Allowance			:	\$12,729.80
f US Tech So	olutions, Inc.	\$3,742,088.00 (24/24 i	tems)	
Bid Contact	Manoj Agarwal rfp@ustechsolutions.com Ph 201-524-9600 Fax 201-524-9601	Address 10 Exchange Place, Suit #1710 Jersey City, NJ 07302	e	
Qualification				
Bid Notes	We acknowledge and agree with all bid specifications.			_
Agency Note	s:	Supplier Notes: We acknowledge and agree with al specifications.	l bid	Head Attch: 🕖
Bid Allowance	2		:	\$12,729.80
f Beacon Sy		\$3,750,952.84 (24/2	4 item	s)
Bid Contact	Ritu Singh ritu@beacongov.com Ph 954-426-1171	Address 3928 coral ridge drive coral springs, FL 33065		
Supplier Cod	e VS000013358			
Bid Notes	We have uploaded below listed document under Network Technical Proposal Item Response Form Exhibits Certifications & Insurance Supplier Resposne Forms	< Technician I line item.		
Agency Note	s:	Supplier Notes: We have uploaded below listed doo under Network Technician I line iter Technical Proposal Item Response Form Exhibits Certifications & Insurance Supplier Resposne Forms		Head t Attch:
Bid Allowance				\$12,729.80
f Hire Hero		\$3,849,218.56 (24/24 item		
	Eli Halabu eli@hireheronow.com Ph 305-697-1000	Address 1100 Brickell Bay Dr. #58L Miami, FL 33131		
Agency Note	is:	Supplier Notes:	Hea ()	ad Attch:

Bid Allowance			\$12	2,729.80
f IT Mantra		\$3,880,560.00 (24/24 items)		
Bid Contact	Deb Gustavson deb.gustavson@it-mantra.com Ph 248-778-5382	Address 3 Mulherin Lane Wellesley, MA 02481		
Agency Note	es:	Supplier Notes:	Head At	tch:
Bid Allowance			\$12	2,729.80
f Next Gen	eration Recruitment and Staffing Agency	\$3,947,662.96 (24/24 items	5)	
Bid Contact	Bryan Brown bryan@nextgenerationjob.com Ph 770-866-3753	Address 1175 Paper Chase Court Lawrenceville, GA 30043		
Agency Not	es:	Supplier Notes:	Head A	Attch:
Bid Allowance			\$12	2,729.80
f Global So	utions Group, Inc.	\$4,041,938.60 (24/2	4 items)	
Bid Contact	Lisa Salvador info@globalsolgroup.com Ph 313-397-8311	Address 25900 Greenfield Road, 220 Oak Park, MI 48237	Suite	
Qualificatior	IS DBE MBE SB WBE			
	If we propose any estimated hours for any project bid rec hourly rates and labor categories from above list. For project bid, if we require any computer, software, har charges then it will be included as part of project bid prici Any approved travel related charges including per diem r charged extra as per IRS and/or Federal Travel Regulation The above rate does not include any hardware, software Price is inclusive of all Taxes. The proposal will be firm for 120 days. Payment terms: 30 days from the invoice submission date	rdware, reproduction and communic ing accordingly. ates and mileage rates, if any will be ns. and equipment supply.	ation	
Agency Note		Supplier Notes:		Head
		If we propose any estimated hours project bid requested by customer will utilize hourly rates and labor ca from above list. For project bid, if we require any co software, hardware, reproduction a communication charges then it will included as part of project bid prici accordingly. Any approved travel related charge including per diem rates and milea if any will be charged extra as per II and/or Federal Travel Regulations. The above rate does not include ar hardware, software and equipmen Price is inclusive of all Taxes. The proposal will be firm for 120 da	then we tegories omputer, and be ng es ge rates, RS iy t supp l y.	Attch:

		,	nt terms: 30 days from the inv ssion date.	oice
Bid Allowance	e			\$12,729.80
f CambayC	5		\$4,147,441.44 (24/24 item	s)
	Mohsin Shaikh grfp@cambaycs.com Ph 430-240-9800	Address	1838, Snake River Road, Suite A, Katy, TX 77449	
Agency Note	25:	Supplier	Notes:	Head Attch: 🎚
Bid Allowance				\$12,729.80
f Darwin Re	cruitment		\$4,154,200.00 (24/24	items)
	Adam Drew adam.drew@darwinrecruitment.com Ph 404 - 698-1474	Address	33 Arch Street (We Work) Boston Massachusetts, MA 02110	
Bid Notes	Please see additional pricing options in "Pricing" section on	the attach	ed tender document.	
Agency Note	25:		e additional pricing options in section on the attached tender	Č.
Bid Allowance				\$12,729.80
f Resource>	(\$4	l,216,140.00 (24/24 items)	
	PRAVEEN KUMAR CHEPURI praveen@resourcexinc.com Ph 770-815-5784	Address	Cummings Cummings, GA 30041	
Agency Note	25:	Supplier	Notes: H	lead Attch:
Bid Allowance				\$12,729.80
f Krasan Co	nsulting Services, Inc.		\$4,252,724.00 (24/24 item	s)
	Sam Jones sam.jones@krasanconsulting.com Ph 630-235-8456	Address	3333, Warrenville Rd., Suite 200 Lisle, IL 60532	
Agency Note	2S:	Supplier	Notes:	Head Attch: () \$12,729.80
Allowance				+12,725100
f Alrek Busi	ness Solutions Inc.		\$4,252,724.00 (24/24 items)
Bid Contact	Praveen Goud clientsupport@absli.com Ph 847-413-8291	Addre	ss 890 E.Higgins Rd, Ste# 148 Schaumburg, IL 60173	3
	s DBE MBE SB			
Agency Note		Suppli	er Notes:	Head Attch:
Bid Allowance				\$12,729.80
f PeopleNT	ech LLC	\$4	l,306,392.00 (24/24 items)	

		Broward County Board of County Commissioners	TRN21222
Bid Contact	Chandra Sharma chandra.sharma@peoplentech.com Ph 703-982-7034 s MBE SB WBE	Address 1604 Spring Hill Rd Suite 302 Vienna, VA 22182	
Agency Note		Supplier Notes:	Head Attch:
Bid Allowanc	.	1	₩ #40,700,00
	-	¢4,240,409,24, (24)	\$12,729.80
	rvice Corporation April Szlaga	\$4,340,408.24 (24/2 Address 25925 TELEGRAPH RD STE .	
	governmentsales@abacusservice.com Ph 248-522-8005		200
Bid Notes	Abacus has uploaded the filled FTA Att	tachments and additional proposal for County's reference	
Agency Note	25:	Supplier Notes: Abacus has uploaded the filled FTA Attachments and additional proposal County's reference.	Ŭ,
Bid Allowance			\$12,729.80
f InstantSe	rve	\$4,377,346.00 (24/24 it	ems)
	Mark Watson govt@iserveworld.com Ph 215-109-0250	Address 175 Strafford Avenue, Suit one# 907, Wayne, PA 19087	te
Agency Note	25:	Supplier Notes:	Head Attch: ဨ
Bid Allowance			\$12,729.80
f Arch		\$4,378,990.40 (24/2	4 items)
Bid Contact	rene wukich rene.wukich@archstaffing.us Ph 208-682-6791	Address 10901 canterbury cove hayden lake, ID 83835	
Bid Notes	This is the estimate of the bill rate wit candidate at a lower rate.	h full costs. It is possible the rate may come in lower if we	find a
Agency Note	25:	Supplier Notes: This is the estimate of the bill rate with costs. It is possible the rate may come if we find a candidate at a lower rate.	in lower 🎚
Bid Allowance			\$12,729.80
	nfoTech Corporation	\$4,424,940.00 (24/24 item:	s)
	Justin Acord govt-bids@cogentinfo.com Ph 412-889-7700	Address 1035 Boyce Rd., Suite 108 Pittsburgh, PA 15241	
Agency Note	25:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Changing	Technologies Inc.	\$4,592,170.64 (24/24 iten	ns)
Bid Contact			

	Ph 202-688-3631		
Agency Note	25:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f TRG, Inc		\$4,626,908.00 (24/24 items)	
Bid Contact	Jude Benoit judebenoit@trgjobs.com Ph 503-830-9501	Address 3189 Santa Catalina Pl Greenacres, FL 33467	
Agency Note	25:	Supplier Notes: H	lead Attch:
Bid Allowance			\$12,729.80
f LanceSoft		\$4,727,558.48 (24/24	items)
Bid Contact	marketing@lancesoft.com Ph 770-361-8025	Address HERNDON, VA 20171	
Bid Notes	LanceSoft Inc. is pleased to submit its proposal response to E Commissioners (the "County") – Information Technolo		
	We have attached our response document in the Attachmen kidnly request you to consider our submission.	nts section of TRN2122277B101-01 and	ł
Agency Note	25:	Supplier Notes: LanceSoft Inc. is pleased to submit its proposal response to Broward County E of County Commissioners (the "County" $\tilde{A}c\hat{A}\in \hat{A}$ " Information Technology (IT) Temporary Personnel Services.	-
		We have attached our response docume the Attachments section of TRN2122277 -01-01 and kidnly request you to conside submission.	'B1-
Bid Allowance			\$12,729.80
f IT Data So	lutions	\$4,803,640.00 (24/24 items	5)
Bid Contact	Abel A Herrera abel@itdatasolutions.com Ph 954-885-2003	Address 18191 NW 68 Avenue, Suite 211 Miami, FL 33015	
Agency Note	25:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Aptuity So	lutions Inc	\$4,878,496.00 (24/24 items)	
Bid Contact	Jay Provenzano jayp@aptuity.com Ph 954-254-0993	Address 1451 W. Cypress Creek Road Suite 300 Ft. Lauderdale, FL 33309	
Agency Note	25:	Supplier Notes:	Head Attch:
Bid			\$12,729.80

Allowance			
f Manpower@	iroup Sales Support	\$4,894,111.00 (24/24 items)	
n	ales Support Main abids@manpowergroup.com h 501-412-9095	Address 100 Manpower Place Milwaukee, WI 53212	
Agency Notes:		Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Tech Army,	LLC	\$4,919,302.32 (24/24 iter	ns)
Bid Contact	Jay Narang sales@techarmy.com Ph 954-372-2698	Address 7777, Davie Road Extension Suite 201A-3 Hollywood, FL 33024	
•	CBE MBE SB SBE		
Agency Notes:		Supplier Notes:	Head Attch: 🕖
Bid Allowance			\$12,729.80
f Digital Intel	ligence Systems, LLC	\$4,921,526.00 (24/2	4 items)
Bid Contact	Bob Quinn bob.quinn@disys.com Ph 813-207-1203	Address 400 North Tampa Stree 2450 Tampa, FL 33602	t Suite
Qualifications	MBE		
Bid Notes	Digital Intelligence Systems, LLC will bill the regular-time positions such as this one.	rates for any overtime hours for all e	exempt
Agency Notes		Supplier Notes: Digital Intelligence Systems, LLC wil regular-time rates for any overtime for all exempt positions such as this	hours 🌒
Bid Allowance			\$12,729.80
f DatamanUS	A, LLC	\$4,938,280.00 (24/24 iten	ns)
Bid Contact	Gyan P Saxena CONTACT@DATAMANUSA.COM Ph 720-248-3100 Fax 720-248-3200 DBE MBE SB WBE	Address 6890 S Tucson Way, Ste 100 Centennial, CO 80112	
Agency Notes:		Supplier Notes:	Head
Agency Notes.		supplier notes.	Attch:
Bid Allowance			\$12,729.80
f TRYFACTA, I		\$4,963,327.08 (24/2	4 items)
Bid Contact	Adesh Tyagi rfp@tryfacta.ai Ph 408-893-5500	Address 4637 CHABOT DRIVE SUITE 100 PLEASANTON, CA 94588	:
Qualifications	DBE MBE SB WBE		
Bid Notes	Greetings from Tryfacta Inc.		
	Thank you for providing the opportunity to conduct busin	ness with the Broward County. Tryfao	ta

	County Commissioners				
	would like to submit its response to BID # TRN2122277B1, and conditions mentioned in the RFP. We believe that our out in this RFP. If the County determines that our respons respectfully requests to be promptly notified and be given deficiency. On behalf of Tryfacta, thank you for giving us t we look forward to a mutually rewarding partnership.	response e is defici the oppo	e meets the requirements as ent in any way, Tryfacta ortunity to correct any such	called	
Agency Note	s:	Suppli	er Notes:	Неа	ad
Agency note			ngs from Tryfacta Inc.	Atto	
		condu Tryfac to BID and co mentio respor out in that ou Tryfac promp oppor On be us the and w	you for providing the opportui ct business with the Broward C ca would like to submit its resp # TRN2122277B1, we acknowl mply with all terms and condit oned in the RFP. We believe that are meets the requirements as this RFP. If the County determi ar response is deficient in any v ca respectfully requests to be totly notified and be given the tunity to correct any such defic half of Tryfacta, thank you for g opportunity to respond to this e look forward to a mutually ding partnership.	County. onse ledge cions at our called nes way, iency. giving	
Bid Allowance				\$12,729.	.80
f Cloud Con	sulting Services Inc		\$4,967,099.00 (24/24 items)	
			\$4,507,055.00 (E4/E4/CCIII5		
	-				
	Gyan Saxena	Address	11 Falcon Hills Drive		
	-	Address	11 Falcon Hills Drive Highlands Ranch, CO 80126		
	Gyan Saxena	Address			
	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926	Address Supplier	Highlands Ranch, CO 80126	Head Attc	:h:
	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926		Highlands Ranch, CO 80126	Head Attc	
Agency Note Bid Allowance	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926		Highlands Ranch, CO 80126	Head Attc () \$12,729.	
Agency Note Bid Allowance f Innovative	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s:	Supplier	Highlands Ranch, CO 80126 Notes:	Head Attc () \$12,729.	
Agency Note Bid Allowance f Innovative Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s:	Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items	Head Attc () \$12,729.	
Agency Note Bid Allowance f Innovative Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: • Systems Group of Florida Brandon Evatt	Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE	Head Attc () \$12,729.	
Agency Note Bid Allowance f Innovative Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278	Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801	Head Attc () \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278	Supplier Address	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: e Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s:	Supplier Address	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: e Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s:	Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s:	Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items 1000 ne 4th st	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s:	Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s: s: sulting Shamim Alsharif shamim@tanimconsulting.com	Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items 1000 ne 4th st	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: Systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: ss: usulting Shamim Alsharif shamim@tanimconsulting.com	Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items 1000 ne 4th st	Head Attc \$12,729.	9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s: s: sulting Shamim Alsharif shamim@tanimconsulting.com Ph Fax Contact: info@tanimconsulting.com	Supplier Address Supplier Address	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items) 1000 ne 4th st Hallandale Beach, FL 33009	Head Attc \$12,729.	9.80 cch: 9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s: s: sulting Shamim Alsharif shamim@tanimconsulting.com Ph Fax Contact: info@tanimconsulting.com	Supplier Address Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items) 1000 ne 4th st Hallandale Beach, FL 33009	Head Attc \$12,729.	9.80 cch: 9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact Bid Contact Bid Notes Agency Note	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s: s: sulting Shamim Alsharif shamim@tanimconsulting.com Ph Fax Contact: info@tanimconsulting.com	Supplier Address Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items 1000 ne 4th st Hallandale Beach, FL 33009 Notes:	Head Attc \$12,729. Head Attc \$12,729.	9.80 cch: 9.80
Agency Note Bid Allowance f Innovative Bid Contact Agency Note Bid Allowance f Tanim Con Bid Contact	Gyan Saxena contact@cloudconsultingservicesinc.com Ph 303-668-4926 s: s: systems Group of Florida Brandon Evatt brandon@isgf.com Ph 407-554-4278 s: s: s: sulting Shamim Alsharif shamim@tanimconsulting.com Ph Fax Contact: info@tanimconsulting.com	Supplier Address Supplier Address Supplier	Highlands Ranch, CO 80126 Notes: \$5,014,015.44 (24/24 items 111 N Magnolia Ave STE 1000 Orlando, FL 32801 Notes: \$5,142,380.00 (24/24 items 1000 ne 4th st Hallandale Beach, FL 33009 Notes:	Head Attc \$12,729.	9.80 cch: 9.80

f COMPUNNEL SOFTWARE GROUP, INC \$5,301,574.12 (24/24 items) Bid Contact Ashish Yadav Address 103 Morgan Lane, Suite 102 sledbids@compunnel.com Plainsboro, NJ 08536 Ph 609-606-9010 **Supplier Notes: Head Attch:** Agency Notes: 譋 Bid \$12,729.80 Allowance f PriceSenz LLC \$5,491,908.00 (24/24 items) Bid Contact Mahendra Kumar Address 801 W Irving Blvd, mkumar@pricesenz.com Irving, TX 75060 Ph 469-320-0260 Agency Notes: **Supplier Notes: Head Attch:** đ Bid \$12,729.80 Allowance f RADgov, Inc. \$5,495,274.52 (24/24 items) Address 6750 N. Andrews Avenue **Bid Contact Ellen Loprete** eloprete@radgov.com Suite 200 Ph 954-938-2800 Fort Lauderdale, FL 33309 Fax 954-938-2004 Supplier Code VC000008083 Qualifications SB Agency Notes: **Supplier Notes: Head Attch:** Bid Allowance \$12,729.80 f SoftHQ, Inc \$5,585,677.04 (24/24 items) Bid Contact Kranti Ponnam Address 6494 Weathers Place kranti@softhqinc.com Suite 200 Ph 858-658-9200 San Diego, CA 92121 Fax 858-225-6834 Agency Notes: **Supplier Notes: Head Attch:** Bid \$12,729.80 Allowance **f** SRS CONSULTING INC \$5,587,440.00 (24/24 items) Bid Contact Venkatesh Kodangal Address 39465 Paseo Padre Pkwy aswath@srsconsultinginc.com Ste 1100 Ph 510-252-0625 **FREMONT, CA 94538** Qualifications MBE WBE Agency Notes: Supplier Notes: Head Attch: ılt Bid Allowance \$12,729.80 f Tri-Force Consulting Services, Inc. \$5,604,804.00 (24/24 items) Bid Contact **Manish Gorawala** Address 650 North Cannon Ave Lansdale, PA 19446 mgorawala@triforce-inc.com Ph 215-362-2611 Fax 267-200-0026 Qualifications MBE SB

Broward County Board of

County Commissioners

		County Commissioners	
Agency Note	25:	Supplier Notes:	Head Attch: 🕖
Bid Allowance	e		\$12,729.80
f Sullivan a	nd Cogliano	\$5,611,904.00 (2	4/24 items)
Bid Contact	Jim Cogliano jim.cogliano@sullivancogliano.com Ph 781-672-8188	Address 710 Morgan F Atlanta, GA 30	alls Road
Qualification	s MBE		
Agency Note	25:	Supplier Notes:	Head Attch:
Bid Allowance	e		\$12,729.80
f Kellton Te	ch	\$5,734,330.00 (24/	24 items)
	Steven Libson steven.libson@kelltontech.com Ph 760-636-2616	Address 60168 Katie Circ La Quinta, CA 92	
Agency Note	25:	Supplier Notes:	Head Attch:
Bid Allowance			\$12,729.80
f Infojini, In	с.	\$5,750,286.00 (2	4/24 items)
Bid Contact	Sandeep Harjani	Address 10015 Old Col	umbia Rd
	statebids@infojiniconsulting.com Ph 443-257-0086	Suite B215 Columbia, MI	21046
Supplier Cod	le VS000007707	Columbia, ML	21040
Qualification			
Agency Note		Supplier Notes:	Head Attch:
			Ø
Bid Allowance	e		\$12,729.80
f Blue Chip	Talent	\$5,836,357.12 (2	4/24 items)
	Suzanne Tosto	Address 43252 Woodwar	d Ave
	marketing@bctalent.com Ph 248-630-7188	Suite 240	MI 49202
Agency Note		Bloomfield Hills Supplier Notes:	Head Attch:
Agency Note		Supplier Notes.	
Bid Allowance			\$12,729.80
f etech-360,	Inc	\$6,029,500.00	(24/24 items)
Bid Contact	etech-360 inc	Address 1141, Folsom St,	San Francisco,
	amandag@etech-360.com Ph 714-900-3486	California San Francisco, C	A 94103
Agency Note	25:	Supplier Notes:	Head Attch: () \$12,729.80
Allowance			
f Lumen So		\$6,085,760.00 (2	
	Charanjiv Gadh cgadh@lumensolutions.com	Address 45645 Willow Po Sterling, VA 2016	

	Ph 703-675-2817			
Agency Note	es:	Supplier Notes:	- C	Attch:
		I	Ű.	
Bid Allowance			\$1	2,729.80
f Interscrip	ts,lnc.	\$6,295,968.00 (24/24	items)	
Bid Contact	Rakesh Pandey rakesh.kumar@interscripts.com Ph 571-250-5802	Address 41431 Nicholson Meadows Aldie, VA 20105	Pİ	
Bid Notes	Average experience for all the Resources will be 2-7 Years. Additional 5% discounts will be provided annually on timely	invoice clearances.		
Agency Note	25:	Supplier Notes:		Head
		Average experience for all the Resource be 2-7 Years. Additional 5% discounts will be provide annually on timely invoice clearances.		Attch:
Bid Allowance			\$1	2,729.80
f MNK Info	tech	\$6,519,309.36 (24/24 items)		
Bid Contact	Kevin Brown bids@mnkinfotech.com Ph 412-213-8665	Address 1300 W.Walnut hill In suite 125 Irving, TX 75038		
Qualification	s MBE SB WBE			
Agency Note	25:	Supplier Notes:	Head /	Attch:
Bid Allowanc	e		\$1	2,729.80
f FAAZ cons	-	\$6,573,052.00 (24/24		1
Bid Contact	Fatima Ali fatima@faazconsulting.com Ph 301-820-0198	Address 1765 Greensboro Station P Suite 900 Tysons, VA 22102 McLean, VA 22102		
Agency Note	25:	Supplier Notes:		Head Attch: 🎚
Bid Allowance			\$1	2,729.80
f TAD PGS		\$6,782,720.00 (24/24 items)		
Bid Contact	Matt Coniglio matt.coniglio@adeccona.com Ph 202-302-8849	Address 99 Canal Center Plaza Alexandria, VA 20136		
Agency Note	25:		Head A	ttch:
Bid Allowance			\$1	2,729.80
f MSys Inc [Ad]	\$7,195,982.00 (24/24 items)		
Bid Contact	Raj Mani Thiagarajan bw@msysinc.com Ph 919-454-5604	Address 140 lowa Lane #201 Cary, NC 27511		
Qualification				_
Agency Note	PS:	Supplier Notes:	Head A	ttch:

			Û
Bid Allowance			- \$12,729.80
f vTech Soluti	on Inc.	\$7,216,834.04 (24/24 ite	ms)
Bid Contact	Haresh VAtaliya rfp.vtech@vtechsolution.com Ph 202-241-0167	Address 1100 H Street, NW Suite 450 WASHINGTON, DC 2000	
-	DBE MBE SB WBE		
Agency Notes:		Supplier Notes:	Head Attch: ຟຼິ
Bid Allowance			\$12,729.80
f Elegant Ente	rprise Wide Solutions	\$7,346,876.00 (24/24 items)	
Bid Contact	Priyanka Arora ksmith@elegantsolutions.us Ph 703-609-0215	Address 25961 hartwoo dr chantilly, VA 20152	
Supplier Code	VS0000012548		
Qualifications	MBE SB		
Agency Notes:		Supplier Notes:	Head Attch: 🕖
Bid Allowance			\$12,729.80
f CDW-Govern	iment LLC	\$12,210,740.00 (24/24 items)	
-	na Sperando naspe@cdwg.com 1 312-547-2374	Address 120 S. Riverside Chicago, IL 60606	
Agency Notes:			Head Attch:
Bid Allowance			\$12,729.80
NewCom C3 P	lanners	\$3,788,826.00	0 (10/24 items)
Bid Contact	William Newkirk bizmgr@newcomc3.com	Address 6809 Webb Road Tampa, FL 33615-2871	
	Ph 813-240-7163		
	DBE MBE SB		
Agency Notes:	DBE MBE SB	Supplier Notes:	
Agency Notes: Connvertex T	DBE MBE SB echnologies Inc	\$171,632.0	
Agency Notes:	DBE MBE SB		kway
Agency Notes: Connvertex T Bid Contact	DBE MBE SB echnologies Inc Mahesh Chavan rfp@connvertex.com	\$171,632.0 Address 10855 S River Front Par Suite 275	kway
Agency Notes: Connvertex T Bid Contact	DBE MBE SB echnologies Inc Mahesh Chavan rfp@connvertex.com Ph 801-326-4490 MBE SB WBE	\$171,632.0 Address 10855 S River Front Par Suite 275	kway
Agency Notes: Connvertex To Bid Contact Qualifications	DBE MBE SB echnologies Inc Mahesh Chavan rfp@connvertex.com Ph 801-326-4490 MBE SB WBE We have uploaded FTA Funding Supplement	\$171,632.0 Address 10855 S River Front Par Suite 275 South Jordan, UT 84095	kway ons. pplement For
Agency Notes: Connvertex To Bid Contact Qualifications Bid Notes Agency Notes:	DBE MBE SB echnologies Inc Mahesh Chavan rfp@connvertex.com Ph 801-326-4490 MBE SB WBE We have uploaded FTA Funding Supplement	\$171,632.0 Address 10855 S River Front Par Suite 275 South Jordan, UT 84095 t For Position 1 which is common for all the position Supplier Notes: We have uploaded FTA Funding Su Position 1 which is common for all	kway ons. pplement For the positions.
Agency Notes: Connvertex To Bid Contact Qualifications Bid Notes Agency Notes: 22nd Century Bid Contact Ku	DBE MBE SB echnologies Inc Mahesh Chavan rfp@connvertex.com Ph 801-326-4490 MBE SB WBE We have uploaded FTA Funding Supplement Technologies, Inc.	\$171,632.0 Address 10855 S River Front Par Suite 275 South Jordan, UT 84095 t For Position 1 which is common for all the position Supplier Notes: We have uploaded FTA Funding Su Position 1 which is common for all	pplement For the positions. (23/24 items)

This Page is Intended to be Blank